RACKS & BINS

Drawers - Large Compartment
e All Drawers are 18” wide x 3” high x 12” deep

Product Number of Product Number of
Number Compartments Number Compartments
0770026 6 0770021 21

Horizontal
0770027 6

Vertical

0770030 12 0770001 24
0770029 16 0770032 32
0770022 20 0770031 Adjustable

4 Drawer Rack

Part Number Dimensions
0770002 20” wide x 15” high x 15-3/4” deep
0770020 Stand For 4 Drawer Rack

1-1




RACKS & BINS %

40 Compartment Bin

Product Number Description Dimensions
0770006 40 Compartment Bin 33-3/4” wide x 22-1/4” high
x 8-1/2” deep
0770014 Bin and Rack Stand 34” wide x 5-3/4” high
x 9” deep

Welding Rod Bin

Product Number Dimensions

0770051 Each compartment is:
18-3/8” deep x 4” high x 5-1/4” wide

Wire & Hose Rack

Product Number Description

0770015 Dimensions:
26-1/8” wide x 37-1/8” high x 6” deep

Threaded Rod Rack

Product Number Description

0770050 Eighteen, 2-1/16” diameter openings

18 Drawer Unit

Product Number Description

0770003 Dimensions:
33-3/4” wide x 12-7/8” high x 11-3/4” deep




ASSORTMENTS

Machine Screw Assortments

Part Number Description Comp. Pieces Contents
1930178 Flat Head Phillips 24 1500 Screws: 4-40 x 1/4 to 12-24 x 1
Nuts: 4-40 to 12-24
1930320 Flat Head Phillips 24 585 Screws: 6-32 x 1/2t0 1/4 x 2
Stainless Nuts: 6-32 to 1/4-20
1930318 Oval Head Phillips 24 585 Screws: 6-32 x 1/2t0 1/4 x 2 .
Stainless Nuts: 6-32 to 1/4-20 -; SN
1930105 Flat Head Slotted 24 1500 Screws: 4-40 x 1/4 to 12-24 x 1
Nuts: 4-40 to 12-24
1930132 Pan Head Phillips 24 600 Screws: 3 x 6 to 10 x 30mm
Metric Nuts: 3 to 10mm
1930103 Pan Head Phillips 24 Screws: 4-40 x 1/4 to 12-24 x 1
Nuts: 4-40 to 12-24
1930104 Round Head Slotted 24 1500 Screws: 4-40 x 1/4 to 12-24 x 1
Nuts: 4-40 to 12-24
1930153 Round Head Slotted 24 600 Screws: 4-40 x 1/4 to 12-24 x 1
Brass Nuts: 4-40 to 12-24
1930317 Round Head Slotted 24 585 Screws: 6-32 x 1/2 to 1/4 x 1-1/4 m
Stainless Nuts: 6-32 to 1/4-20
1930131 Round Head Slotted 32 625 Screws: 6-32 x 1/4 to 1/4 x 1-1/2
18-8 Stainless Nuts: 6-32 to 1/4-20
1930319 Round Head Phillips 24 585 Screws: 6-32 x 1/4 to 1/4 x 1-1/4
Stainless Nuts: 6-32 to 1/4-20
1930152 Fillister Head Slotted 24 600 Screws: 6-32 x 3/8 to 1/4 x 1-1/2

Nuts: 6-32 to 1/4-20




ASSORTMENTS

Sheet Metal Screw Assortments

Part Number Description Comp. Pieces Contents

1930102 Pan Head Slotted 24 1200 6x1/4to014 x1-1/2
1930106 Pan Head Phillips 24 1200 6x1/2to14x2
1930155 Flat Head Slotted 24 500 6x1/2to14x2
0930028 Flat Head Slotted 24 800 6x1/2to 14 x 1-1/2
1930324 Oval Head Slotted 16 400 Screws: 6 x 1/2to 14 x 1-1/2

18-8 Stainless Cup Washers: 6, 8, 10, 14 @:ﬁm
1930120 Oval Head Slotted 16 475 Screws: 6 x 1/2to 14 x 1-1/2

Stainless Steel mm
1930108 Oval Head Phillips 24 1050 Screws: 6 x 1/2 to 14 x 3/4
1930323 Oval Head Phillips 16 400 Screws: 6 x 1/2to 14 x 1-1/2 @

18-8 Stainless Cup Washers: 6, 8, 10, 14
1930321 Pan Head Slotted 16 400 Screws: 6 x 1/2to 14 x 1-1/2

18-8 Stainless Cup Washers: 6, 8, 10, 14
1930121 Pan Head Slotted 16 450 Screws: 6 x 1/2to 14 x 1-1/2

Stainless

1930322 Pan Head Phillips 16 400 Screws: 6 x 1/2to 14 x 1-1/2

18-8 Stainless Cup Washers: 6, 8, 10, 14 @)m
1930151 Hex Head Slotted 12 1001 6 x 3/8 to 10 x 3/4

Self-Piercing Magnetic Chuck am




ASSORTMENTS

Sheet Metal Screw Assortments (cont’d)

Part Number Description Comp Pieces Contents
1930413 Hex Washer Head Slotted 24 1200 6x1/2to14 x2
Self Drilling Screw Assortments
Part Number Description Comp Pieces Contents
1930147 Pan Head Phillips 20 850 6x1/2to14x2
1930148 Flat Head Phillips 24 1000 6x1/2to14 x1-1/2
1930149 Hex Head 24 1000 6x1/2t014x2
1930150 Pan Head Phillips and 24 953 Pan Head: 8 x 1/2to 10 x 1
Hex Head Hex Head: 8 x 1/2 to 14 x 2 @)W
1930355 Hex Head 24 1000 6x1/2to14x2
Stainless

Self Threading Screw Assortments

Part Number Description Comp Pieces Contents
1930109 Self Threading 12 227 1/4 x 1/2 to 3/8 x 1-1/2
Hex Screws 2 Hex Drivers




ASSORTMENTS

Wood Screw Assortments

Part Number Description Comp. Pieces Contents
0930014 Flat Head Phillips 24 825 6x1/2to6x1-1/2
8x1/2t08x2

10 x 3/4 t0 10 x 2 m
12x3/4t012x 2
14x1t0o14 x2

0930007 Flat Head Slotted 24 800 6x 1/2t0 6 x 1-1/2

8x1/2t08x2
10x3/4t010x 2
12x3/4t012x2
14x1t014x2

s

ALY
b N
o

Masonite Screws

Part Number Description Comp. Pieces Contents
1930216 Flat Head Phillips 12 250 3/16 x 1-1/4 to 3/16 x 2-3/4
1/4 x 1-1/4 to 1/4 x 4 c
1930217 Hex Head Phillips 12 250 3/16 x 1-1/4 to 3/16 x 2-3/4
1/4 x1-1/4to 1/4 x 4 m
Tamperproof Screws
Part Number Description Comp. Pieces Contents
1930192 Round Head 24 825 6x1/2t0 6 x 1
Wood-Metal 8x1/2to 8 x1-1/2
b T
#6, #8, #10 Sockets
1930416 Button Head MS 24 350 6-32x 1/4to 1/4 x 2
Pin in Hex @\,\mmmmmm
1930417 Button Head MS 24 440 Button Head & Flat Head MS: B
Flat Head MS 6-32 x 1/2 to 1/4-20 x 1 © =
Button Head SMS Button Head SMS: = &
Pin in Hex 8x1/2to 10 x 1 =
1930418 Flat Head MS 24 350 6-32x3/8to1/4 x 2 __
Pin in Hex |"° ﬁ \xmﬂ\h\m}




ASSORTMENTS

Bolt Assortments

Part Number Description Comp. Pieces Contents
0930076 Hex Bolts, Nuts & Washers
USS Grade 8
0930077 | Hex Bolts, Nuts & Washers Bolts: 1/4 x 3/4 to 1/2 x 2-1/2
SAE Grade 8 24 1230 Nuts, Flat Washers, Lock
0930078 Hex Bolts, Nuts & Washers Washers: 1/4, 5/16, 3/8, 1/2
USS Grade 5
0930079 Hex Bolts, Nuts & Washers
SAE Grade 5
1930134 Hex Bolts, Nuts & Washers 16 560 Bolts: 6 x 12 to 6 x 70mm
Metric 8.8 Hex Nuts, Nylocks, Flat Washers,
Lock Washers: 6mm
1930135 Hex Bolts, Nuts & Washers 16 405 Bolts: 8 x 12 to 8 x 70mm
Metric 8.8 Hex Nuts, Nylocks, Flat Washers,
Lock Washers: 8mm
1930136 Hex Bolts, Nuts & Washers 16 250 Bolts: 10 x 16 to 10 x 70mm
Metric 8.8 Hex Nuts, Nylocks, Flat Washers,
Lock Washers: 10mm
1930137 Hex Bolts, Nuts & Washers 12 180 Bolts: 12 x 20 to 12 x 90mm
Metric 8.8 Hex Nuts, Flat Washers, Lock
Washers: 12mm
0930155 Hex Bolts, Nuts & Washers 24 415 6 x12to 12 x 60mm
Metric 8.8 Hex Nuts, Flat Washers: 6-12mm
0930268 Hex Bolts, Nuts & Washers 24 325 8x20to12x60
Metric 8.8 Fine Hex Nuts, Flat Washers: 8-12mm
0930269 Hex Bolts & Nuts 24 260 8 x20to 14 x 60
Metric 8.8 Fine Hex Nuts: 8-14mm
0930154 Hex Bolts & Nuts 24 500 Bolts: 6 x 12 to 12 x 60mm
Metric 10.9 Nuts: 6, 8, 10, 12mm




ASSORTMENTS

Bolt Assortments

Part Number Description Comp. Pieces Contents
1930119 Hex Bolts, Nuts & Washers 24 555 Bolts: 1/4 x 3/4 to 1/2 x 2
18-8 Stainless Nuts, Flat Washers, Lock
Washers: 1/4, 5/16, 3/8, 1/2
1930316 Hex Bolts, Nuts & Washers 24 510 Bolts: 1/4 x 3/4 to 1/2 x 2-1/2
316 Stainless Nuts, Flat Washers, Lock
Washers: 1/4, 5/16, 3/8, 1/2
1930024 Round Head Stove Bolts 24 550 Bolts: 10-24 x 1/2 x 5/16-18 x 2
Nuts: 10-24, 1/4-20, 5/16-18 @W\N\@ﬂ
1930025 Flat Head Stove Bolts 24 550 Bolts: 10-24 x 1/2 x 5/16-18 x 2
Nuts: 10-24, 1/4-20, 5/16-18 Bmm@




% ASSORTMENTS

Socket Head Bolts

Part Number Description Comp. Pieces Contents

1930125 Socket Head - Alloy 24 600 6-32 x 1/2106-32 x 1
8-32 x1/2108-32 x 1
10-24 x 1/2t0 10-24 x 2
1/4-20 x 1/2 to 1/4-20 x 2
5/16-18 x 3/4 to 5/16-18 x 2
3/8-16 x 1 to 3/8-16 x 2-1/2

1930133 Socket Head 24 400 4 x10to 4 x 20mm
Metric 12.9 5x10to 5 x20mm
6 x 10 to 6 x 20mm
8 x 12 to 8 x 25mm
10 x 16 to 10 x 30mm
12 x 25to 12 x 50mm

1930034 Flat Socket Head - Alloy 24 525 10-24 x 1/2 to 10-24 x 3/4 p
1/4-20 x 1/2 to 1/4-20 x 2 [ N
5/16-18 X 3/4 to 5/16-18 X 2 \“ PiviiS

3/8-16 x 3/4 to 3/8-16 x 2-1/2
1/2x3/4x1/2x2

Socket Head Set Screws

Part Number Description Comp Pieces Contents

0930001 Socket Head Set Screws 12 300 10-24 x 1/4
1/4-20 x 5/16 to 1/4-20 x 3/8
5/16-18 x 5/16 to 5/16-18 x 1/2
3/8-16 x 1/2 to 3/8-16 x %
7/16-14 x 1/2 to 7/16-14 x 3/4

1/2-13 x1/2
1930213 Socket Head Set Screws 24 600 6-32 x 3/16 to 6-32 x 1/2
Alloy 8-32 x 1/4 to 8-32 x 3/4

10-24 x 1/4 to 10-24 x 3/4

10-32 x 1/4 to 10-32 x 3/4
1/4-20 x 1/4 to 1/4-20 x 3/4
5/16-18 x 3/8 to 5/16-18 x34




ASSORTMENTS

Nuts
Part Number Description Comp Pieces Contents

0930010 Hex Nuts

USS Grade 8
0930011 Hex Nuts o

SAE Grade 8 12 455 1/4, 5/16, 3/8, 7/16, 1/2, 9/16, @
0930021 Hex Nuts 5/8, 3/4, 7/8 and 1 S

USS Grade 5
0930022 Hex Nuts

SAE Grade 5
0930034 Nuts, Flat Washers &

Lock Washers 1000 -

Grade 5 24 1/4, 5/16, 3/8, 7/16, 1/2 @ @ @

0930035 Nuts, Flat Washers &

Lock Washers 825

Grade 8
0930062 Machine Screw Nuts 24 Nylock, Keps, Hex & Wing Nuts: R o=
6-32, 8-32, 10-32, 10-24, 1/4-20 EE_% [I:'D w
1930145 525
Nuts and Washers 24 Hex Nuts, Flat Washers 7oy
0930157 Metric Grade 8.8 975 and Lock Washers: @ @
4,56,7,8,10 and 12mm

1930146 Nuts and Washers 24 635 Hex Nuts, Lock Nuts,

Metric Grade 10.9

Flat Washers and Lock Washers:

6, 8,10, 12, 14, 16mm

OGee

110




ASSORTMENTS

Nuts
Part Number Description Comp Pieces Contents
1930160 Castle Nuts 12 130 1/4, 5/16, 3/8, 7/16, 1/2, 9/16,
SAE 5/8, 3/4,7/8 and 1” @
0930122 Nylon Insert Lock Nuts 24 350 1/4, 5/16, 3/8, 7/16, 1/2, 5/8, 3/4”
uss AE TGO
and S @
[ ]
1930158 Stover Lock Nuts 24 360 USS and SAE: 1/4, 5/16, 3/8,
7/16, 1/2, 9/16, 5/8, 3/4
Washers
Part Number Description Comp. Pieces Contents
0930002 Machine Screw Washers 16 1600 Internal, External, Lock and Flat
Washers: #6, #8, #10 and 1/4 e
SI<-Tsle
0930030 Flat Washers
USS Grade 5
0930031 Flat Washers
SAE Grade 5 12 430 1/4, 5/16, 3/8, 7/16, 1/2, 9/16,
0930008 Flat Washers 5/8, 3/4, 7/8 and 1
USS Grade 8
0930009 Flat Washers 440
SAE Grade 8
0930033 Split Lock Washers 920
Grade 5 12 114, 5/16, 3/8, 7/16, 1/2, 9/16, @
0930012 Split Lock Washers 1000 5/8, 3/4,7/8 and 1"
Alloy

1-11




ASSORTMENTS

Anchor Assortments
Part Number Description Comp Pieces Contents
0930160 Hollow Wall Anchors 24 Short: 1/8, 3/16 and 1/4
Metal Long: 1/8, 3/16 and 1/4 d@]ﬂ
1930123 Hollow Wall Anchors 16 255 Assorted styles including
self-drilling %
1930174 Mungo Nylon Anchors 16 295 Universal Plug, Nylon Plug,
Hammer Screw, EZ Toggle
and Jet Plug
1930419 Drywall Anchors 16 345 Assorted metal and nylon

112



% ASSORTMENTS

Miscellaneous Fastener Assortments

Part Number Description Comp Pieces Contents
0930003 Clevis Pins 16 110 Universal: 1/4 x2to 1/2x 2
Standard: 1/4 x 1 to 7/16 x 1-1/2
0930004 Expansion Plugs 12 145 Shallow Cup: 5/8 to 1-13/16
Standard Cup: 1-7/32 to 1-31/32 o
-
0930005 Woodruff Keys 24 355 3/32 x 1/2 to 5/16 x 1-1/2
0930032 Cotter Pins 16 1425 3/64 x 3/4 to 3/16 x 2
1930215 Cotter Pins 24 3125 1/16 x 3/4 to 1/4 x 2-1/2
C———=
1930345 Cotter Pins 24 1050 1/16 x 3/4 to 1/4 x 2-1/2
Stainless C—=
0930074 Roll Pins 16 775 116 x 1/2 to 1/4 x 1-1/4
1930211 Roll Pins 24 775 1/16 x 1/2 to 1/2 x 2-1/2
1930164 Taper Pins - Steel 24 2/0x1-1/2to6x 3

113




ASSORTMENTS

Miscellaneous Fastener Assortments

Part Number Description Comp Pieces Contents
0930081 Blind Rivets 7 751 Rivets: 1/8 x 1/8 to 3/16 x 1/2
Rivet Gun
.ﬁ—?——
0930086 Multi-Grip Rivets 7 751 1/8 to 3/16
('—_"h—'—'-‘
1930167 Rivets - Automotive 20 510 Most popular nylon, window regu-
lator and miscellaneous rivets
('—_"h—'—'-‘

0930114 Nutserts 9 206 Thinsheet Nutserts: 6-32, 8-32,
10-24, 10-32, 1/4-20

Flat Nutserts: 10-24, 10-32, 1/4-20 l l 1 1

Nutsert Gun w/ Mandrels

0930118 Grease Fittings 12 90 Straight: 6, 8 and 10mm
Metric 45 Degree: 6, 8 and 10mm
90 Degree: 6, 8 and 10mm
0930025 Grease Fittings 12 102 1/8 and 1/4 straight, 30°, 45°, 67°,
SAE 90° and extra long g
1930139 Grease Fittings 24 116 Straight, 45°,90°: 6, 8 and 10mm
SAE & Metric Straight, 30°, 45°, 67°, 90° :
1/8, 3/16, 1/4, 5/16
1930107 Clevis Hairpins 12 220 1/16 x 15/16 to 5/16 x 3-5/16
1930214 Retaining Rings 24 840 Internal: 5/16 to 1-1/4
Internal and External External: 1/4 to 1-1/4 O
0930087 Retaining Rings 12 600 3/32 to 3/4

114



ASSORTMENTS

Miscellaneous Fastener Assortments

Part Number Description Comp Pieces Contents
0930094 O-Rings - Buna 24 600 1/8 x 1/4 to 1-5/16 x 1-9/16
1930196 Roller Chain Connecting and 12 Spring Clip Link, Cottered Link,
Offset Links Offset Link, and Roller Link
#40, #50, #60 and #80 a =
1930404 Drain Plugs & Gaskets 24 145 Single oversize, double oversize,
12mm, 14mm, 16mm, 18mm, 7
20mm, 1/2-20 '(((((«(@
1930270 Extension Springs Adjust 65 13 of the most popular sizes
1930144 Nylon Nuts 16 775 Most popular Nylon Nuts for

Domestic and Japanese cars

1930165 Body Bolts and Nuts 20 625 Most popular Body Bolts and Nuts

1930166 Xmas Tree Clips 21 690 Most popular Xmas Tree Clips

115




ASSORTMENTS

Electrical Assortments - Terminals and Caps

Part Number Description Comp Pieces Contents
0930059 Uninsulated Hi-Temp 16 800 Rings, Forks,
Terminals Quick Disconnects and Butts %
0930084 Vinyl Terminals 24 675 Rings, Quick Disconnects, Butts _
and Plugs £ -__-
0930150 Nylon Terminals 16 120 Rings and Butts o
8, 6 and 4 Gauge i-
! 4_1 —
1930101 Nylon Terminals 24 580 Rings, Bullets, Butts, Forks,
Quick Disconnects and (G ; :
Scotch Lock - __]/-
1930140 Nylon Terminals 16 675 Rings, Forks, Hook, Butt and
22-16 Gauge Fully Insulated Quick Disconnects N
:—'1 '...1'
1930141 Nylon Terminals 24 Rings, Forks, Hook, Butt, Bullets,
16-14 Gauge 3-Way, Scotch Lock and _
Quick Disconnects
1930429 Nylon Terminals 24 440 Rings, Forks, Hook, Butt, 3-Way,
12-10 Gauge and Quick Disconnects _ I
o
1930340 ElektraLink Terminals 24 240 Rings, Forks, Quick Disconnects
Heat Shrink Solder and Butts
1930341 Krimp and Seal Terminals 24 240 Rings, Forks, Quick Disconnects
Heat Shrink Crimp/Solder and Butts
1930172 Weatherpack Connectors 21 145 1,2, 3, 4,5 & 6 cavity, male and
female. Plugs, seals, connectors
and tool.
1930143 Wire Nuts 12 221 3 Styles plus
AC Sensor

1-16




% ASSORTMENTS

Electrical Assortments - Battery

Part Number Description Comp Pieces Contents
1930118 Battery Lugs and 16 140 6 gauge to 3/0 gauge
Connectors Lugs and Butts
1930330 Battery Solder Slugs 12 141 4 gauge to 4/0 gauge
And Flux -
1930400 Battery Terminals 14 70 4, 1 and 2/0 gauge
Terminals, Lugs, Solder Slugs and i m
Shrink Tubing By
i
1930401 Battery Terminals 12 66 2/0 gauge
Terminals, Lugs, Solder Slugs and i m
Shrink Tubing By
i

Electrical Assortments - Misc

Part Number Description Comp. Pieces Contents

0930095 Glass Fuses 24 525 SFE:4thru20 AGA:1,5

AGC: 1 thru 30

SFE:30 GBC:8 AGX:20

0930120 Plug-In Fuses 24 140 ATC: 3-30 amp

Mini: 3-30 amp MT

1/4” Male Tab ;
1930212 Fuses 24 332 Glass SFE, AGA and AGC I

ATC and Fuseholders m ;

1930402 Maxi Fuses 12 20, 30, 40, 50, 60,

70 & 80 amp L. ﬁ.:;_.i
1930500 Grommets 16 Various Sizes ‘

117



ASSORTMENTS

Electrical Assortments - Misc

Part Number Description Comp Pieces Contents
1930197 Circuit Breakers 16 30 Snap-in, Tong, Tab, Post
and Post Bracket !- [
1930130 Miniature Bulbs 12 60 53, 57, 67, 194, 1034, 1073,
1141, 1156, 1157, 1895 __H_'
(i
0930161 Heat Shrink Tubing 6 24 3/16 to 3/4
Sealform Micro Jet Torch -
1930204 Heat Shrink Tubing 6 11 5/16, 3/4, 1 and 1-1/2 _
Heavy Wall w/ Sealant h\\
0930163 Solder and Torch 6 7 EZ Solder - Silver
EZ Solder - Copper —_—
EZ Solder - Aluminum T .
Silver Solder and Micro Torch
1930200 Wire Ties - Clear
6 150 4,6,8,12and 15
i s r—)
1930201 Wire Ties - Black
1930343 Loom Clips and Clamps 16 118 3 Styles

1-18




ASSORTMENTS

Brass and Hydraulic Fitting Assortments

=

Part Number Description Comp Pieces Contents
0930013 Inverted Flare 12 165 Unions, Male Elbows, Male
Brass Fittings Connectors and Inverted Nuts H
| am
0930238 Barb Tite Fittings 18 72 SAE Female Swivel, Inverted
Low Pressure Drawer Female, Inverted Male Swivel, e L
Cabinet Hose Mender, Male Pipe, WMI
SAE Male Rigid o
1930127 Pushlok Barb Fittings 24 38 Male Pipe, Hose Mender, SAE
Low Pressure Swivel Nut, Inverted Rigid Female, L
Inverted Male Swivel WMI ﬂljl
=)
1930129 Polytite Fittings 24 48 Nut Assembly, Union, Male Con-
nector, Male Elbow ( T .
Y
.
1930173 Hydraulic Crimp Fittings 11 30 Male Pipe Rigid,
High Pressure SAE 37 Female Swivel,
Collets
1/4, 3/8 and 1/2
1930175 Collet Air Brake Fittings 16 110 Ferrule, Nut, Union, Male Elbow,
Male Connector
1930182 Brass Compression Tube 24 237 Sleeve, Nut, Elbow, Union, Male
Fittings Connector %
1930420 JIC 37° Plugs & Caps 12 65 Caps & Plugs: 1/4 - 17

119




ASSORTMENTS

Brass and Hydraulic Fitting Assortments

Bushing, Pipe Tee and
Street Elbows

Part Number Description Comp Pieces Contents
1930185 SAE 45° Flare 24 88 Flare Nut, Union, Male Connector,
Brass Fittings Male Elbow F
1930180 SAE 45° Flare 24 102 Flare Nut, Union, Connector,
Brass Fittings Elbow ‘Wiw
1930187 Brass Pipe Adapters 24 114 Bushing, Adapter, Reducing
Coupler, Cap, Hex Plug F
1930188 Brass Pipe Nipples 12 60 Hex: 1/8, 1/4, 3/8, 1/2 -
Close: 1/8, 1/4, 3/8, 1/2 [\
Reducing: 1/4-1/8, 3/8-1/4,
3/8-1/8, 1/2-3/8
1930189 Brass Pipe Nipples -Long 16 72 1/8 x1-1/2t0 1/2x 3
1930190 Brass Pipe Fittings 20 53 Elbow, Street Elbow, 45 Elbow,
Cross, Tee P.
X
0930015 Brass Pipe Fittings 24 92 Hex Plug, Close Nipple, Union,

1-20




ASSORTMENTS

Fitting Assortments - Air Brake

Instant Air Brake Fittings

Connector, Union Elbow,

Part Number Description Comp Pieces Contents
0930083 Air Brake Fittings 24 119 Sleeve, Nut, Union, Connector
For Copper Tubing and Elbow m@
1930194 NTA Air Brake Fittings 24 191 Insert, Sleeve, Nut, Union,
For Nylon Tubing Male Connector, Male Elbow mﬁm
1930411 NTA Air Brake Fittings 24 124 Sleeve, Nut, Union, Male
For Nylon Tubing Connector, 90 Male Elbow, Insert m
1930409 Air Brake Hose Fittings 16 34 Connector Assembly, Sleeve,
Coupling Nut, Connector ——
w/Adapter, Adapter, Hose Mender GEEE- EL’:
1930410 Air Brake Hose Fittings 16 42 Sleeve, Coupling Nut, Coupling
Body, Female Connector . ——
Adapter, Hose Mender, ' :‘;}Tﬁ)}m}m
Nut/Spring Guard i
1930415 DOT LF3000 24 69 Union, Male Connector, Elbow,
Air Brake Fittings Male 90 Elbow m
1930412 DOT LF3000 16 62 Male Connector, Male Elbow,
Air Brake For Nylon Tubing Union m
1930206 DOT LF3000 20 68 Union, Union Tee, Male
Instant Air Brake Fittings Connector, Union Elbow,
Release Button, Male Elbow '
3/8 and 1/2
1930208 DOT LF3000 24 71 Union, Union Tee, Male

Release Button, Male Elbow
1/4, 3/8 and 1/2

1-21




ASSORTMENTS

Miscellaneous Assortments

Part Number Description Comp Pieces Contents

1930202 Machinist Files & Handles 6 10 Flat Bastard: 6 and 10”
Half Round: 12”
Round Bastard: 10”
Triangular Bastard: 8”

1930203 Saw Files 6 10 Mill Bastard: 8 and 10”
Slim Taper: 10”
Round Chain Saw: 8”
Extra Slim Taper: 8”

1930218 Adhesives and Sealants 8 8 Threadlocker: Red, Blue, Green
Metal Adhesive, Plastic Adhesive,
Rubber Adhesive, Instant Gel, f,'_‘ -
Pipe Sealant e
1930219 Hex Insert Bit & Power 24 Phillips: #1, #2, #3
Driver 1/4” Phillips Powerbit: #1, #2, #3
Slotted: 4 sizes [@
1930403 Combined Drill-n-Tap 6 6 8-32, 10-32, 10-24, 1/4-20,

5/16-18, 3/8-16 e

0930158 Welding and Brazing Rods 6 6

1-22



ASSORTMENTS

Fastener Starter Assortments

Part Number Description Comp Pieces Contents
0930110 Hex Bolts, Nuts & Washers Bolts: 1/4 x 1/2t0 1/4 x 2
USS Grade 8 5/16 x 3/4 to 5/16 x 2-1/2
3/8 x 3/4 to 3/8 x 2-1/2
0930111 Hex Bolts, Nuts & Washers 716 x1t07/16x 3
SAE Grade 8 1/2x1t0o1/2x3
80 2,820 5/8 x 1-1/2to 5/8 x 4
0930108 Hex Bolts, Nuts & Washers (2x 40) Nut 3/§|Xt2\/\;° 344 X 5L ‘ P
uts, Flat Washers, Loc f )
USS Grade 5 Washers: 1/4 to 3/4” @ @
0930109 Hex Bolts, Nuts & Washers
SAE Grade 5
0930101 Hex Bolts, Nuts & Washers Bolts: 1/4 x 1/2to 1/4 x 2
USS Grade 8 5/16 x 3/4 to 5/16 x 2-1/2
0930102 | Hex Bolts, Nuts & Washers 3/8 x 3/4 to 3/8 x 2-1/2
SAE Grade 8 40 2,590 7116 x1t07/16 x 3
1/2x1t01/2x3 e
0930106 Fex BOS:SNé::§eVgaShers Nuts, Flat Washers, Lock @ @
Washers: 1/4 to 1/2
0930107 Hex Bolts, Nuts & Washers
SAE Grade 5
0930112 Hex Bolts, Nuts & Washers 80 3,860 Bolts: 1/4 x 1/2 to 1/4 x 2-1/2
USS Grade 5 (2 x40) 5/16 x 1/2 to 5/16 x 2-1/2
3/8x3/4t03/8x3
12x1to1/2x4
5/8 x 1-1/2t0 5/8 x 4
3/4x2to3/4x4
Nuts, Flat Washers, Lock
Washers: 1/4 to 3/4
0930156 Hex Bolts, Nuts & Washers 80 4,025 Bolts: 1/4 x 1/2 to 1/4 x 2-1/2
USS/SAE Grade 5 (2 x40) 5/16 x 1/2 to 5/16 x 2-1/2

3/8 x 1/2 to 3/8 x 2-1/2
7/16 x 3/4 to 7/16 x 2-1/2

1/2x1to 1/2 x 2-1/2 e
Nuts, Flat Washers, Lock @ @

Washers: 1/4 to 1/2

1-23



ASSORTMENTS

Fastener Starter Assortments

Part Number Description Comp Pieces Contents
0930070 Hex Bolts, Nuts & Washers Bolts: 6 x 12 to 6 x 45mm
Metric 8.8 8 x 16 to 8 x 50mm
10 x 20 to 10 x 60mm
80 1,195 12 x 20 to 12 x 60mm
0930071 Hex Bolts, Nuts & Washers | (2 X 40) 14 x 30 to 14 x 60mm
Metric 10.9 16 x 350 16 x 70mm
Nuts, Flat Washers, Lock
Washers: 6 to 16mm
0930069 Hex Bolts, Nuts & Washers Bolts: 6 x 12 to 6 x 30mm
Metric 8.8 8 x 16 to 8 x 40mm
40 1,345 10 x 20 to 10 x 50mm
0930072 | Hex Bolts, Nuts & Washers 12 x25t0 12 x 50mm
Metric 10.9 16 x 30 to 16 x 70mm
Nuts, Flat Washers, Lock
Washers: 6 to 16mm
0930270 Hex Bolts, Nuts & Washers 40 875 Bolts: 8 x 20 to 8 x 50mm
Metric 8.8 10 x 20 to 10 x 50mm (fine)
Fine Thread 10 x 20 to 10 x 50mm (jis)
12 x 20 to 12 x 50mm (fine)
12 x 20 to 12 x 50mm (jis)
Nuts, Flat Washers, Lock
Washers: 8 to 12mm
0930067 Hex Bolts, Nuts & Washers Bolts: 1/4 x 1/2to 1/4 x 2
18-8 Stainless 5/16 x 3/4 to 5/16 x 2-1/2
40 965 3/8 x 3/4 to 3/8 x 2-1/2
1930315 | Hex Bolts, Nuts & Washers 12x1t01/2x3
316 Stainless Nuts, Flat Washers, Lock
Washers: 1/4 to 1/2
0930042 Carriage Bolts, Nuts 40 900 Bolts: 1/4 x 1to 1/4 x 6

and Washers
Grade 2

5/16 x 1 to 5/16 x 6
3/8x1t03/8x6
1/2x1-1/2t0 1/2x 6
Nuts, Washers: 1/4 to 1/2

1-24




ASSORTMENTS

Fitting Starter Assortments

Part Number Description Comp. Pieces Contents
0930018 Malleable Iron 40 195 Bushing, Tee, 90 Elbow, Reducer, )
Pipe Fittings 90 Street, 45 Street, Coupling, A
Plug, Nipple ’@
0930239 Fleet Hose and Fittings 40 72 Male Pipe, Inverted Male Swivel,
Medium Pressure SAE/JIC Female Swivel, Nut, Air
DOT Approved Brake Male Conn, Sleeve, Spring
Guard, Mender Union
0930241 Collo-Crimp Fittings 40 84 Male Pipe, SAE 37 JIC Male Pipe,
High Pressure Inverted Male Pipe Swivel, Male
DOT Approved Pipe Swivel, SAE 37 JIC Female
Swivel 90, SAE 45 Female Swivel,
Inverted Male Pipe Swivel
0930243 JIC and Pipe 40 109 Caps, Plugs, Male Elbow 90,
Steel Adapters Female Swivel, Male Swivel, Hex
High Pressure Union, O-Ring Connector, Male |
Connector
0930244 Collo-Crimp For-Seal 40 44 Male Rigid, Female Swivel,
Fittings 45 Female Swivel,
H|gh Pressure 90 Female Swivel
Hose Assortment (Without Bin)
Part Number Description Pieces Contents
0930242 High Pressure Hose 5 Rolls 25’ each of 1/4”, 3/8”, 1/2”, 3/4”

and 1” High Pressure Hose

1-25




ASSORTMENTS

Hose Clamp Assortment

Part Number Description Comp Pieces Contents
0930117 Hose Clamps 11 100 10 Sizes
Stainless Steel #5 to #48
Wire Assortment
Part Number Description Comp Pieces Contents
0930090 Primary Wire
Plastic Covered
16 Ga: Red, Black, White
4 Rods 12 14 Ga: Red, White, Black, Green
0930091 Crosslink Primary Wire 12 Ga: Red, White Black
Hypa|on Covered 10 Ga: Red, Black
Welding Rod Assortment
Part Number Description Comp Contents
1930600 Assortment of electrodes that will han- 6 3/32 Mild Steel - 5 Ib.

dle all types and grades of steel and
steel alloys, high carbon steels, medium
steels, manganese, all sensitive and
hard to weld steels and all combinations
of dissimilar steels plus stainless steels
and all grades of cast iron.

1/8 Mild Steel - 5 Ib.
3/32 Cast Iron - 1 Ib.
3/32 High Strength Steel - 2.5 Ib.
1/8 High Strength Steel - 2.5 Ib.
3/32 Stainless Steel - 2.5 Ib.

1-26




Bugle Head Phillips Drywall Screws

Repair & Maintenance Hardware Parts 1930005
15 Wing Drive Cedar Knolls, NJ (973)267-4100 Outside NJ (800) 526-0630 1350 PCS
i e i, 156-A Selig Drive Atlanta, GA (404)696-0800
6x1 6X?2 8x3 6Xx2
Fine Fine Fine Coarse
0050608 0050616 0050824 0056216
100 100 50 100
6 x 1-1/8 6 x 2-1/4 6x1 6 x 2-1/4
Fine Fine Coarse Coarse
0050609 0050618 0056208 0056218
100 100 100 100

6x 1-1/4
Fine
0050610
100

I

6 x 1-5/8
Fine
0050613
100

8 x 2-1/2
Fine
0060820
50

8 x 2-3/4
Fine
0050822
50

6 x1-1/4

Coarse

0056209
100

|

6 x 1-5/8

Coarse

0056213
100

8 x 2-1/2

Coarse

0058220
50

8x3
Coarse
0058224
50



10/24 x 1/2
screw
0240301
25

<

1/4 -20 x 1/2
screw
0240401
25

<

1/4-20 x 1-3/4
screw
0240408
25

<

5/16-18 x 1-1/2
screw
0240507
25

Round Head Stove Bolts & Nuts

Repair & Maintenance Hardware Parts
15 Wing Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630

156-A Selig Drive Atlanta, GA (404) 696-0800

¢y

10/24 x 3/4
screw
0240303
25

¢

1/4-20 x 3/4
screw
0240403
25

¢

5/16-18 x 1/2
screw
0240501
25

¢

10/24 x 1
screw
0240305
25

¢

1/4-20 x 1
screw
0240405
25

¢

5/16-18 x 3/4
screw
0240503
25

7=
‘@”
L !

10-24
nut
0630010
25

¢

10/24 x 1-1/4
screw
0240306
25

<

1/4-20 x 1-1/4
screw
0240406
25

<

5/16-18 x 1
screw
0240505
25

7=
‘@”
L !

1/4-20
nut
0630014
25

¢

10/24 x 1-1/2
screw
0240307
25

¢

1/4-20 x 1-1/2
screw
0240407
25

7=
‘@”
L !

5/16-18
nut
1060005
25

1930024

550 pieces

293-

¢

10/24 x 1-3/4
screw
0240308
25

¢

10/24 x 2
screw
0240309
25

¢

1/4-20 x 2
screw
0240409
25

<

5/16-18 x 2
screw
0240509
25



10/24 x 1/2
screw
0250301
25

s

10/24 x 2
screw
0250309
25

s

1/4-20 x 1-3/4
screw
0250408
25

o

5/16-18 x 2
screw
0250509
25

L

10/24 x 3/4
screw
0250303
25

s

1/4 -20 x 1/2
screw
0250401
25

s

1/4-20 x 2
screw
0250409
25

s

10/24 x 1
screw
0250305
25

s

1/4-20 x 3/4
screw
0250403
25

s

5/16-18 x 1/2
screw
0250501
25

—— Flat Head Stove Bolts & Nuts

Repair & Maintenance Hardware Parts
15 Wing Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630

156-A Selig Drive Atlanta, GA (404) 696-0800

e

10/24 x 1-1/4
screw
0250306
25

s

1/4-20 x 1
screw
0250405
25

s

5/16-18 x 3/4
screw
0250503
25

7=
‘@”
L !

10-24
nut
0630010
25

o

10/24 x 1-1/2
screw
0250307
25

s

1/4-20 x 1-1/4
screw
0250406
25

s

5/16-18 x 1
screw
0250505
25

7=
‘@”
L !

1/4-20
nut
0630014
25

1930025
550 pieces

293-

o

10/24 x 1-3/4
screw
0250308
25

s

1/4-20 x 1-1/2
screw
0250407
25

s

5/16-18 x 1-1/2
screw
0250507
25

7=
‘@”
L !

5/16-18
nut
1060005
25



—— Alloy Flat Head Socket Cap Screws 1930034

-—— Repair & Maintenance Hardware Parts 525 pieces
15 Wing Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630

156-A Selig Drive Atlanta, GA (404) 696-0800

A — A — A —
KG IR KG MR KG MR
10/24 x 1/2 10/24 x 3/4 1/4 x 1/2 1/4 x 3/4 1/4 x 1 1/4 x 1-1/4
screw screw screw screw screw screw
0340301 0340303 0340401 0340403 0340405 0340406
25 25 25 25 25 25

1/4 x 1-1/2 1/4 x 2 5/16 x 3/4 5/16 x 1 5/16x 1-1/4 5/16 x 1-1/2
screw screw screw screw screw screw
0340407 0340409 0340503 0340505 0340506 0340507
25 25 25 25 25 25

5/16 x 2 3/8x 3/4 3/8 x 1 3/8 x 1-1/4 3/8 x 1-1/2 3/8x 2
screw screw screw screw screw screw
0340509 0340603 0340605 0340606 0340607 0340609
25 25 25 25 25 25

3/8 x 2-1/2 1/2 x 3/4 1/2 x 1 1/2 x1-1/4 1/2 x1-1/2 1/2 x 2
screw screw screw screw screw screw
0340611 0340803 0340805 0340806 0340807 0340809
25 10 10 10 10 10



3/8 to 5/8 Socket Set Screws - USS 1930049

Repair & Maintenance Hardware Parts
15 Wing Drive Cedar Knolls, NJ (973)267-4100 Outside NJ (800) 526-0630 120 Pieces
Aol Xt 156-A Selig Drive Atlanta, GA (404)696-0800

3/8-18 X 3/8
0490075
10

3/8-18 X 1
0490080
10

1/2-13 X %2
0490093
10

5/8-11 X %a
0490098
5

3/8-18 X %2
0490077
10

3/8-18 X 1-1/4
0490081
10

1/2-13 X 5/8
0490094
10

5/8-11 X 1
0490099
5

3/8-18 X 5/8
0490078
10

3/8-18 X 1-1/2
0490082
10

1/2-13 X %
0490095
10

3/8-18 x 3/4
0490079
10

1/2-13 X 1
0490097
10



Reciprocating Saw Blades for Metalwork 1930073

Repair & Maintenance Hardware Parts 40 Pieces
15 Wing Drive Cedar Knolls, NJ (973) 267-4100 Outside NJ: 800-526-0630

156-A Selig Drive Atlanta, GA (404) 696-0800

0730814
5
0730810
5
6" 6"
0730618 0730614
5 5
6" 6”
0730612 0730624
S 5
0730714
5
0730718

5



1930074

Reciprocating Saw Blades - Multi Purpose

Repair & Maintenance Hardware Parts
15 Wing Drive Cedar Knolls, NJ (973) 267-4100 Outside NJ :800-526-0630

e e 156-A Selig Drive Atlanta, GA (404) 696-0800

Bi-metal
Application: All round cutting of metal, plastic and wood w/nails.
0730707 (5 Pieces)

Extra heavy duty, bi-metal

Applications: Building and demolition work
0730805 (5 Pieces)

35 Pieces

RS ' RN 9" 6tpi

AN A fgﬂ-:‘m-l VAN A A A Carbide Tipped

Applications: brick, porous concrete, fiberglass, cement board, cast aluminum
0730731 (5 Pieces)

9" 7tpi
Wood Cutting Blade
Applications: all around wood cutting
0730817 (5 Pieces)

e 6 5-81pi
Bi-metal
Application:All round cutting of metal, plastic, laminates and wood with nails.

0730606 (5 Pieces)

CEmm e, g

411
Carbide Grit Blade Bi-Metal Blade
Appl: glass, glazed tile, ceramics, fiberglass, cast iron, stone For contour sawing of metal, plastic & wood w/nails

0730504 (5 Pieces) 0730706 (5 Pieces)



16-14 Blue
8-10 Stud
0031066
25/25

:

22-18 Red
4-6 Stud
0031050

25112

:

16-14 Blue
4-6 Stud
0031060

25/25

.

12-10 Yellow
8-10 Stud
0031084
25/12

Nylon Terminals

Repair & Maintenance Hardware Parts
15 Wing Drive Cedar Knolls, NJ (973) 267-4100 Outside NJ (800) 526-0630

156-A Selig Drive Atlanta, GA (404) 696-0800

On

16-14 Blue
12-1/4 Stud
0031069
25/25

On

22-18 Red
8-10 Stud
0031053
25112

— i

16-14 Blue
Bullet
0031336
25/12

e

12-10 Yellow
12-1/4 Stud
0031085
25/12

On

16-14 Blue
1/4-5/16 Stud
0031072
25112

16-14 Blue
.250 Female
0032637
25/25

16-14 Blue
Univ Receptacle
0032639
25/12

e

12-10 Yellow
5/16-3/8 Stud
0031089
25/12

On

16-14 Blue
5/16-3/8 Stud
0031075
25112

16-14 Blue
.250 Male
0032638
25/25

.-

16-14Blue
8-10 Stud
0031316
25/12

e

12-10 Yellow
7/16-1/2 Stud
0031326
25/12

B

16-14 Blue

8-10 Stud

0031102
25112

o

22-18 Red

8-10 Stud

0031094
25112

o

22-18 Red
8-10 Stud
0031095
25112

o

12-10 Yellow
8-10 Stud
0031107
25/12

1930101
580 Pieces

2930101
385 Pieces

18-14 Blue
Scotchlok
0033234
5/5

]

22-18 Red
Butt
0031111
25/25

]

16-14 Blue
Butt
0031112
25/25

]

12-10 Yellow
Butt
0031113
25/25



Pan Head Slotted Sheet Metal Screws 1950102
Repair & Maintenance Hardware Parts g
15 Wing Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630 2930102
156-A Selig Drive Atlanta, GA (404) 696-0800 600 pieces
6x1/4 6 X 3/8 6x1/2 6 x3/4 6x1 6 x1-1/4
screw screw screw screw screw screw
0051004 0051005 0051006 0051008 0051010 0051011
EN/OK 50/25 50/25 50/25 50/25 EN/OE
8 x1/4 8 x 3/8 8 x1/2 8 x 3/4 8x1 8 x 1-1/4
screw screw screw screw screw screw
0051012 0051013 0051014 0051016 0051018 0051019
50/25 50/25 50/25 50/25 50/25 50/25
10 x 1/2 10 x 5/8 10 x 3/4 10 x 1 12 x 1/2 12 x 3/4
screw screw screw screw screw screw
0051024 0051025 0051026 0051028 0051032 0051034
50/25 50/25 50/25 50/25 50/25 50/25
12 x 1 14 x 1/2 14 x 3/4 14 x 1 14 x 1-1/4 14 x 1-1/2
screw screw screw screw screw screw
0051036 0051040 0051042 0051044 0051045 0051046
BN/?2R” BN/?2R” BN/?2R” BN/?2R” BN/?2R” BN/2R”



1930102

Pan Head Slotted Sheet Metal Screws i

Repair & Maintenance Hardware Parts g

15 Wing Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630 2930102
SSSSS e el 156-A Selig Drive Atlanta, GA (404) 696-0800 600 pieces

6 x1/4 6 X 3/8 6 x1/2 6 x 3/4 6x1 6 x 1-1/4
screw screw screw screw screw Screw
0051004 0051005 0051006 0051008 0051010 0051011
50/25 50/25 50/25 50/25 50/25 50/25
8x1/4 8 x 3/8 8 x1/2 8 x 3/4 8x1 8x1-1/4
screw screw screw screw screw screw
0051012 0051013 0051014 0051016 0051018 0051019
50/25 50/25 50/25 50/25 50/25 50/25
10 x 1/2 10 x 5/8 10 x 3/4 10 x 1 12 x 1/2 12 x 3/4
screw screw screw screw screw screw
0051024 0051025 0051026 0051028 0051032 0051034
50/25 50/25 50/25 50/25 50/25 50/25

12 x 1 14 x 1/2 14 x 3/4 14 x 1 14 x1-1/4 14 x 1-1/2
screw screw screw screw screw screw
0051036 0051040 0051042 0051044 0051045 0051046
50/25 50/25 50/25 50/25 50/25 50/25



1930103

Pan Head Phillips Machine Screws

- - 1500 Pi

Repair & Maintenance Hardware Parts o00 Pleces

15 Wing Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630 2930103

156-A Selig Drive Atlanta, GA (404) 696-0800 600 Pieces

4-40 6-32 8-32 10-32 12-24 10-24

nut nut nut nut nut nut
0630004 0630006 0630008 0630011 0630012 0630010
100/25 100/25 100/25 100/25 100/25 100/25

OO

O

OO

M

IO

WA

4-40 x 1/4 6-32 x 1/4 6-32 x 1/2 6-32 x 5/8 8-32x1/4 8-32x1/2
screw screw screw screw screw screw
0620404 0620604 0620608 0620610 0620804 0620808
50/25 50/25 50/25 50/25 50/25 50/25

OO0

OO

WA

OO

OO

|

WA

8-32 x 3/4 8-32x 1 10-32 x1/4 10-32 x 1/2 10-32 x 3/4 10-32 x 1
screw screw screw screw screw screw
0620812 0620816 0621104 0621108 0621112 0621116
50/25 50/25 50/25 50/25 50/25 50/25

I

WA

O

AR

OO

10-24 x 1/2 10-24 x 3/4 10-24 x 1 12-24 x 1/2 12-24 x 3/4 12-24 x 1
screw screw screw screw screw screw

0621008 0621012 0621016 0621208 0621212 0621216
50/25 50/25 50/25 50/25 50/25 50/25



Round Head Slotted Machine Screws 1930104

Repair & Maintenance Hardware Parts 1500 Pleces
15 Wing Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630 2930104
156-A Selig Drive Atlanta, GA (404) 696-0800 600 Pieces
4-40 6-32 8-32 10-32 12-24 10-24
nut nut nut nut nut nut
0630004 0630006 0630008 0630011 0630012 0630010
100/25 100/25 100/25 100/25 100/25 100/25
4-40 x 1/4 6-32 x 1/4 6-32 x 1/2 6-32 x 5/8 8-32 x 1/4 8-32 x 1/2
screw screw screw screw screw screw
0580404 0580604 0580608 0580610 0580804 0580808
50/25 50/25 50/25 50/25 50/25 50/25
8-32 x 3/4 8-32 x 1 10-32 x 1/4 10-32 x 1/2 10-32 x 3/4 10-32 x 1
screw screw screw screw screw screw
0580812 0580816 0581104 0581108 0581112 0581116
50/25 50/25 50/25 50/25 50/25 50/25
10-24 x 1/2 10-24 x 3/4 10-24 x 1 12-24 x 1/2 12-24 x 3/4 12-24 x 1
screw screw screw screw screw screw
0581008 0581012 0581016 0581208 0581212 0581216
50/25 50/25 50/25 50/25 50/25 50/25



nnnnnnnnnnnnnnnnnnnnnnnnnn

4-40
nut
0630004
100/25

\Il'.mI'ulll.i'nllul'ﬁl,:"\i'.\,i'.\.'u\;'.\l'.'\

4-40 x 1/4
screw
0590404
50/25

I

8-32 x 3/4
screw
0590812
50/25

I

10-24 x 1/2
screw
50/25

— Flat Head Slotted Machine Screws

Repair & Maintenance Hardware Parts
15 Wing Drive CedarKnolls, NJ (201) 267-4100 Outside NJ (800) 526-0630

230 Selig Drive Atlanta, GA (404) 696-0800

=)

6-32
nut
0630006
100/25

I

6-32x1/4
screw

0590604
50/25

I

8-32x 1
screw
0590816
50/25

I

10-24 x 3/4
screw
50/25

=)

8-32
nut
0630008
100/25

WY

6-32 x 1/2
screw
0590608
50/25

I

screw
0591104
50/25

\Il'.mI'ulll.i'nllul'ﬁl,:"\i'.\,i'.\.'u\;'.\l'.'\

10-24 x 1
screw
0591016
50/25

Y
©

10-32
nut
0630011
100/25

I

6-32 x 5/8
screw
0590610
50/25

I

10-32 x 1/2
screw
0591108
50/25

I

12-24 x1/2
screw
0591208
50/25

Y
©

12-24
nut
0630012
100/25

I

8-32x1/4
screw
0590804
50/25

I

10-32 x 3/4
screw
0591112
50/25

I

12-24 x 3/4
screw
0591212
50/25

1930105
1500 Pieces

2930105

=)
‘@"

10-24
nut
0630010
100/25

I

8-32 x 1/2
screw
0590808
50/25

I

10-32 x 1
screw
0591116
50/25

I

12-24 x 1
screw
0591216
50/25




6 x1/2
screw
0051106
50/25

¥
¥
¥
¥
¥

8 x1-1/4
screw
0051119
50/25

¥
¥
¥
¥
¥

10 x 1-1/2
screw
0051130
50/25

¥
¥
¥
¥
¥

14 x 1/2
screw
0051140
50/25

¥
¥
¥
¥
¥

6 x 3/4
screw
0051108
50/25

8 x1-1/2
screw
0051120
50/25

12 x 1/2
screw
0051132
50/25

14 x 3/4
screw
0051142
50/25

6 x1
screw
0051110
50/25

10 x 1/2
screw
0051124
50/25

12 x 3/4
screw
0051134
50/25

14 x1
screw
0051144
50/25

8 x1/2
screw
0051114
50/25

10 x 3/4
screw
0051126
50/25

12x1

screw
0051136

50/25

14 x1-1/4
screw
0051145
50/25

= Pan Head Phillips Sheet Metal Screws

Repair & Maintenance Hardware Parts
15 Wing Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630

156-A Selig Drive Atlanta, GA (404) 696-0800

8 x 3/4
screw
0051116
50/25

10x 1
screw
0051128
50/25

12 x1-1/4
screw
0051137
50/25

14 x 1-1/2
screw
0051146
50/25

1930106
1200 Pieces

2930106
600 Pieces

8x1
screw
0051118
50/25

¥

10 x 1-1/4
screw
0051129
50/25

¥

12 x 1-1/2
screw
0051138
50/25

¥

14 x 2
screw
0051148
50/25




Clevis Hair Pins 1930107

Repair & Maintenance Hardware Parts 220 pieces
15 Wing Drive Cedar Knolls, NJ (973)267-4100 Outside NJ (800)-526-0630

156-A Selig Drive Atlanta GA 30336 (404) 696-0800

SERVICE ® QUALITY = RELIABILITY

1/16 x 15/16 3/32 x 1-5/8 3/32 x 2-1/2
0750100 0750101 0750102
50 50 50

1/8 x 1-3/4 1/8 x 2-9/16 5/32 x 2-15/16
0750103 0750104 0750105
25 20 10

3/16 x 3-1/4 14 x 4 5/16 x 3-5/16
0750106 0750107 0750108
10 5 5



1930108
1050 Pieces

Phillips Oval Head Sheet Metal Screws

Repair & Maintenance Hardware Parts
15 Wing Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630

156-A Selig Drive Atlanta, GA (404) 696-0800

Qo e G Qe Qe (e

#6 x 1/2 #6 x 3/4 #6 x 1 #8 x 1/2 #8 x 3/4 #8 x 1
Phillips Oval Head Phillips Oval Head Phillips Oval Head Phillips Oval Head Phillips Oval Head Phillips Oval Head
0052106 0052108 0052110 0052114 0052116 0052118
50 50 50 50 50 50
#8 x 1-1/4 #8 x 1-1/2 #10 x 1/2 #10 x 3/4 #10 x 1 #10 x 1-1/4
Phillips Oval Head Phillips Oval Head Phillips Oval Head Phillips Oval Head Phillips Oval Head Phillips Oval Head
0052119 0052120 0052124 0052126 0052128 0052129
50 50 50 50 50 50
#10 x 1-1/2 #10 x 2 #12 x 1/2 #12 x 3/4 #12 x 1 #12 x 1-1/4
Phillips Oval Head Phillips Oval Head Phillips Oval Head Phillips Oval Head Phillips Oval Head Phillips Oval Head
0052130 0052158 0052132 0052134 0052136 0052137
50 50 50 50 50 50

#12 x 1-1/2 #12 x 2 #14 x 3/4
Phillips Oval Head Phillips Oval Head Phillips Oval Head
0052138 0052160 0052142
50 50 50



Self-Threading Hex Screws 1930109

Repair & Maintenance Hardware Parts 227 Pieces
15 Wing Drive Cedar Knolls, NJ (973) 267-4100 Outside NJ: 800-526-0630

156-A Selig Drive Atlanta, GA (404) 696-0800

[lll')jf" B [ﬂl» B [ﬂl»*
1/4 x 1/2 1/4 x 3/4 1/4 x 1
Self Threading Hex Self Threading Hex Self Threading Hex
0052841 0052842 0052844
25 25 25

1/4 x 1-1/2
Self Threading Hex

0052846
25

3/18 x 3/4
Self Threading Hex

0052862
25

-'T-‘ =

#10
Hex Driver
0766001
1

5/16 x 3/4
Self Threading Hex
0052852
25

3/8 x 1
Self Threading Hex
0052864
25

-'T-‘ =

#12-14
Hex Driver
0766002
1

5/16 x 1
Self Threading Hex
0052854
25

3/18 x 1-1/2
Self Threading Hex
0052866
25



6ga x 1/4 stud
copper lug
0037000
10/5

1/0ga x 3/8 stud
copper lug
0037004
10/5

3/0ga x 1/2 stud
copper lug
0037008
5/5

1ga
copper butt
0037013
10/5

Repalr & Main

4ga x 1/4 stud
copper lug
0037001
10/5

1/0 ga x 1/2
copper lug
0037005
10/5

copper butt
0037010
10/5

1/0 ga
copper butt
0030450
5/5

enance Hardware Parts
15 Wing Drive Cedar Knolls, NJ (973)267-4100 Outside NJ (800)-526-0630

156-A Selig Drive Atlanta, GA 30336 (404) 696-0800

Copper Luqu & Connectors

2ga x 3/8 stud

copper lug
0037002

10/5

2/0 ga x 3/8 stud
copper lug
0037006
10/5

copper butt
0037011
10/5

2/0 ga
copper butt
0030451
5/5

1930118
140 pieces

2930118
78 pleces

1ga x 3/8 stud
copper lug
0037003

10/5

2/0ga x 1/2 stud
copper lug
0037007
10/5

copper butt
0037012
10/5

3/0 ga
copper butt
0030452
5/3



Stainless Steel Fasteners

Repair & Maintenance Hardware Parts ;'59539119
15 Wing Drive Cedar Knolls, NJ (973)267-4100 Outside NJ (800)-526-0630 preces

156-A Selig Drive Atlanta GA 30336 (404) 696-0800

1/4 x 3/4
screw
3180403
25

]I..T'I,II'IJ"IJI'III._'.I',l|"II|I'I‘ll'll|l.|j!|llr|l'll|lr

Lo

5/16 x 3/4
screw
3180503
25

|II-II-II I|rII II|| II:

i
JI'IJI'l' il |"|l"."|'

3/8 x 1
screw
3180605
25

Ijl IIII..I-II || [ 'IIII

]I.'I.JIII||IIIJII .','n','lllll,'l'lI

I

1/2 x 1
screw
3180805
10

1/4 x 1
screw
3180405
25

5/16 x 1
screw
3180505
25

3/8 x 1-1/2
screw
3180607
25

Lo

1/2 x 1-1/2
screw
3180807
10

p—
b,

Lo

1/4 x 1-1/2
screw
3180407
25

p—
b,

Jl..J ||| |J|' Ijl'll._'.l' I| | _III. Il||'.|,'||j!| IIlluI Ilui

Lo

5/16 x 1-1/2
screw
3180507
25

IIIIIIIII | rll I I| II

Mt
JI'IJII|I il |'I||"|I'|I

3/8 x 2
screw
3180609
25

1/2 x 2
screw
3180809
10

1/4
nut
3181104
25

5/16
nut
3181105
25

3/8
nut
3181106
25

1/2
nut
3181108
25

=

1/4
flat washer
3182104
25

=

5/16
flat washer
3182105
25

=

3/8
flat washer
3182106
25

=

1/2
flat washer
3182108
25

&

1/4
lockwasher
3182204
25

&

5/16
lockwasher
3182205
25

&

3/8
lockwasher
3182206
25

&

1/2
lockwasher
3182208
25



<)

6 X1/2 6 X 3/4
screw screw
3172006 3172008
50 50
8 X 1/2 8 X34
screw screw
3172014 3172016
50 50
10 X 1/2 10 X 3/4
screw screw
3172024 3172026
25 25
14 X 3/4 14 X1
screw screw
3172042 3172044
25

25

Stainless Oval Head Slotted S/M/S

Repair & Maintenance Hardware Parts
15 Wing Drive Cedar Knolls, NJ (973) 267-4100 Outside NJ (800) 526-0630

156-A Selig Drive Atlanta, GA (404)696-0800

<)

6X1
screw
3172010
50

<aww)

8 X1
screw
3172018
25

)

10 X1
screw
3172028
25

<)

14 X 1-1/2
screw
3172046
25

1930120
475 Pieces

<)

10 X 1-1/2
screw
3172030
25



Stainless Pan Head Slotted S/M/S 1930121

Repair & Maintenance Hardware Parts 450 Pieces
15 Wing Drive Cedar Knolls, NJ (973)267-4100 Outside NJ (800) 526-0630

156-A Selig Drive Atlanta, GA (404)696-0800

s

s

6 X1/2 6 X 3/4 6X1
screw screw screw
3173006 3173008 3173010
50 50 50
8 X 1/2 8 X34 8 X1
screw screw screw
3173014 3173016 3173018
50 50 25
10 X 1/2 10 X 3/4 10X 1 10 X 1-1/2
screw screw screw screw
3173024 3173026 3173028 3173030
25 25 25 25
14 X 3/4 14 X1 14 X 1-1/2
screw screw screw
3173042 3173044 3173046
25 25 25



Hollow Wall Anchors 1930123

Repair & Maintenance Hardware Parts 255 Pieces
15 Wing Drive Cedar Knolls, NJ (973)267-4100 Outside NJ (800) 526-0630

156-A Selig Drive Atlanta, GA (404)696-0800

screw size 4-6-8

s

screw size 8-10-12

s

screw size 12-14-5/16

drill size 3/16 drill size 1/4 drill size 5/16
0400300 0400301 0400299
25 25 25

screw size 4-6-8

screw size 8-10-12

screw size 14

drill size 3/16 drill size dril size 5/16
0400326 0400327 0400328
25 25 25
D D D
wall thickness to 1/8" wall thickness to 1/2" wall thickness to 3/4"
drill size 5/16 drill size 5/16 drill size 5/16
0400601 0400602 0400603
25 25 25

self drilling self drilling
one piece toggle
0400250 0400251
20 10



1930125
600 pieces

—— Socket Head Cap Screws

— Repair & Maintenance Hardware Parts

15 Wing Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630 293-

156-A Selig Drive Atlanta, GA (404) 696-0800

)

)

6/32 x 1/2 6/32 x 3/4 6/32 x 1 8/32 x 1/2 8/32 x 3/4 8/32 x 1
screw screw screw screw screw screw
0510030 0510032 0510034 0510037 0510039 0510041
25 25 25 25 25 25

10/24 x 1/2

10/24 x 3/4

10/24 x 1

10/24 x 1-1/2

10/24 x 2

1/4-20 x 1/2

screw screw screw screw screw screw
0510045 0510047 0510049 0510051 0510053 0510055
25 25 25 25 25 25

)

)

)

)

)

)

1/4-20 x 3/4 1/4-20 x 1 1/4-20 x 1-1/2 1/4 -20 x 2 5/16-18 x 3/4 5/16-18 x 1
screw screw screw screw screw screw
0510057 0510059 0510061 0510063 0510071 0510073
25 25 25 25 25 25

)

)

)

)

)

)

5/16-18 x 1-1/2 5/16-18 x 2 3/8-16 x 1 3/8-16 x 1-1/2 3/8-16 x 2 3/8-16 x 2-1/2
screw screw screw screw screw screw
0510075 0510077 0510088 0510090 0510092 0510094
25 25 25 25 25 25



—— Low Pressure Pushlok Barb Fittings 1930127

-—— Repair & Maintenance Hardware Parts 38 pieces

15 Wing Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630

156-A Selig Drive Atlanta, GA (404) 696-0800

wigg oo wifp i el il slos

1/4 hose 1/4 hose 3/8 hose 3/8 hose 1/2 hose hose mender
1/8 male pipe 1/4male pipe 1/4 male pipe 3/8 male pipe 3/8 malepipe 3/8 hose x 3/8 hose
0230801 0230802 0230803 0230804 0230805 0230867
3 3 3 3 3 1
wEl  mEY mE mEl gt
1/4 hose 1/4 hose 3/8 hose 1/2 hose hose mender
1/4 SAEswivel nut 5/16 SAE swiv nut 3/8 SAE swivel nut 1/2 SAE swivel nut 1/2 hose x 1/2 hose
0230826 0230827 0230828 0230829 0230868
3 3 3 1 1
1/4 hose x 1/4 1/4 hose x 5/16 1/4 hose x3/16 1/4 hose x 1/4
inverted rigid female inv rigid female inverted male swivel inverted male swivel
0230838 0230872 0230832 0230833
3 2 2 2
I m ] fus)
1/4 hose x 5/16 hose mender
inverted male swivel 1/4 hose x 1/4 hose
0230834 0230866

2 1



1930128
84 Pieces

Mini Barb Fittings
Repair & Maintenance Hardware Parts

15 Wing Drive Cedar Knolls, NJ (973) 267-4100 Outside NJ (800) 526-0630
156-A Selig Drive Atlanta, GA (404) 696-0800

e e = e e
1/8 x 1/8 3/16 x 1/8 3/16 x 1/4 14 x 1/8 14 x 1/4 1/4 x 3/8
Male Hose Barb Male Hose Barb Male Hose Barb Male Hose Barb Male Hose Barb Male Hose Barb
0060930 0060931 0060932 0060933 0060934 0060935
5 5 5 5 5 3
5/16 x 1/8 5/16 x 1/4 3/8 x1/8 3/8 x1/4 3/8 x 3/8 3/8 x1/2
Male Hose Barb Male Hose Barb Male Hose Barb Male Hose Barb Male Hose Barb Male Hose Barb
0060936 0060937 0060938 0060939 0060940 0060941
3 3 3 3 2 2
14 x 1/8 14 x 1/4 3/8 x1/4 3/8 x 3/8 3/8 x1/2 14 x 1/4
Male 90° Elbow Male 90° Elbow Male 90° Elbow Male 90° Elbow Male 90° Elbow Female Hose Barb
0060951 0060952 0060953 0060954 0060955 0060921
3 3 3 2 2 3
Siies | wbtiEs | GlccpeiEs | Sassdses E:: E::
3/16 1/4 5/16 3/8 3/8 x1/4 3/8 x 3/8
Hose Mender Hose Mender Hose Mender Hose Mender Female Hose Barb Female Hose Barb
0060925 0060926 0060927 0060928 0060922 0060923
5 5 5 3 3 3



1/8
nut assembly
1290002

1/8
union

1/8 x 1/8
male connector
1290048
2

1/8 x 1/8
male elbow
1290062
2

Poly-tite Fittings

Repair & Maintenance Hardware Parts

15 Wing Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630

156-A Selig Drive Atlanta, GA (404) 696-0800

316
nut assembly
1290003

union

3/16 x 1/8
male connector
1290049
2

3/16 x 1/8
male elbow
1290063
2

1/4
nut assembly
1290004

union

14 x 1/4
male connector
1290042
2

14 x 1/4
male elbow
1290065
2

3/8
nut assembly
1290006

union

3/8 x1/4
male connector
1290045
2

3/8 x1/4
male elbow
1290068
2

1/2
nut assembly
1290008

union

1/2 x 3/8
male connector
1290047
2

1/2 x 3/8
male elbow
1290070
2

1930129

48 pieces

293-

5/16 x 1/4

male connector
1290043
2

5/16 x 1/8
male elbow
1290066
2



Miniature Bulbs-12 Volt

Repair & Maintenance Hardware Parts 19300130
15 Wing Drive Cedar Knolls, NJ (973) 267-4100 Outside NJ :800-526-0630 60 Pieces

156-A Selig Drive Atlanta, GA (404) 696-0800

SERVICE ® QUALITY = RELIABILITY

Q)
|1

# 67

# 53
bulb bulb
0035101 0035104
5

@ (3]
L[]

#194 #1073
bulb bulb
0035110 0035118

5

1)
J

#1141 #1156 #1157
bulb bulb bulb
0035120 0035122 0035123
5 5

5
(=D

(1
lJ

# 1895 #1156 #1157
bulb bulb bulb
0035126 0035122 0035123
5 5 5



—

-,

6/32
nut

3186306
25

¢

6/32 x 1/4
screw
3170604
25

¢

10/24 x 1/2
screw
3171008
25

¢

1/4 x 1/2
screw
317-1408
25

18-8 Stainless Round Head Slotted M/S

Repair and Maintenance Part

15 Wing Drive Cedar Knolls, NJ (973)267-4100 Outside NJ (800) 526-0630

156-A Selig Drive Atlanta, GA (404)696-0800

)

8/32
nut
3186308
25

¢

6/32 x 1/2
screw
3170608
25

¢

10/24 x 3/4
screw
3171012
25

¢

1/4 x 3/4
screw
3171412
25

10/24
nut
3186310
25

¢

6/32 x 3/4
screw
3170612
25

¢

10/24 x 1
screw
3171016
25

¢

1/4 x 1
screw
3171416
25

10/32
nut
3186311
25

¢

6/32 x 1
screw
3170616
25

¢

10/24 x 1-1/4

screw
3171020
25

¢

1/4 x1-1/4
screw
3171420
25

A
o =

1/4-20
nut
3186314
25

¢

8/32 x 1/2
screw
3170808
25

¢

10/32 x 1/4
screw
3171104
25

¢

1/4 x 1-1/2
screw
3171424
25

¢

8/32 x 3/4
screw
3170812
25

¢

10/32 x 1/2
screw
3171108
25

¢

8/32 x 1
screw
3170816
25

¢

10/32 x 3/4
screw
3171112
25

1930131
625 pieces

¢

10/32 x 1

screw
3171116
25



Metric Pan Head Slotted Machine Screws 1930132

i i 600 pi
Repair & Maintenance Hardware Parts pleces
15 Wing Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630 293-

230 Selig Drive Atlanta, GA (404) 696-0800

SERVICE ® QUALITY = RELIABILITY

I

I

I

I

3M x 6 3M x 8 3Mx 10 4M x 10 4M x 20 4M x 25
screw screw screw screw screw screw
0680202 0680203 0680204 0680225 0680229 0680230
25 25 25 25 25 25

MUY

MU

MU

MU

MU

MU

5M x 10 5M x 20 5M x 30 6M x 12 6M x 20 6M x 30
screw screw screw screw screw screw
0680240 0680244 0680248 0680256 0680258 0680263
25 25 25 25 25 25

MU

MU

8M x 16 8M x 20 8M x 30 10M x 16 10M x 20 10M x 30
screw screw screw screw screw screw
0680272 0680274 0680278 0680287 0680289 0680293
25 25 25 25 25 25

3M 4M 5M 6M 8M 10M
nut nut nut nut nut nut

0680031 0680041 0680051 0680061 0680081 0680100
25 25 25 25 25 25



4M x 10
screw
0680300
25

4M x 12
screw
0680301
25

)

4M x 16
screw
0680302
25

4M x 20
screw
0680303
25

—— Metric 12.9 Socket Cap Screws

Repair & Maintenance Hardware Parts
15 Wing Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630

156-A Selig Drive Atlanta, GA (404) 696-0800

5M x 10
screw

25

5M x 16
screw
0680312

)

5M x 20
screw
0680313
25

6M x 10
screw

25

6M x 12
screw
0680321
25

)

6M x 16
screw
0680322
25

6M x 20
screw
0680323
25

8M x 12
screw

10

8M x 16
screw
0680332
10

)

8M x 20
screw
0680333
10

)

8M x 25
screw
0680334
10

10M x 16
screw
0680342
10

10M x 20
screw
0680343
10

)

10M x 25
screw
0680344
10

)

10M x 30
screw
0680345
10

1930133
400 pieces

293-

12 x 25
screw
0680354

12M x 30

screw
0680355
5

)

12M x 40
screw
0680356
5

)

12M x 50
screw
0680357
5




6MM 8.8 Cap Screws - Nuts- Washers

Rﬁpair & Maintenance Hardware Parts
15 Wing Drive Cedar Knolls, NJ (973)267-4100 Outside NJ (800) 526-0630

156-A Selig Drive Atlanta, GA (404)696-0800

=

=

6mm 6mm 6mm
hex nut lock washer flat washer
0680061 0680006 0680062
100 100 100

Lo

6mmx 12mm

p—
b,

Lo

6mmx 16mm

p—
b,

Lo

6mmx 20mm

screw screw screw
0680612 0680616 0680620
25 25 25

Lo

6mmx 30mm

Lo

6mmx 35mm

Lo

6mmx 40mm

screw screw screw
0680630 0680635 0680640
25 25 25

Lo

6mmx 50mm

p—
b,

Lo

6mmx 60mm

Lo

6mmx 65mm

screw screw screw
0680650 0680660 0680665
10 10 10

1930134

560 Pieces

6mm

nylok nuts

p—
b,

0680561

Lo

6mmx 25mm
screw
0680625
25

Lo

6mmx 45mm
screw
0680645
20

Lo

6mmx 70mm

screw
0680670
10



1930135

- Nuts- Washers

8MM Metric 8.8 C?Ip Screws

Repair & Maintenance Hardware Parts 405 Pieces
15 Wing Drive Cedar Knolls, NJ (973)267-4100 Outside NJ (800) 526-0630
F FOSTIE RN 156-A Selig Drive Atlanta, GA (404)696-0800
o\ =
© =2 =
= 4
8mm 8mm 8mm 8mm
hex nut lock washer flat washer nylok nuts
0680081 0680008 0680082 0680581
50 50 50 25

Lo

8mmx 12mm

8mmx 16mm

Lo

8mmx 20mm

p—
b,

Lo

8mmx 25mm

screw screw screw screw
0680812 0680816 0680820 0680825
25 25 25 25

Lo

8mmx 30mm

Lo

8mmx 35mm

Lo

8mmx 40mm

Lo

8mmx 45mm

screw screw screw screw
0680830 0680835 0680840 0680845
25 25 25 20

Lo

8mmx 50mm

Lo

8mmx 60mm

Lo

8mmx 65mm

Lo

8mmx 70mm

screw screw screw screw
0680850 0680860 0680865 0680870
10 10 10 5



10MM Metric 8.8 Cap Screws - Nuts- Washers

Repair & Maintenance Hardware Parts 1930136
15 Wing Drive Cedar Knolls, NJ (973)267-4100 Outside NJ (800) 526-0630

, . 250 Pi
156-A Selig Drive Atlanta, GA (404)696-0800 50 Pieces
@ ® &
10mm 10mm 10mm 10mm
hex nut lock washer flat washer nylok nuts
0680100 0680010 0680102 0685100
25 25 25 10

L1

10mmx 16mm

—
}e

10mmx 20mm

—
}e

10mmx 25mm

L1

10mmx 30mm

screw screw screw screw
0681016 0681020 0681025 0681030
25 25 25 25

1]

10mm x35mm

1]

10mmx 40mm

1]

10mmx 45mm

1]

10mmx 50mm

screw screw screw screw
0681035 0681040 0681045 0681050
20 20 20 10

L1

10mmx 55mm

L1

10mmx 60mm

L1

10mmx 65mm

L1

10mmx 70mm

screw screw screw screw
0681055 0681060 0681065 0681070
10 5 5 5



SERVICE »

QUALITY =

RELIABILITY

e S}
'@"
o

12mm
hex nut
0680120
25

”Ilf [ I|

Lo

12mm x 20mm
screw
0681220
20

MmOt
i

JIII11]E

Lo

12mm x 40mm
screw
0681240
10

F—

Lo

12mm x 70mm
screw
0681270
5

=

12mm
flat washer
0680012
25

F—

A
I |
|J|I.I !

JI/I11f

Lo

12mm x 25mm
screw
0681225
20

MmOt
i

JIII11]E

Lo

12mm x 50mm
screw
0681250
10

|!JIIII

M
J.|"

12mm x 80
screw
0681280
5

12MM Metric 8.8 Cap Screws- Nuts - Washers

Repair & Maintenance Hardware Parts
15 Wing Drive Cedar Knolls, NJ (973) 267-4100 Outside NJ :800-526-0630

156-A Selig Drive Atlanta, GA (404) 696-0800

1930137
180 Pieces

=

12mm
lock washer
0680122
25

F—

R
WM

JIII11]E

Lo

12mm x 30mm
screw
06801230
20

Lo

12mm x 60mm
screw
0681260
10

F—

A
I |
|J|I.I !

JI/I11f

Lo

12mm x 90
screw
0681290
5



M4
Lock washer
0680004
25

M4
Flat washer

0680042
25

M4 x.70 x 12
Hex Cap screw
0680412
25

M5 x .80 x 16
Hex Cap screw
0680516
25

M5
Lock washer
0680005
25

M5
Flat washer

0680052
25

M4 x.70 x 16
Hex Cap screw
0680416
25

M5 x .80 x 20
Hex Cap screw
0680520
25

4M & 5M Bolts-Nuts-Washers

Repair & Maintenance Hardware Parts
15 Wing Drive Cedar Knolls, NJ (973)267-4100 Outside NJ (800) 526-0630

£MDIERDELD  156-A Selig Drive Atlanta, GA (404)696-0800

M4 x .70

Hex nut

0680041
25

M4 x .70

Nylok nut

0680541
25

M4 x.70 x 20
Hex Cap screw
0680420
25

M5 x .80 x 25
Hex Cap screw
0680525
25

1930138

375 pieces

M5 x .80

Hex nut

0680051
25

M5 x .80

Nylok nut

0680551
25

M5 x .80 x 30
Hex Cap screw
0680530
25



'}

6x1.0
Straight
1360801
5

¥

10x1.0
Straight
1360803
5

&

1/8 NPT x 5/8
Straight
1360609

5

'}

1/4-28 x 33/64
Straight
1360641

5

Grease Fittings

Repair & Maintenance Hardware Parts
15 Wing Drive Cedar Knolls, NJ (973) 267-4100 Outside NJ (800) 526-0630

156-A Selig Drive Atlanta, GA (404) 696-0800

g

6x1.0
45°
1360804
5

g

10x1.0
45°
1360806
5

1/8 NPT x 1-1/4
Straight

1360669
5

'}

1/4-28 x 11/16
Straight
1360652

5

¥

6x1.0
90°
1360807
5

v

10x1.0
90°
1360809
5

g

1/8 NPT x 11/16
30°
1360611
5

'}

1/4-28 x 15/16
Straight
1360680

5

'}

8x1.0
Straight
1360802
5

L)

3/16 x 9/16
Straight
1360633

5

g

1/8 NPT x 1
45°
1360688
5

g

1/4-28 x 1
45°
1360636
5

g

8x1.0
45°
1360805
5

)

1/4 x 39/64
Straight
1360743

3

g

1/8 NPT x 27/32
67-1/2°
1360612
5

g

1/4-28 x 718
45°
1360637
5

1930139
116 pieces

¥

8x1.0
90°
1360808
5

t

5/16 x 37/64
Straight
1360608

3

£

1/8 NPT x 13/16
90°
1360613
5

¥

1/4-28 x 47/64
90°
1360911
5



.

SERVICE »

4 Stud
Ring
0031050
50

On

1/4 Stud
Ring
0031054
50

o'

4-6 Stud
Block Spade
0031090
50

22-16 N
Repair &

15 Wlng Drive Cedar Knolls, NJ (973)267-4100 Outside NJ (800) 526-0630
156-A Selig Drive Atlanta, GA (404)696-0800

lon Insulated Terminals

aintenance Hardware Parts

On

6 Stud
Ring
0031051
50

On

5/16 Stud
Ring
0031055
50

o'

8-10 Stud
Block Spade
0031094
50

On

8 Stud
Ring
0031052
50

-

4-6 Stud
Spade
0031092
50

!

8-10 Stud
Hook
0031314
25

Male 1/4 Tab
Fully Insulated

0032642
25

1930140

675 Pieces

On

10 Stud
Ring
0031053
50

B

8-10 Stud
Spade
0031095
50

1]

Butt
0031111
100

Female 1/4 Tab
Fully Insulated

0032641
25



sssssssssssssssssssssssssss

¢ OCml CEE Cmm OCnE

4-6
stud
0031410

Cal s Om O=E

5/16-3/8
stud
0031075

16-14 NM

Repair &

4-6
stud
0031060

stud
0031098

)

8-10
stud
0031316

e

.250
female
0031327

3way
0031321

-

.250
male
0031330

lon Terminals
aintenance Hardware Parts
15 Wlng Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630

156-A Selig Drive Atlanta, GA (404) 696-0800

6-8
stud
0031063

8-10
stud
0031102

butt
0031112

e

157
female
0031328

8-10
stud
0031066

stud
0031097

universal
0032639

-

157
male
0031337

12-1/4
stud
0031069

o

8-10
stud
0031101

e

universal
0031336

.250
female
0032637

1930141

pieces

293-

O

1/4-5/16
stud
0031072

Cm

4-6
stud
0031315

scotchlok
0033236

male
0032638



. 1930143
Wire Nuts 231pieces

Repair & Maintenance Hardware Parts
15 Wing Drive Cedar Knolls, NJ (973) 267-4100 Outside NJ :800-526-0630
156-A Selig Drive Atlanta, GA (404) 696-0800

; 22-16 ; 22-14 ; 22-14
f grey f blue 1 orange
@ 1540005 =y 1540006 =y 1540007

25 25 25

i 18-10 ;
yellow red
@g 1540008 @g 1540009 AC sensor

25 25 0031900
1
l 12-6 l 14-8 l 16-10
L " L[ L
0031401 0031402 0031403
25 25 25
il 18-12 il 22-8 il 20-8
’ ‘ yellow ’ ‘ yellow ’ ‘ red
| 0031404 | 0031400 | 0031399

10 10 10



Nylon Nuts 1930144

i i 375 Pi
Repair & Maintenance Hardware Parts leces
15 Wing Drive Cedar Knolls, NJ (973)267-4100 Outside NJ (800) 526-0630

156-A Selig Drive Atlanta, GA (404)696-0800

@ = B
GM Ford GM
#6 or #8 48 or #10 48
142-9829 142-9862 142-10330 142-11368
25 25 50 25

My ¥

GM
#14 (1/4”) #8 or #10
142-11719 142-13933
25 25

GM

GM Honda/Mazda/Nissan
#8 #8 #10
142-14003 142-13960 142-14313
10 25 10

Nissan/Toyota

Honda/Mazda/Nissan/ Toyota

Honda/Toyota
#6 #10 #8
142-14268 142-14275 142-14695 142-13450
10 10 10 25



— — Metric Gr 8.8 Nuts, Flat & Lock Washers 1930145

—— Repair & Maintenance Hardware Parts 525 pieces

15 Wing Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630 203.

e - 156-A Selig Drive Atlanta, GA (404) 696-0800

4M 5M 6M ™ 8M 10M
nut nut nut nut nut nut
0680041 0680051 0680061 0680071 0680081 0680100
25 25 25 25 25 25
4M 5M 6M ™ 8M
nut flat washer flat washer flat washer flat washer flat washer
0680120 0680042 0680052 0680062 0680072 0680082
25 25 25 25 25 25
10M 12M 4M 5M 6M ™
flat washer flat washer lock washer lock washer lock washer lock washer
0680102 0680122 0680004 0680005 0680006 0680007
25 25 25 25 25 25
8M 10M 12M
lock washer lock washer lock washer
0680008 0680010 0680012
25 25 25



6M
nut

1680061
2%

=

6M
flat washer
1680062
50

&

6M
lock washer
0680006
50

N

6M
lock nut

0680561
25

Metric Grade10.9 Nut,Flat & Lock Washers

Repair & Maintenance Hardware Parts
15 Wing Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630

156-A Selig Drive Atlanta, GA (404) 696-0800

‘@‘
P =

sM
nut

1680081
25

=

8m
flat washer
1680082
50

&

8M
lock washer
0680008
50

N

sM
lock nut

0680581
25

i
r‘@’

10M
nut
1680100
25

=

10M
flat washer
1680102
50

&

10M
lock washer
0680010
50

N

10M
lock nut

0685100
2R

12M
nut

1680120
10

=

12M
flat washer
1680122
25

=

12M
lock washer
0680012
50

N

12M
lock nut

0685120
10

i
r‘@’

14M
nut
1680141
10

=

14M
flat washer
1680142
10

&

14M
lock washer
0680014
25

N

14M
lock nut

0685141
10

1930146

635 pieces

293-

i
r‘@’

16M
nut

1680160
R

=

16M
flat washer
1680162
10

&

16M
lock washer
0680016
25

N

16M
lock nut

0685160
R



Pan Head Self-Drilling Screws 1930147
Repair & Maintenance Hardware Parts 750 pieces
15 Wing Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630

156-A Selig Drive Atlanta, GA (404) 696-0800

¥
¥

6 x1/2 6 x 3/4 6x1
Phillips Pan Phillips Pan Phillips Pan
1551106 1551108 1551110
50 50 50
8x1/2 8x3/4 8x1 8x1-1/4 8x1-1/2
Phillips Pan Phillips Pan Phillips Pan Phillips Pan Phillips Pan
1551114 1551116 1551118 1551119 1551120
50 50 50 50 50
8x2 10 x 1/2 10 x 3/4 10 x 1 10 x 1-1/2
Phillips Pan Phillips Pan Phillips Pan Phillips Pan Phillips Pan
1551121 1551124 1551126 1551128 1551129
50 50 50 50 25
10 x 2 12 x 3/4 12x 1 12 x 1-1/2
Phillips Pan Phillips Pan Phillips Pan Phillips Pan
1551130 1551132 1551133 1551134
25 25 50 25



(Pome

6 x1/2
Phillips Flat Head
1553006

50
6 x 3/4
Phillips Flat Head

1553008
50

(Pome

6x1
Phillips Flat Head
1553010
50

Flat Head Self-Drilling Screws

Repair & Maintenance Hardware Parts
15 Wing Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630

156-A Selig Drive Atlanta, GA (404) 696-0800

¥
¥

8 x1/2 8 x1-1/4
Phillips Flat Head Phillips Flat Head
1553015 1553019
50 50

¥

8 x 3/4
Phillips Flat Head
1553016
50

¥
¥

8x1 8x2
Phillips Flat Head Phillips Flat Head
1553018 1553021
50 50

¥

10 x 1/2
Phillips Flat Head
1553024
50

¥

10 x 3/4
Phillips Flat Head
1553026
50

¥

10x 1
Phillips Flat Head
1553028
50

¥

10 x 1-1/2
Phillips Flat Head
1553029
25

¥

10 x 2
Phillips Flat Head
1553030
25

(oo

12 x 1
Phillips Flat Head
1553036
50

e

12 x 1-1/2
Phillips Flat Head
1553038
25

1930148
900 pieces

¥

14 x 3/4
Phillips Flat Head
1553042
50

¥

14 x 1
Phillips Flat Head
1553043
25

¥

14 x 1-1/4
Phillips Flat Head
1553044
25

¥

14 x1-1/ 2
Phillips Flat Head
1553045
25



1930149
1000 pieces

Hex Head Self-Drilling Screws

Repair & Maintenance Hardware Parts
15 Wing Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630

156-A Selig Drive Atlanta, GA (404) 696-0800

6x1/2 6 x1-1/2 8x1-1/4 10 x 3/4 12 x 1 14 x 3/4
Hex Head Hex Head Hex Head Hex Head Hex Head Hex Head
1554006 1554012 1554017 1554026 1554036 1554042
50 50 50 50 25 50

6 x 3/4 8x1/2 8 x1-1/2 10x1 12 x1-1/4 14 x1
Hex Head Hex Head Hex Head Hex Head Hex Head Hex Head
1554008 1554015 1554019 1554028 1554037 1554044
50 50 50 50 50 25

6x1 8 x3/4 8x2 10 x 1-1/2 12 x1-1/2 14 x 1-1/2

Hex Head Hex Head Hex Head Hex Head Hex Head Hex Head

1554010 1554016 1554020 1554035 1554038 1554046
50 50 50 25 25 25

6 x1-1/4 8x1 10 x1/2 10x2 12x 2 14 x2

Hex Head Hex Head Hex Head Hex Head Hex Head Hex Head

1554011 1554018 1554024 1554034 1554039 1554048
50 50 50 25 25 25



— Phi Pan & Hex Washer Self Drilling Screws 1330150
— Repair & Maintenance Hardware Parts

15 Wing Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630 2930150
156-A Selig Drive Atlanta, GA (404) 696-0800 575 Pieces
s _j_j @)m W W @m W
1/4" 0766000
5/16" 0766001 8 x1-1/2 8x1/2 10 x 5/8 10 x 2 14 x 3/4
3/8" 0766002 phillips pan hex slotted hex slotted hex slotted hex slotted
power drivers 1551120 1554015 1554025 1554034 1554042
1 50/25 50/25 50/25 25/25 50/25
8 x1/2 10 x 1/2 8 x 3/4 10x 1 12x1 14 x 1
phillips pan phillips pan hex slotted hex slotted hex slotted hex slotted
1551114 1551124 1554016 1554028 1554036 1554044
50/25 50/25 50/25 50/25 50/25 25/25
8 x 3/4 10 x 3/4 8x1 10 x 1-1/4 12 x 1-1/4 14 x 1-1/2
phillips pan phillips pan hex slotted hex slotted hex slotted hex slotted
1551116 1551126 1554018 1554030 1554037 1554046
50/25 50/25 50/25 25/25 25/25 25/25
8x1 10 x 1 10 x 1/2 10 x 1-1/2 12 x 1-1/2 14 x 2
phillps pan phillips pan hex slotted hex slotted hex slotted hex slotted
1551118 1551128 1554024 1554035 1554038 1554048
50/25 50/25 50/25 25/25 25/25 25/25



SERVICE &=

QUALITY =

RELIABILITY

i

6 x 3/8
screw
0056005
100

i

8 x1/2
screw
0056014
100

i

10 x 1/2
screw
0056024
100

i

10 x 3/4
screw
0056026
100

i

6 x 3/8
screw
0056005
100

i

8 x1/2
screw
0056014
100

i

10 x 1/2
screw
0056024
100

i

10 x 3/4
screw
0056026
100

Hex Head Self-Piercing Sheet Metal Screws

Repair & Maintenance Hardware Parts
15 Wing Drive Cedar Knolls, NJ (973) 267-4100 Outside NJ :800-526-0630

156-A Selig Drive Atlanta, GA (404) 696-0800

~<amS

7x1/2
screw
0056011
100

e

7x1/2
screw
0056011
100

1930151
1001 pieces

5=

magnetic chuck

0766000
1



Fillister Head Slotted Machine Screws 1930152

Repair & Maintenance Hardware Parts 600 pieces
15 Wing Drive Cedar Knolls, NJ (973) 267-4100 Outside NJ (800) 526-0630
156-A Selig Drive Atlanta, GA (404) 696-0800

6/32

7=
‘@”
L !

8/32

/=
‘@‘
L !

7=
‘@”
L !

7=
‘@”
L !

LA

10/24 10/32 1/4-20 6/32 x 3/8
nut nut nut nut nut screw

0630006 0630008 0630010 0630011 0630014 0610606
25 25 25 25 25 25

QUL

QUL

6/32 x 1/2 6/32 x 1 8/32 x 1/2 8/32 x 3/4 8/32 x 1 8132 x 1-1/4
screw screw screw screw screw screw
0610608 0610616 0610808 0610812 0610816 0610820
25 25 25 25 25 25

LA

10/24 x 1/2

10/24 x 3/4

LA

LA

LA

10/24 x 1 10/24 x 1-1/4 10/32 x 1/2 10/32 x 3/4
screw screw screw screw screw screw
0611008 0611012 0611016 0611020 0611108 0611112
25 25 25 25 25 25

LA

10/32 x 1

LA

LA

LA

LA

LA

10/32 x 1-1/2 1/4 x 1/2 1/4 x 3/4 1/4 x 1 1/4 x 1-1/2
screw screw screw screw screw screw
0611116 0611124 0611408 0611412 0611416 0611424
25 25 25 25 25 25



e
! @"
o =

4/40
nut
0640004
25

o=

4/40 x 1/4
screw
0650404
25

=

4/40 x 3/8
screw
0650406
25

=

4/40 x 1/2
screw
0650408
25

Brass Round Head Slotted Machine Screws

Repair & Maintenance Hardware Parts
15 Wing Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630

156-A Selig Drive Atlanta, GA (404) 696-0800

=)
‘@”

6/32
nut
0640006
25

=

6/32 x 1/2
screw
0650608
25

=

6/32 x 3/4
screw
0650612
25

=

6/32 x 1
screw
0650616
25

2
‘ @‘
o =

8/32
nut
0640008
25

=

8/32 x 1/4
screw
0650804
25

o=

8/32 x 1/2
screw
0650808
25

=

8/32 x 1
screw
0650816
25

=)
‘@”

10/24
nut
0640010
25

=

10/24 x 1/2
screw
0651008
25

=

10/24 x 3/4
screw
0651012
25

=

10/24 x1
screw
0651016
25

=)
‘@”

10/32
nut
0640011
25

=

10/32 x 1/2
screw
0651108
25

=

10/32 x 3/4
screw
0651112
25

=

10/32 x 1
screw
0651116
25

1930153
600 pieces

293-

=)
‘@”

12/24
nut
0640012
25

o=

12/24 x 1/2
screw
0651208
25

=

12/24 x 3/4
screw
0651212
25

=

12/24 x 1
screw
0651216
25




— Flat Head Phillips Sheet Metal Screws 1930155

. . 500 pi

— Repair & Maintenance Hardware Parts pleces
15 Wing Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630 293-
156-A Selig Drive Atlanta, GA (404) 696-0800

SERVICE a QUAIITY = BFEI AR

g

¥
¥
¥

P

P

6x1/2 6 x 3/4 6x1 8 x1/2 8 x 3/4 8 x1
screw screw screw screw screw screw
0053106 0053108 0053110 0053114 0053116 0053118
25 25 25 25 25 25
10 x 3/4 10 x 1 10 x 1-1/4 10 x 1-1/2 10 x 2
screw screw screw screw screw
0053126 0053128 0053129 0053130 0053158
25 25 25 25 25

¥
¥
¥
¥

12 x 3/4 12 x 1 12 x1-1/4 12 x 1-1/2
screw screw screw screw
0053134 0053136 0053137 0053138
25 25 25 25

¥
¥
¥
¥

g

14 x 3/4 14 x 1 14 x 1-1/4 14 x 1-1/2 14 x 2
screw screw screw screw screw
0053143 0053144 0053145 0053146 0053148
25 25 25 25 25



Stover Lock Nuts 1930158
Repair & Maintenance Hardware Parts 360 pieces
15 Wing Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630 203.

156-A Selig Drive Atlanta, GA (404) 696-0800

1/4-20 5/16-18 3/8-16 3/8-16 7/16-14 1/2-13
uss nut uss nut uss nut uss nut uss nut uss nut
1160004 1160005 1160006 1160006 1160007 1160008

25 25 25 25 25

1/2-13 916-12 5/8-11 5/8-11 3/4-10 3/4-10
uss nut uss nut uss nut uss nut uss nut uss nut
1160008 1160009 1160010 1160010 1160012 1160012

20 25 10

1/4-20 5/16-24 3/8-24 3/8-24 7/16-20 1/2-20
sae nut sae nut sae nut sae nut sae nut sae nut
1170004 1170005 1170006 1170006 1170007 1170008

25 25 25 25 25

1/2-20 9/16-18 5/8-18 5/8-18 3/4-16 3/4-16
sae nut sae nut sae nut sae nut sae nut sae nut
1170008 1170009 1170010 1170010 1170012 1170012

20 25 10




1/4
nut
0080004
25

D

7/16
nut
0080007
20

D

5/8
nut
0080010
5

D

1"
nut
0080016
5

SAE Castle Nuts

Repair & Maintenance Hardware Parts
15 Wing Drive Cedar Knolls, NJ (973) 267-4100 Outside NJ :800-526-0630

156-A Selig Drive Atlanta, GA (404) 696-0800

D

5/16
nut
0080005
25

D

1/2
nut
0080008
10

D

3/4
nut
0080012
5

1930160
600 pieces

D

3/8
nut
0080006
25

D

9/16
nut
0080009
5

D

7/8
nut
0080014
5



N

Snapper Pin
0750030

3/16 x 1-3/4
Linch Pin
1620005
10

41
7 TN
f 1

Yax1-1/2

Linch Pin

1620013
10

Snapper Pins & Linch Pins

Repair & Maintenance Hardware Parts
15 Wing Drive Cedar Knolls, NJ (973) 267-4100 Outside NJ :800-526-0630

156-A Selig Drive Atlanta, GA (404) 696-0800

5/16
Snapper Pin
0750031

5/16 x 1-7/16
Linch Pin
1620006
10

1930162

53 Pieces

]
L

3/8
Snapper Pin
0750032

7/16 x 1-3/4
Linch Pin
1620007
5

A =
™

4
] \

7/16 long

Linch Pin

1620014
5



2/0 x 1-1/2
pin
0860001

——

2x2
pin
0860007

r—

5x1-3/4
pin
0860013

Steel Taper Pins

Repair & Maintenance Hardware Parts
15 Wing Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630

156-A Selig Drive Atlanta, GA (404) 696-0800

——

2/0 x 2
pin
0860002

——

3x1-1/2
pin
0860008

r—

5x2
pin
0860014

&

0x1
pin
0860003

——

3x2
pin
0860009

r—

5x2-1/4
pin
0860015

1x1
pin
0860004

Heme—

4x1-1/2
pin
0860010

r—

6x2
pin
0860016

(—

1x1-3/4
pin
0860005

——

4x2
pin
0860011

r—

6 x 2-1/2
pin
0860017

1930164

pieces

293-

(—

2x1-1/4
pin
0860006

——

4x2-1/2
pin
0860012

r—

6x3
pin
0860018




6 x 20mm
17mm Washer
142-12693
10

8 x 25mm
24mm Washer
142-13613
10

6x1.0
142-12669
10

6x1.0
16mm Washer
142-12595
10

Body Bolts & Nuts

Repair & Maintenance Hardware Parts

15 Wing Drive Cedar Knolls, NJ (973)267-4100 Outside NJ (800)-526-0630
156-A Selig Drive Atlanta GA 30336 (404) 696-0800

6 X 25mm
17mm Washer
142-12065
25

8 x 30mm
24mm Washer
142-13614
10

6x1.0
142-12575
10

6x1.0
19mm Washer
142-12596
10

6 X 25mm
24mm Washer
142-12066
25

R

8 x 30mm
17mm Washer Head
142-11640
10

8x1.25

10

#6 Screw Size
142-10064
25

6 X 28mm
19mm Washer
142-12335

10 x 40mm
29mm Washer
142-11641
10

8 x1.25
142-11630
10

#8 Screw Size
142-10065
10

1930165
275 pieces

6.3 x 20mm
17mm Washer
142 12351

6 x 30mm
24mm Washer
142-13618
25

10x 1.5
142-11631
10

#10 Screw Size
142-10066
10



Retaining Clips 1930166

. 330 pi
Repair & Maintenance Hardware Parts pleces
15 Wing Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630
156-A Selig Drive Atlanta, GA (404) 696-0800

e T %

GM GM/Ford/Chrysler GM Chrysler/GM/VW GM
142-10621 142-10831 142-11120 142-11678 142-11796
25 50 10 25
GM GM GM GM/Chrysler/[Ford  Ford/Chrysler/VW
142-12137 142-12737 142-12766 142-11146 142-11351
10 25 10 10 10
— i
N L o
i 142-11130
25
Ford GM/Chrysler GM Ford/Chrysler Ford
142-12565 142-12567 142-12757 142-14019 142-13470
10 10 15 10 10

%

Honda/Mazda/Nissan Hondal/lsyzu/Nissa GM/Honda/Mazda GM GM
142-16000 142-14696 142-14697 142-13993 142-18301
10 10 10 10 10



1930167
215 pieces

Nylon & Spemalt)(I Rivets

Repair & Maintenance Hardware Parts
15 Wing Drive Cedar Knolls, NJ (973)267-4100 Outside NJ (800)-526-0630

156-A Selig Drive Atlanta GA 30336 (404) 696-0800

:( =D " ;(i__i]) ==
5mm S5mm S5mm 1/4”
Ford GM/Ford GM/VW Chrysler GM/Ford/Chry
142-15187 142-13747 142-13748 142-13755 142-13751
10 10 10 10 10
{
(i — =2
(T — | : o |) — —
1/4” 6.5mm 6.5mm 1/4” 6mm
GM/Ford/Chry GM GM/VW Chrysler GM
142-13750 142-13752 142-13753 142-18108 142-14004
10 10 10 10 10
S e ' #ﬁ
1/4” 1/4” 1/8” 3/116” 3/16”
Ford Bumper Ford/Chrysler Ford GM Ford
142-12652 142-17639 142-16834 142-17121 142-14127
10 10 10 10 10
) | ] _‘ |
1/4” 1/4” 1/8” 1/4” 1/4”
GM/Ford/Chrysler Ford/Chrysler/GM Ford Ford Door Handle Window Regulator
142-11620 142-11621 142-18304 142-18167 142-12655
10 10 25 10 10



Weather Pack Connectors 1930172

Repair & Maintenance Hardware Parts 145 pieces
15 Wing Drive Cedar Knolls, NJ (973) 267-4100 Outside NJ (800) 526-0630
156-A Selig Drive Atlanta, GA (404) 696-0800

(=

Single Cavity For Single Cavity For = Double Cavity For Double Cavity For 20-18 Ga.
Male Terminal Female Terminal Male Terminal Female Terminal Connector
0039611 0039601 0039612 0039602 0039622

O s

Triple Cavity For Triple Cavity For Four Cavity Flat Four Cavity Flat 20-18 Ga.
Male Terminal Female Terminal Male Tower Female Shroud Connector
0039613 0039603 0039614 0039604 0039620

Weather Pack
Terminal
Six Cavity Flat Six Cavity Flat Silicone 12 Ga. 16-14 Ga. Extractor Tool
Male Tower Female Shroud Cavity Plug Connector Connector 0039626
0039616 0039606 0039608 0039625 0039623

Silicone Silicone Silicone 12 Ga. 16-14 Ga.
Cable Seal 12ga Cable Seal 16-14 Cable Seal 20-18 Connector Connector
0039607 0039609 0039610 0039624 0039621



High Pressure Hydraulic Crimp Fittings 1930173

Repair & Maintenance Hardware Parts 30 pieces
15 Wing Drive Cedar Knolls, NJ (973) 267-4100 Outside NJ :800-526-0630 COLLETS NOT
156-A Selig Drive Atlanta, GA (404) 696-0800 INCLUDED

SERVICE ® QUALITY = RELIABILITY

e 57

1/4" U-Series
Collet
1730304

e 57

3/8" U-Series
Collet
1730306

e 57

1/2" U-Series
Collet
1730308

§i=

1/4 x 1/4
Male Pipe Rigid
0239002

3/18 X 1/4
Male Pipe Rigid
0239003

3/8 x 3/8
Male Pipe Rigid
0239004

1/2 x 1/2
MalePipe Rigid
0239007

14 x 1/4
Sae 37° Female Swivel
0239020

3/8 x 3/8
Sae 37° Female Swivel
0239024

12 x1/2
Sae 37° Female Swivel
0239028

3/8 x 3/8
Sae 37° Male Rigid
0239013



Mungo Nylon Anchors 1930174

Repair & Maintenance Hardware Parts 310 Pieces
15 Wing Drive Cedar Knolls, NJ (973)267-4100 Outside NJ (800) 526-0630

156-A Selig Drive Atlanta, GA (404)696-0800

Universal Plug Nylon Plug Hammer Screw Jet Plug
1/4 x 1-3/4 1/4 x 1-1/2 3/16 x 1-3/16 6x7/8
0401806 0401604 0401701 0400250
25 25 20 20
Universal Plug Nylon Plug Hammer Screw Jet Plug
5/16 x 2 516 x 1-1/2 3/16 x 2 6 x7/8
0401808 0401605 0401702 0400253
25 25 20 20
Universal Plug Nylon Plug Hammer Screw EZ Toggle
3/8 x 2-3/8 3/8 x 2 1/4 x 1-3/8 8x2
0401810 0401606 0401703 0400251
10 25 20 10
Nylon Plug Nylon Plug Hammer Screw Jet PlugPicture Hanger
316 x 1 1/2 x 2-3/8 1/4 x 2 6 x7/8
0401603 0401608 0401704 0400255
25 10 20 20

=23

Qg




Collet Air Brake Fittings

Repair & Maintenance Hardware Parts
15 Wing Drive Cedar Knolls, NJ (973)267-4100 Outside NJ (800) 520060630

1930175
110 Pieces

SERVICE ® QUALITY = RELIABILITY

15006A Selig Drive Atlanta, GA (404)690060800

®
1/8 1/8 1/8 18 Tx1/16 P
Slotted Ferrule Nut Union Male Elbow
0062000 0062003 0062006 0062013
10 10 5 5
®
5/32 5/32 5/32 18 TX1/8 P
Slotted Ferrule Nut Union Male Elbow
0062001 0062004 0062007 0062014
10 10 5 5
®
1/4 1/4 1/4 5/32 x 1/8
Slotted Ferrule Nut Union Male Elbow
0062002 0062005 0062008 0062015
10 10 5 5

18 Tx1/16 P 18 Tx1/8 P 5/132Tx1/16 P 5/132Tx1/8 P
Male Connector Male Connector Male Connector Male Connector
0062009 0062010 0062011 0062012
10 5 5 5



2
‘@"

4-40
nut
0630004
100/25

(2

4-40 x 1/4
screw
0550404
50/25

(L

8-32 x 3/4
screw
0550812
50/25

(L

10-24 x 1/2
screw
0551008
50/25

Flat Head Phillips Machine Screws

Repair & Maintenance Hardware Parts

15 Wing Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630

156-A Selig Drive Atlanta, GA (404) 696-0800

I
‘@"

6-32
nut
0630006
100/25

(2

6-32 x 1/4
screw
0550604
50/25

ﬁngMmm

8-32x1
screw

0550816
50/25

(L

10-24 x 3/4
screw
0551012
50/25

I
‘@"

8-32
nut
0630008
100/25

(2

6-32 x 1/2
screw
0550608
50/25

(L

10-32 x 1/2
screw
0551108
50/25

10-24 x 1
screw
0551016
50/25

2
‘@"

10-32
nut
0630011
100/25

(2

6-32 x 5/8
screw
0550610
50/25

ﬁywwmmm

10-32 x 3/4
screw
0551112
50/25

(s

12-24 x 1/2
screw
0551208
50/25

2
‘@"

12-24
nut
0630012
100/25

(2

8-32x1/4
screw
0550804
50/25

(L

10-32 x 1
screw
0551116
50/25

ﬁywwmmm

12-24 x 3/4
screw
0551212
50/25

1930178
1500 Pieces

2930178

600 Pieces

2
‘@"

10-24
nut
0630010
100/25

(2

8-32 x 1/2
screw
0550808
50/25

(L

10-32 x 1-1/2
screw
0551124
50/25

12-24 x 1
screw
0551216
50/25



3/16
flare nut

0060280
R

ULl

3/16
union
0060298
5

Qmp

3/16 x 1/8
connector
0060352
5

a ¥

3/16 x 1/8
elbow

0060378
R

SAE 45° Flare Brass Fittings

Repair & Maintenance Hardware Parts
15 Wing Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630
156-A Selig Drive Atlanta, GA (404) 696-0800

8 B B

1/4 5/16 3/8
flare nut flare nut flare nut
0060281 0060282 0060283
5 5 5
1/4 5/16 3/8
union union union
0060299 0060300 0060301
5 5 5
14 x1/8 5/16 x 1/8 3/8 x 1/8 3/8 x1/4
connector connector connector connector
0060354 0060358 0060362 0060361
5 5 5 5
1/4 x1/8 14 x 1/4 5/16 x 1/8 3/8 x1/4
elbow elbow elbow elbow
0060379 0060380 0060382 0060384

R R R R

1930180
102 pieces

0

1/2
flare nut
0060285

1/2
union
0060303
3

Qm

1/2 x 3/8
connector
0060368
3

a ¥

1/2 x 3/8
elbow

0060390
2



Brass Compression Tube Fittings 1930182
Repair & Maintenance Hardware Parts 237 pieces
15 Wing Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630
156-A Selig Drive Atlanta, GA (404) 696-0800
1/8 3/16 1/4 5/16 3/8 1/8 x 1/8
sleeve sleeve sleeve sleeve sleeve elbow
0060101 0060103 0060104 0060105 0060106 0060212
25 25 25 25 25 3
1/8 3/16 1/4 5/16 3/8 3/16 x 1/8
nut nut nut nut nut elbow
0060111 0060113 0060114 0060115 0060116 0060213
10 10 10 10 10 3
1/8 3/16 1/4 5/16 3/8 1/4 x 1/8
union union union union union elbow
0060132 0060133 0060134 0060135 0060136 0060215
5 5 5 5 5 3
1/8 x 1/8 3/16 x 1/8 1/4 x 1/8 5/16 x 1/8 3/8 x1/4 5/16 x 1/8
male connector male connector male connector male connector male connector elbow
0060186 0060187 0060189 0060192 0060195 0060218
5 5 5 5 5 3



1930185

88 pieces

—— SAE 45° Flare Brass Fittings

— Repair & Maintenance Hardware Parts
15 Wing Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630

156-A Selig Drive Atlanta, GA (404) 696-0800

SERVICE e

0

-y

0

0

3/16 1/4 5/16 3/8 1/2
flare nut flare nut flare nut flare nut flare nut
0060289 0060290 0060291 0060292 0060294

5 5 5 5 3

3/16 1/4 5/16 3/8 1/2

union union union union union
0060298 0060299 0060300 0060301 0060303

5 5 5 3 3
3/16 x 1/8 1/4 x 1/8 5/16 x 1/8 3/8 x 1/8 3/8 x1/4 1/2 x 3/8

male connector male connector male connector male connector male connector male connector

0060352 0060354 0060358 0060362 0060361 0060368

5 5 5 3 3 3
3/16 x 1/8 1/4 x 1/8 14 x 1/4 5/16 x 1/8 3/8 x1/4 1/2 x 3/8

male elbow male elbow male elbow male elbow male elbow male elbow

0060378 0060379 0060380 0060382 0060384 0060390

5 5 5 5 3 3



1/4 mp x 1/8 fp
bushing
0060598

5

1/8 fp x 1/8 mp
adapter
006059

5

=

1/4 x 1/8
reducing coupler
0060616
5

3
3/8
cap

0060542
5

Brass Pipe Adapters

Repair & Maintenance Hardware Parts
15 Wing Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630

156-A Selig Drive Atlanta, GA (404) 696-0800

3/8 mp x 1/8 fp

bushing
0060599

1/4 fp x 1/4 mp
adapter
0060591

5

=

3/18 x 1/8
reducing coupler
0060617
5

|
1/2
cap

0060549
3

3/8 mp x 1/4 fp

bushing
0060600

1/4 fp x 1/8 mp
adapter
0060592

5

=

3/8 x 1/4
reducing coupler
0060618
5

323
1/8
hex plug
0060580
5

12 mp x1/8 fp

bushing
0060601

3/8 fp x 3/8 mp
adapter
0060593

5

=

1/2 x 3/8
reducing coupler
0060619
3

323
1.4
hex plug
0060581
5

12 mp x1/4 fp
bushing

0060602
5

3/8 fp x 1/4 mp
adapter
0060595

5

3/8
hex plug
0060582

5

1930187
114 pieces

1/2 mp x 3/8 fp

bushing
0060603

1/2 fp x 3/8 mp
adapter
0060597

5

1/2
hex plug
0060583

3



SERVICE m QUALITY = RELIABILITY

LJ‘m,U l]]]

1/8
close
0060628
5

LJ‘m,U l]]]

1/4
close
0060629
5

3/8
close

0060630
5

LJ‘m,U l]]]

1/2
close
0060631
5

Brass Pipe Nipples

Repair & Maintenance Hardware Parts

15 Wing Drive Cedar Knolls, NJ (973) 267-4100 Outside NJ :800-526-0630
156-A Selig Drive Atlanta, GA (404) 696-0800

1/8
hex
0060620
5

1/4
hex
0060621
5

3/8
hex
0060623
5

1/2
hex
0060626
5

1/4 x 1/8

reducing

0060622
5

3/18 x 1/4

reducing

0060624
5

3/8 x 1/8

reducing

0060625
5

1/2 x 3/8

reducing

0060627
5

1930188

60 Pieces



Brass Pipe Nipples 1930189

Repair & Maintenance Hardware Parts 72 Pieces
15 Wing Drive Cedar Knolls, NJ (973)267-4100 Outside NJ (800) 526-0630

156-A Selig Drive Atlanta, GA (404)696-0800

i

I

i

1/8 x 2

i

1/8 x 1-1/2 1/8 x 2-1/2 1/8 x 3
long nipple long nipple long nipple long nipple
0060633 0060637 0060641 0060645
5 5 5 3

1/4 x 1-1/2 1/4 x 2 1/4 x 2-1/2 14 x 3
long nipple long nipple long nipple long nipple
0060634 0060638 0060642 0060646
5 5 5 3

3/8 x 1-1/2 3/8 x 2 3/8 x 2-1/2 3/18 x3
long nipple long nipple long nipple long nipple
0060635 0060639 0060643 0060647
5 5 5 3

i

1/2 x 1-1/2 1/2 x 2 1/2 x 2-1/2
long nipple long nipple long nipple long nipple
0060636 0060640 0060644 0060648
5 5 5 A

i

12 x 3



Brass Pipe Fittings 1930190

Repair & Maintenance Hardware Parts 53 Pieces
15 Wing Drive Cedar Knolls, NJ (973)267-4100 Outside NJ (800) 526-0630

156-A Selig Drive Atlanta GA 30336 (404) 696-0800

rp S &Y )

1/8 1/8 1/8 1/8 1/8
Street elbow tee 45° street elbow elbow cross
0060653 0060667 0060649 0060658 0060672
emay [ L \ ﬂ‘ >
ﬁﬁ - "_IJ % i ‘_:]
1/4 1/4 1/4 1/4 1/4
Street elbow tee 45° street elbow elbow Cross
0060654 0060668 0060650 0060659 0060673
- i " \ -y‘ .
%_- —"' "_IJ % ] _:]
3/8 3/8 3/8 3/8 3/8
Street elbow tee 45° street elbow elbow cross
0060656 0060669 0060651 0060660 0060674
- i " : -y‘ =]
@ e g > ) o
1/2 1/2 1/2 1/2 1/2
Street elbow tee 45° street elbow elbow cross

0060657 0060670 0060652 0060661 0060675



Tamper

6 x1/2
screw
1600608

8 x 3/4
screw
1600812

10 x 3/4
screw
1601012

0og

% 0 a

# 6-# 8
socket
1600001

Repalr &

6 x 3/4
screw
1600612

8x1
screw
1600816

10 x 1
screw
1601016

0og

% 0 a

#10
socket
1600002

6x1
screw
1600616

8 x1-1/2
screw
1600824

10 x 1-1/2
screw
1601024

roof Round Head Wood-Metal Screws

aintenance Hardware Parts
15 Wing Drive Cedar Knolls, NJ (973)267-4100 Outside NJ (800) 526-0630

156-A Selig Drive Atlanta, GA (404)696-0800

1930192

Pieces

8 x1/2
screw
1600808

10 x1/2
screw
1601008

10 x 2
screw
1601032



SERVICE ® QUALITY = RELIABILITY

(-

1/4
insert
1280603
20

i

3/8
insert
1280604
20

i

1/2
insert
1280606
20

Air Brake Fittings for Nylon Tubing

Repair & Maintenance Hardware Parts
15 Wing Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630

156-A Selig Drive Atlanta, GA (404) 696-0800

(

1/4
sleeve
0061001
20

(

3/8
sleeve
0061002
20

(

1/2
sleeve
0061003
20

&

1/4
nut
0061006
10

&

3/8
nut
0061007
10

(&

1/2
nut
0061008
10

S(v@C

1/4
union
0061011
5

(@

3/8
union
0061012
5

S(vEC

1/2
union
0061013
5

e

1/4 x 1/8
male connector
0061032
5

e

3/8 x 1/4
male connector
0061036
5

K dime

1/2 x 3/8
male connector
0061040
5

1930194
191 pieces

a?

1/4 x 1/8
male elbow
0061049
5

@’

3/18 x1/4
male elbow
0061052
3

a?

1/2 x 3/8
male elbow
0061058
3



#40
spring clip link
5163040

#80
cottered link
5163080

# 60
offset link
5164060

A

#50
roller link
5165050

#50

spring clip link

5163050

#40
offset link
5164040

# 80
offset link
5164080

4

# 60
roller link
5165060

Roller Chain Connecting & Offset Links 1930196

Repair & Maintenance Hardware Parts
15 Wing Drive Cedar Knolls, NJ (973) 267-4100 Outside NJ :800-526-0630

156-A Selig Drive Atlanta, GA (404) 696-0800

#60
cottered link
5163060

#50
offset link
5164050

A

#40
roller link
5165040

4

#80
roller link
5165080



Circuit Breakers 1930197

Repair & Maintenance Hardware Parts 30 Pieces
15 Wing Drive Cedar Knolls, NJ (973)267-4100 Outside NJ (800) 526-0630

156-A Selig Drive Atlanta, GA (404)696-0800

o’
PO

o’
o5

o’
o5

o’
PO

10 amp 15 amp 20 amp 30 amp
shap-in shap-in shap-in shap-in
5120009 5120010 5120011 5120012
2 2 2 2
10 amp 20 amp 30 amp
tong tong tong
5120025 5120026 5120027
2 2 2
i = o =
20 amp 15 amp 20 amp 30 amp
tab post post post
5120028 5120005 5120006 5120007
2 2 2 2
30 amp 40 amp 20 amp 30 amp
tab post post bracket post bracket
5120029 5120008 5120030 5120031
2 2 2 2



Reducing Bushings & Couplers

Repair & Maintenance Hardware Parts 1930198
15 Wing Drive Cedar Knolls, NJ (973) 267-4100 Outside NJ :800-526-0630 71 pieces

156-A Selig Drive Atlanta, GA (404) 696-0800

YaX1/8 Yax 118 3/8 x 1/8
bushing reducing coupler reducing coupler
0060598 0060616 0060617
10 10 5
i F —_
H & '
3/8 x 1/8 3/18 x Va 3/18 x 1/4
bushing bushing reducing coupler
0060599 0060600 0060618
10 10 5
i i i
& & &

Y2x 118 2x 114 Y2 x 318
bushing bushing bushing
0060601 0060602 0060603

5 5 5
i i ,_‘
5 & |

% x 3/8 Yax1/2 Y2 x 3/8
bushing bushing reducing coupler
0060605 0060606 0060619

2 2 2



Clear 6/6 Nylon TX raps
a

Repair & Maintenance Hardware Parts 115%39200
15 Wing Drive Cedar Knolls, NJ (973) 267-4100 Outside NJ :800-526-0630 pieces

156-A Selig Drive Atlanta, GA (404) 696-0800

|@_U SRR A TR AR RARRRDRRARN D, 3-1304E

E

3-3/4 “miniature

E[_',_[_I JIRIMNNnm im D) 3-1305E
E
5-7/8" intermediate

| ED: LT T T D) 3-1386E

E
7-15/16" standard
) 3-1387E
E
12" standard
T i e aees )
3-1303 E
E
15" heavy duty
T 0 et )
3-1307E
E

8-5/16 standard mounting



Black 6/6 Nylon Ty-raps

Repair & Malntenance ardware Parts 1930201
15 Wing Drive Cedar Knolls, NJ (201) 267-4100 Outside NJ :800-526-0630 150 pieces

156-A Selig Drive Atlanta, GA (404) 696-0800

|@_U SRR A TR AR RARRRDRRARN D, 3-1392E

E

3-3/4 “miniature

EE;',_U T i D 3-1393E
E

5-7/8" intermediate

| ED: LT T T D) 3-1394E

E
7-15/16" standard
) 3-1395E
E
12" standard
T i e aees )
31397 E
E
15" heavy duty
T 0 et )
3-1398E
E

8-5/16 standard mounting



Machinist Files & Handles

Repair & Maintenance Hardware Parts
15 Wing Drive Cedar Knolls, NJ (973) 267-4100 Outside NJ: 800-526-0630

156-A Selig Drive Atlanta, GA (404) 696-0800

0690051
6" Flat Bastard
0690106
handle

0690053
10" Flat Bastard
0690113

0690061
12" Half Round
0690113
Handle

0690071
10" Round
Bastard
0690110

0690011
8" Triangular
Bastard
0690110

RESERVE

1930202

10 pieces




Saw Files

Repair & Maintenance Hardware Parts 1930203
15 Wing Drive Cedar Knolls, NJ (973) 267-4100 Outside NJ :800-526-0630 10 pieces
156-A Selig Drive Atlanta, GA (404) 696-0800

SERVICE ®» QUALITY = RELIABILITY

Mill Bastard 8"
0690001
0690106

handle

Mill Bastard 10"
0690002

handle
T —sestaagmmm:

Slim Taper 10"
0690031
0690110
handle

8” x 7/32” Round Chain Saw
0690084
0690110
handle

8" Extra Slim Taper
0690086

| CI——— 0690104

handle

RESERVE



Hvy Wall Adhesive Sealant Shrink Tubing 1930204

Repair & Maintenance Hardware Parts 11 pieces
15 Wing Drive Cedar Knolls, NJ (973) 267-4100 Outside NJ :800-526-0630

156-A Selig Drive Atlanta, GA (404) 696-0800

0031426
3
18-14 ga

0031419
2
8-1ga

0031419
2
8-1ga

0031420
2
2-4/0 ga

0031420
2
2-4/0 ga

0031427
4/0-400MCM




D.O.T. LF3000 Instant Air Brake Fittings 1930206

Repair & Maintenance Hardware Parts 40 Pieces
15 Wing Drive Cedar Knolls, NJ (973) 267-4100 Outside NJ (800) 526-0630

156-A Selig Drive Atlanta, GA (404) 696-0800

.

T

.

3/8 3/8 x 1/4 3/8 x1/4 1/2 x 3/8 1/2
union male connector male elbow male connector union
1101006 1101464 1101864 1101486 1101008
3 3 3 2 2
3/8 3/8 x 3/8 3/8 x 3/8 12 x 1/2 1/2
union tee male connector male elbow male connector union tee
1101106 1101466 1101866 1101488 1101108
3 3 3 2 2
3/8 3/8 x 1/2 3/8 x1/2 1/2 x 3/8 1/2
union elbow male connector male elbow male elbow union elbow
1101206 1101468 1101868 1101886 1101208
3 3 1 2 2
12 x 1/2 12 x 1/2
male connector male elbow

1101488 1101888

2

1



1930208
46 pieces

D.O.T. LF3000 Air Brake Fittings

Repair & Maintenance Hardware Parts
15 Wing Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630

156-A Selig Drive Atlanta, GA (404) 696-0800

1/4 3/8 1/2
union union union
1101004 1101006 1101008
5 3 2
1/4 x 1/8 14 x 1/4 3/18 x 1/4 3/18 x1/2 1/2 x 3/8 12 x1/2
male connector male connector male connector male connector male connector male connector
1101442 1101444 1101464 1101468 1101486 1101488
3 3 2 2 2 1
1/4 x 1/8 14 x 1/4 3/8 x 1/4 3/8 x 3/8 3/8 x 1/2 1/2 x 3/8
male elbow male elbow male elbow male elbow male elbow male elbow
1101842 1101844 1101864 1101866 1101868 1101886
3 3 2 2 1 1
12 x1/2 1/4 3/8 1/2 1/4 3/8
male elbow union elbow union elbow union elbow union tee union tee
1101888 1101204 1101206 1101208 1101104 1101106
1 3 2 1 2 2



Sp rlng Roll Pins 1930211
Repair & Maintenance Hardware Parts 775 pieces
15 Wlng Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630 2930211
SSSSS ihededbbbad  156-A Selig Drive Atlanta, GA (404) 696-0800 395 pieces
= = = = = =
116 x 1/2 3/132x1 5/32 x 3/4 1/4 x 1-1/4 5/16 x 2 7/16 x 2
pin pin pin pin pin pin
1390401 1390605 1391003 1391606 1392009 1392809
50/25 50/25 50/25 50/25 25/10 5/5
| == = = | |
5/64 x 1/2 1/8 x 1/2 3/16 x 3/4 1/4 x 2 5/16 x 2-1/2 7/16 x 2-1/2
pin pin pin pin pin pin
1390501 1390801 1391203 1391609 1392011 1392811
50/25 50/25 50/25 25/10 25/10 5/5
| | = )
5/64 x 5/8 1/8 x 1 3/16 x 1-1/4 516 x 1 3/8 x2 1/2 x 2
pin pin pin pin pin pin
1390502 1390805 1391206 1392005 1392409 1393209
50/25 50/25 50/25 25/10 20/10 5/5
= = == = == |
3/132 x1/2 1/8 x 1-1/4 3/16 x 1-1/2 5/16 x 1-1/2 3/8x3 1/2 x 2-1/2
pin pin pin pin pin pin
1390601 1390806 1391207 1392007 1392415 1393211
50/25 50/25 25/10 25/10 10/5 5/5



Automotive Fuses 1930212
Repair & Maintenance Hardware Parts P

15 Wing Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630 2930212
156-A Selig Drive Atlanta, GA (404) 696-0800 172 pieces

SFE 4
glass
0035001
10/5

glass
0035006
2010

W)

ATC 3
VIOLET
0035027

10/5

W)

ATC 4
PINK
0035028
10/5

SFE 6
glass
0035002
10/5

glass

20/10

AGC 10
glass
0035015
2010

W)

ATC 5
TAN
0035029
20/10

SFE 7-1/2
glass
0035003
10/5

AGA 1
glass
0035007
5/5

AGC 15
glass
0035016
20/10

W)

ATC 7-1/2
BROWN
0035030

10/5

SFE 9
glass
0035004
10/5

AGC2
glass

10/5

AGC 30
glass
0035019
20/10

W)

ATC 10
RED
0035031
20/10

SFE 14
glass
0035005
20/10

AGA 5
glass
0035008
20/10

W)

ATC 25
CLEAR

0035025
20/10

W)

ATC 15
BLUE
0035032
20/10

In-line
Fuse Holder
0030722
11

ATC
Fuse Holder

0035508
11

W)

ATC 30
GREEN

0035026
20/10

W)

ATC 20
YELLOW
0035022

20/10



Alloy Socket Set Screws

Repair & Maintenance Hardware Parts 1930213
15 Wing Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630 600 pieces

156-A Selig Drive Atlanta, GA (404) 696-0800

SERVICE ® QUALITY = RELIABILITY

6/32 x 3/16
screw
0490014
25

6/32 x 1/4
screw
0490015
25

6/32 x 3/8
screw
0490017
25

6/32 x 1/2
screw
0490019
25

8132 x 1/4
screw
0490024
25

8/32 x 3/8
screw
0490026
25

8/32 x 1/2
screw
0490028
25

8/32 x 3/4
screw
0490030
25

10/24 x 1/4
screw
0490033
25

10/24 x 3/8
screw
0490035
25

10/24 x 1/2
screw
0490037
25

10/24 x 3/4
screw
0490039
25

10/32 x 1/4
screw
0490044
25

10/32 x 3/8
screw
0490046
25

10/32 x 1/2
screw
0490048
25

10/32 x 3/4
screw
0490050
25

1/4 x 1/4
screw
0490055
25

1/4 x 3/8
screw
0490057
25

1/4 x 1/2
screw
0490059
25

1/4 x 3/4
screw
0490061
25

5/16 x 3/8
screw
0490066
25

516 x 1/2
screw
0490068
25

5/16 x 5/8
screw
0490069
25

5/16 x 3/4
screw
0490070
25



Internal & External Retaining Rings 1930214

. - 840 Pi
Repair & Maintenance Hardware Parts 160es
15 Wing Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630 2930214
156-A Selig Drive Atlanta, GA (404) 696-0800 400 Pieces

5/16
1210031
50/25

11/16
1210068
25110

1/4
1200025
50/25

5/8
1200062
50/25

3/8
1210037
50/25

3/4
1210075
25110

5/16
1200031
50/25

3/4
1200075
25110

716
1210043
50/25

718
1210087
25/10

3/8
1200037
50/25

7/8
1200084
25/10

1/2
1210050
50/25

1ll
12100100F
25/10

716
1200043
50/25

1ll
1200100
25/10

9/16
1210056
50/25

1-1/8
1210112
10/5

1/2
1200050
50/25

1-1/8
1200112
10/5

5/8
1210062
50/25

1-1/4
1210125
10/5

9/16
1200055
50/25

1-1/4
1200125
10/5



116 x 3/4
pin
0410403
250/50

C————=

116 x 1
pin
0410405
250/50

C——=x=

116 x 1-1/2
pin
0410407
125/50

C——=x=

116 x 2
pin
0410409
125/50

Steel Cotter Pins

Repair & Maintenance Hardware Parts
15 Wing Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630

156-A Selig Drive Atlanta, GA (404) 696-0800

C——=x=

3/32 x 3/4
pin
0410603
250/50

C——=x=

3/32x1
pin
0410605
250/50

C——=x=

3/32 x1-1/2
pin
0410607
125/50

C——=x=

3/32x 2
pin
0410609
125/50

C——=x=

1/8 x 3/4
pin
0410803
250/50

C——=x=

1/8 x 1
pin
0410805
250/50

C——=x=

1/8 x 1-1/4
pin
0410806
125/50

=

1/8 x 1-1/2
pin
0410807
125/50

C——=x=

1/8 x 2
pin
041809
125/50

C——=x=

1/8 x 2-1/2
pin
0410811
125/50

C——=x=

5/32 x 1-1/2
pin
0411007
125/50

C————=

5/32 x 1-3/4
pin
0411008
125/50

C——=x=

5/32 x 2
pin
0411009
125/50

C——=x=

5/32 x 2-1/2
pin
0411011
50/25

C————=

3/16 x 1-1/2
pin
0411207
50/25

C————=

3/16 x 2
pin
0411209
50/25

1930215
3125 Pieces

2930215
1025 Pieces

C———=

3/16 x 2-1/2
pin
0411211
25/25

C———=

1/4 x 1-1/2
pin
0411607
25/25

C——=x=

1/4 x 2
pin
0411609
25/25

C————=

1/4 x 2-1/2
pin
0411611
25/25



Flat Head Phillips Masonite Screws 1930216

i i 250 Pi
Repair & Maintenance Hardware Parts leces
15 Wing Drive Cedar Knolls, NJ (973) 267-4100 Outside NJ :800-526-0630

156-A Selig Drive Atlanta, GA (404) 696-0800

316 x 1-1/4 14 x 1-1/4 1/4 x 3-1/4
screw screw sSCcrew
0401006 0401406 0401414
25 25 25
3/16 x 1-3/4 1/4 x 1-3/4 1/4 x 4
screw screw sSCcrew
0401008 0401408 0401415
25 25 25
316 x 2-14 1/4 x 2-1/4
screw sSCcrew
0401010 0401410
25 25
3/16 x 2-3/4 1/4 x 2-3/4
screw sSCcrew
0401012 0401412

25

25



Hex Head Phillips Masonite Screws 1930217

Repair & Maintenance Hardware Parts .
15 Wing Drive Cedar Knolls, NJ (973) 267-4100 Outside NJ :800-526-0630 250 Pieces

156-A Selig Drive Atlanta, GA (404) 696-0800

SERVICE ® QUALITY = RELIABILITY

=tz e K=o
3/16 x 1-1/4 1/4 x 1-1/4 1/4 x 3-1/4
screw screw screw
0401106 0401506 0401514
25 25 25
e e T
3/16 x 1-3/4 1/4 x 1-3/4 14 x 4
screw screw screw
0401108 0401508 0401515
25 25 25
e e
3/16 x 2-14 1/4 x 2-1/4
screw screw
0401110 0401510
25 25
=tz e
3/16 x 2-3/4 1/4 x 2-3/4
screw screw
0401112 0401512
25 25



SERVICE ® QUALITY = RELIABILITY

threadlocker
blue
0801350
1

metals
S adhesive o
== 0800085 ==
1

wuw_“_’:"_./ .
——

instant gel
adhesive
0803000
1

Adhesive & Sealants

Repair & Maintenance Hardware Parts
15 Wing Drive Cedar Knolls, NJ (973) 267-4100 Outside NJ :800-526-0630
156-A Selig Drive Atlanta, GA (404) 696-0800

threadlocker
red
0801550
1

plastics

adhesive

0800077
1

e AN 7567
eire smm" wih e

N.
e

pipe sealant
adhesive
5140204
1

H
#

threadlocker
green
0801710
1

rubber
adhesive
0808300
1

1930218

8 Pieces



1/4" Hex Insert Bits & Power Drivers

Repair & Maintenance Hardware Parts
15 Wing Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630

156-A Selig Drive Atlanta, GA (404) 696-0800

— E= so—= g5 =

#1 phillips # 2 phillips # 3 phillips # 1phillips # 2phillips
insert bit insert bit insert bit power drivebit power drivebit
0761001 0761002 0761003 0761004 0761005

=) =) E=J) E

4F-5R 6F- 8R 8F - 10R 10F- 12R
slotted insert bit slotted insert bit slotted insert bit slotted insert bit
0762001 0762002 0762003 0762004

1930219

pieces

293-

BH =

# 3phillips
power drivebit
0761006



%

3 amp
Violet -atm
0035303

5 amp
Orange - atm
0035305

7.5 amp
Brown - atm
0035307

10 amp
Red- atm
0035310

ATM Glo-lite Fuses

Repair & Maintenance Hardware Parts
15 Wing Drive Cedar Knolls, NJ (973) 267-4100 Outside NJ :800-526-0630

156-A Selig Drive Atlanta, GA (404) 696-0800

%

15 amp
Blue-atm
0035315

20 amp
Yellow - atm
0035320

25 amp
White - atm
0035325

30 amp
Green -atm
0035330

1930222
80 pieces



%

3 amp
Violet -atc
0035403

5 amp
Orange - atc
0035405

7.5 amp
Brown - atc
0035407

10 amp
Red- atc
0035410

ATC Glo-lite Fuses

Repair & Maintenance Hardware Parts
15 Wing Drive Cedar Knolls, NJ (973) 267-4100 Outside NJ :800-526-0630

156-A Selig Drive Atlanta, GA (404) 696-0800

%

15 amp
Blue-atc
0035415

20 amp
Yellow - atc
0035420

25 amp
White - atc
0035425

30 amp
Green -atc
0035430

1930223
80 pieces



ATC/ATM Glo-lite Fuses

. , 1930224
Repair & Maintenance Hardware Parts 160 pcs
15 Wing Drive Cedar Knolls, NJ (973)267-4100 Outside NJ (800) 526-0630
T e 156-A Selig Drive Atlanta, GA (404)696-0800
3 amp 15 amp 3 amp 15 amp
Violet -atm Blue-atm Violet -atc Blue-atc
0035303 0035315 0035403 0035415
5amp 20 amp 5 amp 20 amp
Orange - atm Yellow - atm Orange - atc Yellow - atc
0035305 0035320 0035405 0035420
7.5 amp 25 amp 7.5 amp 25 amp
Brown - atm White - atm Brown - atc White - atc
0035307 0035325 0035407 0035425
10 amp 30 amp 10 amp 30 amp
Red- atm Green -atm Red- atc Green -atc
0035310 0035330 0035410

0035430



C=a

#6 Ring -Red
0039401
10

C=a

Y2 Ring-Red
0039404
10

. =‘ﬂ'1

Female QD .250 -Red
0039407
10

—=

Bullet plug
Red
0039434
5

22-18 Krimp-N-Seal Terminals

Repair & Maintenance Hardware Parts
15 Wing Drive Cedar Knolls, NJ (973) 267-4100 Outside NJ :800-526-0630

156-A Selig Drive Atlanta, GA (404) 696-0800

C=a

#8 Ring-Red
0039402
10

#10 Fork Red
0039405
10

\ - -iani

Male QD .250 -Red
0039408
10

Bullet Receptical
Red
0039435
5

1930225
pieces

C=a

#10 Ring- Red
0039403
10

Butt -Red
0039406
20

Stepdown Butt
Blue to Red
0039425
5



16-14 Krimp-N-Seal Terminals

Repair & Maintenance Hardware Parts
15 Wing Drive Cedar Knolls, NJ (973)267-4100 Outside NJ (800) 526-0630
156-A Selig Drive Atlanta, GA (404)696-0800

SERVIGE s QUALITY & RELIABILITY

C=l

#8 Ring- Blue
0039409
10

C=al

3/8 Ring- Blue
0039412
10

..’-M'

Stepdown Butt
Yellow to Blue
0039426
10

Female QD .250-Blue

0039437
10

Cr=a

#10 Ring- Blue
0039410
10

:,f.‘-—-—-y
‘L. " MV EL W
A

#10 Fork- Blue
0039413
10

Butt-Blue
0039414
20

l":'.- ]--.‘ ™ -—Iﬂ;. l

Male QD .250-Blue
0039436
10

Cr=gl

1/4 Ring- Blue
0039411
10

[
Female QD .250 -Blue
Fully insulated

0039415
10

g

Bullet Plug-Blue
0039432
5

1930226

pieces

Cr=g

5/16 Ring- Blue
0039428
10

o

Male QD .250 -Blue
Fully insulated
0039416
10

—

Bullet Receptical-Blue
0039433
5



Cr=

#10 Ring -yellow
0039417
10

C=a

1/2 Ring-yellow
0039420
10

" momes v
- ———
o

Female QD .250 -yellow
0039423
10

12-10 Krimp-N-Seal Terminals

Repair & Maintenance Hardware Parts
15 Wing Drive Cedar Knolls, NJ (973) 267-4100 Outside NJ :800-526-0630

156-A Selig Drive Atlanta, GA (404) 696-0800

Cr=

1/4 Ring-yellow
0039418
10

#10 Fork yellow
0039421
10

e T

—

Male QD .250 -yellow
0039424
10

1930227
pieces

Cr=

3/8 Ring- yellow
0039419
10

Butt -yellow
0039422
20

Stepdown Butt
8ga to 12ga
0039427
5



40
1480040
5

27
1480027
5

29
1480029
5

Extension Springs

Repair & Maintenance Hardware Parts
15 Wing Drive Cedar Knolls, NJ (973)267-4100 Outside NJ (800) 526-0630
156-A Selig Drive Atlanta, GA (404)696-0800

210
1480210
5

AP RPN

97
1480097
5

93
1480093
5

7
46
: 1480046
:
(
Y U
-
70
1480070
5
1 ——— |
1
1480001
5

1930270

65 Pieces

i A

81
1480081
5

78

1480078
5

73
1480073
5

100
1480100
5



1930316
510 pieces

316 Stainless Steel Fasteners

Repair & Maintenance Hardware Parts
15 Wing Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630

156-A Selig Drive Atlanta, GA (404) 696-0800

=

=

o

o

o

1/4 1/4 1/4 1/4 x 3/4 1/4 x 1 14 x 1-1/2
nut flat washer lockwasher screw screw screw
3160004 3160204 3160040 3160403 3160405 3160407
25 25 25 25 25 25
5/16 5/16 5/16 5/16 x 3/4 5/16 x 1 5/16 x 1-1/2
nut flat washer lock washer screw screw screw
3160005 3160205 3160050 3160503 3160505 3160507
25 25 25 25 25 25
3/8 3/8 3/8 3/8x1 3/8 x 1-1/2 3/18x2
nut flat washer lock washer screw screw screw
3160006 3160206 3160060 3160605 3160607 3160609
25 25 E 25 25 25
1/2 1/2 1/2 1/2 x 1-1/2 12 x 2 1/2 x 2-1/2
nut flat washer lock washer screw screw screw
3160008 3160208 3160080 3160807 3160809 3160811
10 10 25 5 5 5



Stainless Round Slotted Machine Screws 1930317

. . 585 pieces
Repair & Maintenance Hardware Parts g

15 Wing Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630 293-

156-A Selig Drive Atlanta, GA (404) 696-0800

SERVICE = QUALITY = RELIABILITY

=

6/32 8/32 10/24 10/32 1/4-20 6/32 x 1/2
nut nut nut nut nut screw
3186306 3186308 3186310 3186311 3186314 3170608
25 25 25 25 25 25
6/32 x 3/4 6/32 x 1 8/32 x1/2 8/32 x 3/4 8/32 x1 8/32 x1-1/4
screw screw screw screw screw screw
3170612 3170616 3170808 3170812 3170816 3170824
25 25 25 25 25 25
10/24 x 1/2 10/24 x 3/4 10/24 x 1 10/24 x 1-1/4 10/24 x 1-1/2 10/32 x 1/2
screw screw screw screw screw screw
3171008 3171012 3171016 3171020 3171024 3171108
25 25 25 25 25 25
10/32 x 3/4 10/32 x 1 10/32 x 2 1/4-20 x 3/4 1/4-20 x 1 1/4-20 x 1-1/4
screw screw screw screw screw screw
3171112 3171116 3171132 3171412 3171416 3171424
25 25 25 25 25 25



Stainless Oval Phillips Machine Screws 1930318

. . 585 pieces
Repair & Maintenance Hardware Parts g
15 Wing Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630 293-

e ————— 156-A Selig Drive Atlanta, GA (404) 696-0800

nd TR,
19 W,

6/32 8/32 10/24 10/32 1/4-20 6/32 x 1/2
nut nut nut nut nut screw
3186306 3186308 3186310 3186311 3186314 3220608
25 25 25 25 25 25

il T

et
0~ LD

P A,

et
0~ WD

P A,

et
0~ WD

il TR

et
B,

P A,

et
0~ WD

e TN

¢ _
0~ WD

6/32 x 3/4 6/32 x 1 8/32 x 1/2 8/32 x 3/4 8/32 x 1 10/24 x 1/2
screw screw screw screw screw screw
3220612 3220616 3220808 3220812 3220816 3221008
25 25 25 25 25 25

il T

et
0~ LD

P A,

et
0~ WD

P A,

et
0~ WD

il TR

et
B,

P A,

et
0~ WD

nd e R

0~ WD

10/24 x 3/4 10/24 x 1 10/24 x 2 10/32 x 1/2 10/32 x 3/4 10/32 x 1
screw screw screw screw screw screw
3221012 3221016 3221032 3221108 3221112 3221116
25 25 25 25 25 25

A R A

D)

ATV

D)

A R A

W,

A R A R

D)

A R A

)

1/4-20 x 1/2 1/4-20 x 3/4 1/4-20 x 1 1/4-20 x 1-1/2 1/4-20 x 2
screw screw screw screw screw
3221408 3221412 3221416 3221424 3221432
25 25 25 25 25



= QUALITY = RELIABILITY

6/32

nut
3186306

25
L.

%' I

=

6/32 x 1/2
screw
3190608
25

8/32 x 1-1/2
screw
3190824
25

10/32 x 3/4
screw
3191112
25

Stainless Round Phillips Machine Screws

Repair & Maintenance Hardware Parts
15 Wing Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630

156-A Selig Drive Atlanta, GA (404) 696-0800

8/32
nut
3186308
25
£n

TS

= I

6/32 x 3/4
screw
3190612
25

10/24 x 1/2
screw
3191008
25

10/32 x 1
screw
3191116
25

10/24
nut
3186310
25
L .

%' L Y,

=

6/32 x 1
screw

3190616
25

10/24 x 3/4
screw
3191012
25

10/32 x 2
screw
3191132
25

10/32
nut
3186311
25
o,

A R,
%' L Y,

=

8/32 x 1/2
screw
3190808
25

10/24 x 1
screw
3191016
25

1/4-20 x 3/4

screw
3191412
25

1/4-20
nut

3186314
25

L .

%' L Y,

=

8/32 x 3/4
screw
3190812
25

10/24 x 1-1/2
screw
3191024
25

1/4-20 x 1
screw
3191416
25

1930319

585 pieces

293-

6/32 x 1/4
screw
3190604
25
-‘\ TN

%' S

=

8/32 x 1
screw
3190816
25

10/32 x 1/2
screw
3191108
25

1/4-20 x 1-1/4
screw
3191420
25



Stainless Flat Phillips Machine Screws 1930320

. . 585 pieces
Repair & Maintenance Hardware Parts :
15 Wing Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630 293-

156-A Selig Drive Atlanta, GA (404) 696-0800

e

6/32 8/32 10/24 10/32 1/4-20 6/32 x 1/2
nut nut nut nut nut screw
3186306 3186308 3186310 3186311 3186314 3200608
25 25 25 25 25 25
6/32 x 3/4 6/32 x 1 8/32 x1/2 8/32 x 3/4 8/32 x1 10/24 x 1/2
screw screw screw screw screw screw
3200612 3200616 3200808 3200812 3200816 3201008
25 25 25 25 25 25
10/24 x 3/4 10/24 x 1 10/24 x 2 10/32 x 1/2 10/32 x 3/4 10/32 x 1
screw screw screw screw screw screw
3201012 3201016 3201032 3201108 3201112 3201116
25 25 25 25 25 25
1/4-20 x 1/2 1/4-20 x 3/4 1/4-20 x 1 1/4-20 x 1-1/2 1/4-20 x 2
screw screw screw screw screw
3201408 3201412 3201416 3201424 3201432
25 25 25 25 25



Stainless Pan Slotted Sheet Metal Screws ~ 1930321

: . 400 Pi
Repair & Maintenance Hardware Parts eees
15 Wing Drive Cedar Knolls, NJ (973)267-4100 Outside NJ (800) 526-0630

156-A Selig Drive Atlanta, GA (404)696-0800

Som» Som» Som»

SERVICE ® QUALITY = RELIABILITY

#6 6x1/2 6 x 3/4 6x1
washer screw screw screw
0110006 3173006 3173008 3173010

25 25 25 25

#8 8x1/2 8 x 3/4 8x1
washer screw screw screw
0110008 3073014 3173016 3173018

25 25 25 25

#10 10 x 1/2 10 x 3/4 10x 1
washer screw screw screw
0110010 3173024 3173026 3173028

25 25 25 25

1/4 14 x 3/4 14 x 1 14 x 1-1/2
washer screw screw screw
0110014 3073042 3173044 3173046

Vi

25

25

25



Stainless Pan Phillips Sheet Metal Screws 1930322

. . 400 Pieces
Repair & Maintenance Hardware Parts |
15 Wing Drive Cedar Knolls, NJ (973)267-4100 Outside NJ (800) 526-0630

156-A Selig Drive Atlanta, GA (404)696-0800

SERVICE ® QUALITY = RELIABILITY

#6

sy

sy

oy

6 x1/2 6 x 3/4 6x1
washer screw screw screw
0110006 3173106 3173108 3173110

25 25 25 25
#8 8x1/2 8 x 3/4 8x1
washer screw screw screw
0110008 3173114 3173116 3173118
25 25 25 25
#10 10 x 1/2 10 x 3/4 10 x 1
washer screw screw screw
0110010 3173124 3173126 3173128
25 25 25 25
1/4 14 x 3/4 14 x 1 14 x 1-1/2
washer screw screw screw
0110014 3173142 3173144 3173146
25 25 25 25



Stainless Oval Slotted Sheet Metal Screws 1930323

Repair & Maintenance Hardware Parts 400 Pieces
15 Wing Drive Cedar Knolls, NJ (973)267-4100 Outside NJ (800) 526-0630

156-A Selig Drive Atlanta, GA (404)696-0800

SERVICE ® QUALITY = RELIABILITY

(g S

(g Y

(g Y

#6 6x1/2 6 x 3/4 6x1
washer screw screw screw
0110006 3172006 3172008 3172010

25 25 25 25

(g Y

(g Y

(g Y

#8 8 x1/2 8 x 3/4 8x1
washer screw screw screw
0110008 3172014 3172016 3172018

25 25 25 25

(g Y

(g Y

(g Y

#10 10 x 1/2 10 x 3/4 10x 1
washer screw screw screw
0110010 3172024 3172126 3172028

25 25 25 25

1/4 14 x 3/4 14 x 1 14 x 1-1/2
washer screw screw screw
0110014 3172042 3172044 3172046

25 25 25 25



Stainless Oval Phillips Sheet Metal Screws 1930324

Repair & Maintenance Hardware Parts 400 Pieces
15 Wing Drive Cedar Knolls, NJ (973)267-4100 Outside NJ (800) 526-0630

156-A Selig Drive Atlanta, GA (404)696-0800

SERVICE ® QUALITY =® RELIABILITY

<)

)

)

#6 6x1/2 6 x 3/4 6x1
washer screw screw screw
0110006 3172106 3172108 3172110

25 25 25 25

#8 8x1/2 8 x 3/4 8x1
washer screw screw screw
0110008 3172114 3172116 3172118

25 25 25 25

#10 10 x 1/2 10 x 3/4 10 x 1
washer screw screw screw
0110010 3172124 3172126 3172128

25 25 25 25

1/4 14 x 3/4 14 x 1 14 x 1-1/2
washer screw screw screw
0110014 3172142 3172144 3172146

25 25 25 25



SERVICE ® QUALITY = RELIABILITY

0037030
4 gauge
grey
25/10

0037033
1/0 gauge
black
25/10

0037036
4/0 gauge
yellow
10/5

Battery Solder Slugs

Repair & Maintenance Hardware Parts
15 Wing Drive Cedar Knolls, NJ (973) 267-4100 Outside NJ :800-526-0630

156-A Selig Drive Atlanta, GA (404) 696-0800

0037031
2 gauge
green
25/10

0037034
2/0 gauge
orange
20/10

0037037
flux
1

1930330
141pieces

2930330

61 Pieces

0037032
1gauge
pink
25/10

0037035
3/0 guage
purple
10/5




Repair & Maintenance Hardware Parts

156-A Selig Drive Atlanta, GA (404) 696-0800

18-20-Red 18-20-Red 18-20-Red 18-20-Red
#6 #8 #10 #10
3-9301 3-9302 3-9303 3-9305

16-14-Blue 16-14-Blue 16-14-Blue
#8 #10 1/4 #10
3-9309 3-9310 3-9311 3-9313

16-14-Blue

12-10-Yellow

12-10-Yellow 12-10-Yellow 12-10-Yellow
#10 #1/4 #3/8 #10
3-9317 3-9318 3-9319 3-9321
=== === =
18-20 16-14 12-10
Red Blue Yellow

3-9306 3-9314 3-9322

Electralink HeatShrink Solder Connectors

15 Wing Drive Cedar Knolls, NJ (973) 267-4100 Outside NJ (800) 526-0630

18-20-Red
Female
3-9307

16-14-Blue
Female
3-9315

12-10-Yellow
Female
3-9323

1930340
240 pieces

18-20-Red
Male
3-9308

16-14-Blue
Male
3-9316

12-10-Yellow
Male
3-9324



Repair & Maintenance Hardware Parts

156-A Selig Drive Atlanta, GA (404) 696-0800

18-20-Red 18-20-Red 18-20-Red 18-20-Red
#6 #8 #10 #10
0039401 0039402 0039403 0039405

16-14-Blue 16-14-Blue 16-14-Blue 16-14-Blue
#8 #10 1/4 #10
0039409 0039410 0039411 0039413

12-10-Yellow 12-10-Yellow 12-10-Yellow 12-10-Yellow
#10 #1/4 #3/8 #10
0039417 0039418 0039419 0039421
o= o= ==
18-20 16-14 12-10
Red Blue Yellow
0039406 0039414 0039422

Krimp-N-Seal Heat Shrink Connectors

15 Wing Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630

18-20-Red
Female
0039407

16-14-Blue
Female
0039415

12-10-Yellow
Female
0039423

1930341
240 pieces

18-20-Red
Male
0039408

16-14-Blue
Male
0039416

12-10-Yellow
Male
0039424



1/4 1D
0033941
10

Q

1/4 1D
0030394
10

Q

3/4 1D
0033912
5

S

Small Clip
0031349
10

Loom Clips & Clamps

Repair & Maintenance Hardware Parts
15 Wing Drive Cedar Knolls, NJ (973) 267-4100 Outside NJ (800) 526-0630
156-A Selig Drive Atlanta, GA (404) 696-0800

£

£

3/8 1D 1/21D
0033961 0033981
10 10
3/81D 1/2 1D
0030396 0030398
10 10

171D 1-1/4 ID
0033916 0033921
5 3
Medium Clip Large Clip
0031348 0033758
10 5

1930343

108 Pieces

£

5/8 ID
0033982
5

Q

5/8 ID
0033910
5



SERVICE =

20-18 Ring
#6 Stud
0039701

5

16-14 Ring
3/8 Stud
0039707

20-18 Spade
#10Stud
0039712

20-18 Female
Quik Disconnect
0039715
5

Multilink Terminals

Repair & Maintenance Hardware Parts
15 Wing Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630

156-A Selig Drive Atlanta, GA (404) 696-0800

20-18 Ring
#8 Stud
0039702

12-10 Ring
#10 Stud
0039708

16-14 Spade
#10 Stud
0039713

5

20-18 Male
Quik Disconnect
0039716
5

20-18 Ring 16-14 Ring 16-14 Ring
#10 Stud #8 Stud #10 Stud
0039703 0039704 0039705

5 10 10

12-10 Ring 12-10 Ring 12-10 Ring
Y, Stud 3/8 Stud Y Stud
0039709 0039710 0039711
5 5 5

12-10 Spade 20-18 16-14
#10 Stud Butt Connector Butt Connector
0039714 0039429 0039430
5 5 10

16-14 Female 16-14 Male 12-10 Female
Quik Disconnect Quik Disconnect Quik Disconnect
0039717 0039718 0039719
5 5 5

1930344

140 Pieces

16-14 Ring
Y, Stud
0039706
10

12-10
Butt Connector
0039431
10

12-10 Male
Quik Disconnect
0039720
5



SERVICE ® QUALITY = RELIABILITY

C————=

116 x 3/4
pin
3410403
50

==

116 x 1
pin
3410405
50

C——=x=

116 x 1-1/2
pin
3410407
50

C——=x=

116 x 2
pin
3410409
50

Stainless Steel Cotter Pins
Repair & Maintenance Hardware Parts

15 Wing Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630

156-A Selig Drive Atlanta, GA (404) 696-0800

C——=x=

3/32 x 3/4
pin
3410603
50

C—————x

3/32x1
pin

3410605
50

C——=x=

3/32 x1-1/2
pin
3410607
50

C——=x=

3/32x 2
pin
3410609
50

C——=x=

1/8 x 3/4
pin
3410803
50

C—————x

1/8 x 1
pin
3410805
50

C——=x=

1/8 x 1-1/4
pin
3410806
50

=

1/8 x 1-1/2
pin
3410807
50

C——=x=

1/8 x 2
pin
3410809
50

C—————x

1/8 x 2-1/2
pin
3410811
50

C——=x=

5/32 x 1-1/2
pin
3411007
50

C————=

5/32 x 1-3/4
pin
3411008
50

C——=x=

5/32 x 2
pin
3411009
50

C—————x

5/32 x 2-1/2
pin
3411011
25

C————=

3/16 x 1-1/2
pin
3411207
25

C————=

3/16 x 2
pin
3411209
25

1930345
1025 Pieces

C———=

3/16 x 2-1/2
pin
3411211
25

C——————x

1/4 x 1-1/2
pin
3411607
25

C——=x=

1/4 x 2
pin
3411609
25

C————=

1/4 x 2-1/2
pin
3411611
25



1930355
1000 pieces

Stainless Hex Head Self-Drilling Screws

Repair & Maintenance Hardware Parts
15 Wing Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630

156-A Selig Drive Atlanta, GA (404) 696-0800

6x1/2 6 x1-1/2 8x1-1/4 10 x 3/4 12 x 1 14 x 3/4
Hex Head Hex Head Hex Head Hex Head Hex Head Hex Head
3554006 3554012 3554019 3554026 3554036 3554042
50 50 50 50 25 50

6 x 3/4 8x1/2 8 x1-1/2 10 x1 12 x1-1/4 14 x1
Hex Head Hex Head Hex Head Hex Head Hex Head Hex Head
3554008 3554015 3554020 3554028 3554037 3554044
50 50 50 50 50 25

6x1 8 x3/4 8x2 10 x 1-1/2 12 x1-1/2 14 x 1-1/2

Hex Head Hex Head Hex Head Hex Head Hex Head Hex Head

3554010 3554016 3554021 3554035 3554038 3554046
50 50 50 25 25 25

6 x1-1/4 8x1 10 x1/2 10x 2 12x 2 14 x2

Hex Head Hex Head Hex Head Hex Head Hex Head Hex Head

3554011 3554018 3554024 3554034 3554039 3554048
50 50 50 25 25 25



4,1,& 2/0 Ga Starter Assortment 1930400

. . 70 Pi
Repair & Maintenance Hardware Parts eees
15 Wing Drive Cedar Knolls, NJ (973)267-4100 Outside NJ (800) 526-0630

156-A Selig Drive Atlanta, GA (404)696-0800

4 Ga Universal

Straight Clamp 4 Ga Slug
0037100 0037030
1 Ga Pos 1 Ga Neg
Straight Clamp Straight Clamp Black Hyy Wall Red H\{y Walli
0037101 0037102 Heat Shrink Tube Heat Shrink Tube
0031420 0032420
&7
2/0 Ga Pos 2/0 Ga Neg 2/0 Lug
Straight Clamp Straight Clamp 3/8" Stud 2/0 Slug
0030490 0030492 0037006 0037034
&/ i
1 Ga Lug 4 Ga Lug 2/0 Lug
3/8 “ Stud 5/16 “ Stud 1/2 1 Ga Slug
0037003 0037020 0037007 0037032



Heavy Duty 2/0 Crimp Terminals

Repair & Maintenance Hardware Parts 1930401
15 Wing Drive Cedar Knolls, NJ (973)267-4100 Outside NJ (800) 526-0630 66 Pieces

.

SERVICE ® QUALITY = RELIABILITY

®

156-A Selig Drive Atlanta, GA (404)696-0800

®

2/0 Pos 2/0 Neg
Straight Clamp Straight Clamp
0030490 0030492
2/0 Pos 2/0 Neg 0031420 0032420
Straight Clamp Straight Clamp Black Hvy Wall Red Hvy Wall
0030490 0030492 Heat Shrink Tube Heat Shrink Tube

8

1

2/0 3/8 “ Stud
Copper Lug
0037006

4

2/0 1/2 “ Stud

Copper Lug
0037007

&

2/0 3/8 “ Stud
Copper Lug
0037006

2/0 1/2 “ Stud

Copper Lug
0037007

o ——

2/0 Solder Slug
0037034

2/0 Solder Slug
0037034



SERVICE ® QUALITY = RELIABILITY

0035720
20 amp

0035750
50 amp

0035780
80 amp

Maxi Fuse Assortment

Repair & Maintenance Hardware Parts 1930402
15 Wing Drive Cedar Knolls, NJ (973) 267-4100 Outside NJ :800-526-0630
156-A Selig Drive Atlanta, GA (404) 696-0800

0035730 0035740
30 amp 40 amp

60 amp 70 amp



ot rTs

Combined Drill-N-Tap

Repair & Maintenance Hardware Parts
15 Wing Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630

156-A Selig Drive Atlanta, GA (404) 696-0800

ot
ot rTs
ot

10/32 10/24 1/4-20

0102911 0102910 0102914 0102915

ot rTs

1930403

6 pieces

ot rTs

3/8-16
0102916




(D

6-3010

1/2-20 easy start

plug
5

>

6-3030
1/2-20
fibre gasket

6-3001
12mm x 1.25
5

<>

6-3020
12mm x 1.25
nylon gasket

10

DrainPlugs & Gaskets

Repair & Maintenance Hardware Parts
15 Wing Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630

156-A Selig Drive Atlanta, GA (404) 696-0800

@ @ @=@r o

6-3011
1/2-20 single
oversize
5

>

6-3031
1/2-20 oversize
fibre gasket

6-3002
12mm x 1.75
5

<>

6-3021
12mm x 1.75
nylon gasket

10

6-3012
1/2-20 double
oversize
5

<>

6-3031

1/2-20 oversize

fibre gasket

6-3003
14mm x 1.50
5

(>

6-3022
14mm

nylon gasket
10

6-3013
1/2-20 single

oversize/drain hole

2

6-3004
16mm x 1.50
5

<>
6-3023
16mm
nylon gasket
10

6-3014

1/2-20 double
oversize/drain hole

2

<>

6-3032
12MM
gasket

6-3005
18mm x 1.50
3

<>

6-3024
18mm
nylon gasket
10

1930404
145 pieces

6-3033
14MM
gasket

6-3006
20mm x 1.50
3

<>

6-3025
20mm
nylon gasket
10



.

SERVICE ® QUALITY = RELIABILITY

s

3/8 x 1/4 connector assembly
0061264
2

[

3/8 x 3/8 connector assembly
0061266
2

s

3/8 x 1/2 connector assembly
0061268
2

C

1/2 x 3/8 connector assembly
0061286
1

®

3/8 sleeve
0061206
5

=

3/8 coupling nut
0061506
3

s

1/2 x 1/2 connector assembly
0061288

3/8 x 1/4 connector with adapter

0061664
2

Air Brake Hose Fittings

Repair & Maintenance Hardware Parts
15 Wing Drive Cedar Knolls, NJ (973) 267-4100 Outside NJ (800) 526-0630
156-A Selig Drive Atlanta, GA (404) 696-0800

3/8 x 3/8 conn with adapter
0061666

U

CGEES

(K
.

1/2 x 3/8 conn with adapter
0061686
1

A B
A%
3/8 to 1/4 adapter

0061464
2

A B
Vi)
3/8 to 3/8 adapter

0061466
2

1930409
34 Pieces

D

3/8 hose mender
0061306
1

ETD

1/2 hose mender
0061308
1

©

1/2 sleeve
0061208
5

=

1/2 coupling nut
0061508
3



Air Brake Hose Fittings 1930410

Repair & Maintenance Hardware Parts 42 Pieces
15 Wing Drive Cedar Knolls, NJ (973) 267-4100 Outside NJ (800) 526-0630

SERVICE ® QUALITY

= RELIABILITY

©

3/8 sleeve
0061206
5

=

3/8 coupling nut
0061506
5

Sl

3/8 x 3/8 coupling body
0061566
3

Sl

3/8 x 1/2 coupling body
0061568
3

156-A Selig Drive Atlanta, GA (404) 696-0800

®©

1/2 sleeve
0061208
3

=

1/2 coupling nut
0061508
3

Sl

1/2 x 3/8 coupling body
0061586
2

Sl

1/2 x 1/2 coupling body
0061588
2

3/8 female connector
0061460

1/2 female connector
0061480
1

A B

(aw

3/8 to 1/4 adapter
0061464

3/8 to 3/8 adapter
0061466
3

D

3/8 hose mender
0061306
1

ETD

1/2 hose mender
0061308
1

NS

3/8 nut/spring guard
0061560
2

NS

1/2 nut/spring guard
0061580
2



)

1/8
sleeve

0062000
10

(

1/4
sleeve
0061001
10

(

3/8
sleeve
0061002
10

(

1/2
sleeve

0061003
10

NTA Air Brake for Nylon Tubing

Repair & Maintenance Hardware Parts
15 Wing Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630

156-A Selig Drive Atlanta, GA (404) 696-0800

(s

1/8
nut
0062003
5

(8

1/4
nut
0061006
5

(8

3/8
nut
0061007
5

(&

1/2
nut

0061008
2

1/8
union
0062006
3

S

1/4
union
0061011
3

S(VEC

3/8
union
0061012
3

(0

1/2
union

0061013
2

i dime

1/8x1/16
male conn
0062009
3

e

1/4x1/8
male conn
0061032
3

e

3/8x1/4
male conn
0061036
3

e

1/2x3/8
male conn

0061040
2

a?

1/8x1/16
90° male elbow

0062013
2

@’

1/4x1/8
90° male elbow
0061049
3

a?

3/8x1/4
90° male elbow
0061052
3

a?

1/2x3/8
90° male elbow

0061058
2

1930411
124 pieces

a?

1/8x1/8
90° male elbow

0062014
2

i

1/4
insert
1280603
10

i

3/8
insert
1280604
10

i

1/2
insert

1280606
10



DOT LF3000 Air Brake for Nylon Tubing 1930412

Repair & Maintenance Hardware Parts 62 Pieces
15 Wing Drive Cedar Knolls, NJ (973)267-4100 Outside NJ (800) 526-0630

156-A Selig Drive Atlanta, GA (404)696-0800

SERVICE ® QUALITY = RELIABILITY

é § £ £

1/8x1/8 1/8x1/8 1/4x1/8 1/8x1/8
male conn male elbow male elbow union
1101422 1101822 1101842 1101002
5 5 5 5
1/4x1/8 1/14x1/4 1/4x1/4 1/4 x1/4
male conn male conn male elbow union
1101442 1101444 1101844 1101004
5 5 5 5
3/8x1/4 3/8x3/8 3/8x1/4 3/8 x3/8
male conn male conn male elbow union
1101464 1101466 1101864 1101006
3 3 3 5
1/2x3/8 1/2x1/2 1/2x3/8 1/2x1/2
male conn male conn male elbow union
1101486 1101488 1101886 1101008
2 2 2 2



SERVICE ® QUALITY = RELIABILITY

e

6 x1/2
screw
0054006
50/25

8 x1-1/4
screw
0054019
50/25

10 x 1-1/2
screw
0054030
50/25

(o

14 x 1/2
screw
0054040
50/25

Hex Washer Slotted Sheet Metal Screws

Repair & Maintenance Hardware Parts
15 Wing Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630

156-A Selig Drive Atlanta, GA (404) 696-0800

(e

6 x 3/4
screw
0054008
50/25

(o

8 x1-1/2
screw
0054020
50/25

12 x 1/2
screw
0054032
50/25

14 x 3/4
screw
0054042
50/25

e

6 x1
screw
0054010
50/25

10 x 1/2
screw
0054024
50/25

12 x 3/4
screw
0054034
50/25

e

14 x1
screw
0054044
50/25

8 x1/2
screw

50/25

10 x 3/4
screw
0054026
50/25

12 x1
screw
0054036
50/25

14 x1-1/4
screw
0054045
50/25

e

8 x3/4
screw
0054016
50/25

10x 1
screw
0054028
50/25

12 x1-1/4
screw
0054037
50/25

14 x 1-1/2
screw
0054046
50/25

1930413

1200 Pieces

2930413

600 Pieces

8x1
screw

50/25

10 x 1-1/4
screw
0054029
50/25

12 x 1-1/2
screw
0054038
50/25

14 x 2
screw
0054048
50/25



D.O.T Truck & Trailer Air Brake Fittings 1930415
Repair & Maintenance Hardware Parts 69 pieces
15 Wing Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630 203.

156-A Selig Drive Atlanta, GA (404) 696-0800

e & H

5/32 5/132 x 1/16 5132 x 1/8 3/16 x 1/8
union male conn male conn male conn
1101003 1101451 1101452 1101432
5 5 5 5
1/4 14 x 1/8 114 x 1/4 1/4 x 1/8 1/4 x 1/4
union male conn male conn male 90° elbow male 90° elbow
1101004 1101422 1101444 1101842 1101844
5 5 5 3 3
3/8 3/8 x1/4 3/8 x 3/8 3/8 x1/4 3/8 x 3/8
union male conn male conn male 90° elbow male 90° elbow
1101006 1101464 1101466 1101864 1101866
5 3 3 2 2
1/2 1/2 x 3/8 12 x1/2 1/2 x 3/8 1/2 x1/2
union male conn male conn male 90° elbow male 90° elbow
1101008 1101486 1101488 1101886 1101888
2 2 2 1 1



o_ I

6/32 x 1/4
machine screw
1630604
20

o_

8/32 x 1
machine screw
1630816
20

oI

1032 x 2
machine screw
1631132
10

Button Head Tam

Repair & Maintenance

erproof Pin in Hex
ardware Parts

15 Wing Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630

156-A Selig Drive Atlanta, GA (404) 696-0800

o_ I

6/32x 1/2
machine screw
1630608
20

oy

10/24 x 1/2
machine screw
1631008
20

o

10/32x 1/2
machine screw
1631108
20

oo

1/4 x 1/2
machine screw
1631408
10

o

6/32x 3/4
machine screw
16300612
20

o

10/24 x 3/4
machine screw
1631012
20

o Iy

10/32x 3/4
machine screw
1631112
20

o Iy

1/4 x 3/4
machine screw
1631412
10

o_

6/32x 1
machine screw
1630616
20

o_

10/24 x 1
machine screw
1631016
20

oI

10/32x1
machine screw
1631116
20

oI

1/4 x 1
machine screw
1631416
10

o

8/32x 1/2
machine screw
1630808
20

oy

10/24x 1-1/2
machine screw
1631024
10

o

10/32x1- 1/4
machine screw
1631120
10

o_ T

1/4x 1-1/2
machine screw
1631424
10

1930416

350 pieces

293-

o_ I

8/32 x 3/4
machine screw
1630812
20

o_

10/32x 1-1/2
machine screw
1631124
10

o Immmmm

1/4 x 2
machine screw
1631432
10



8x 1/2
sheet metal screw
1640808
20

8x1
sheet metal screw
1640816
20

10 x1/2
sheet metal screw
1641008
20

10x 1
sheet metal screw
1641016
20

Tamper
Repair &

roof Screws Pin in Hex
aintenance Hardware Parts

15 Wlng Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630

156-A Selig Drive Atlanta, GA (404) 696-0800

i

6/32x 1/2
machine screw
1630608
20

o_ I

6/32 x 1
machine screw
1630616
20

| MR

6/32x 1/2
machine screw
1650608
20

| N

6/32 x 1
machine screw
1650616
20

o_

8/32x 1/2
machine screw
1630808
20

o

8/32 x1
machine screw
1630816
20

| DI

8/32x 1/2
machine screw
1650808
20

R

8/32 x1
machine screw
1650816
20

i

10/24x 1/2
machine screw
1631008
20

o_

10/24 x 1
machine screw
1631016
20

| I

10/24x 1/2
machine screw
1651008
20

| DN

10/24 x 1
machine screw
1651016
20

o

10/32x 1/2
machine screw
1631108
20

o_ I

10/32 x 1
machine screw
1631116
20

| I

10/32x 1/2
machine screw
1651108
20

| AN

10/32x 1
machine screw
1651116
20

1930417

440 pieces

293-

o_ I

1/4-20x 1/2
machine screw
1631408
10

o

1/4-20 x 1
machine screw
1631416
10

| ORI

1/4-20x 1/2
machine screw
1651408
10

| DN

1/4-20x 1
machine screw
1651416
10



1930418

Flat Head Tamperproof Pin in Hex
Repair & Maintenance Hardware Parts

350 pieces

15 Wing Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630 293-

V.

156-A Selig Drive Atlanta, GA (404) 696-0800

@n DI

@1 TN @n DI @u DI @1 D @1 DI
6/32 x 3/8 6/32x 1/2 6/32x 3/4 6/32x 1 8/32x 1/2 8/32 x 3/4
machine screw machine screw machine screw machine screw machine screw machine screw
1650606 1650608 16500612 1650616 1650808 1650812
20 20 20 20 20 20
@] T @n D @] RN @] T @; DI
8/32 x 1 10/24 x 1/2 10/24 x 3/4 10/24 x 1 10/24 x 1-1/2
machine screw machine screw machine screw machine screw machine screw
1650816 1651008 1651012 1651016 1651024
20 20 20 20 10

| MR

i
I

| DI

| DN

!
I

| I

10/32x 1/2 10/32x 3/4 10/32x1 10/32x 1-1/2
machine screw machine screw machine screw machine screw
1651108 1651112 1651116 1651124
20 20 20 10
@ummmmmm @ummmmm @mmmmmm @n DRI @mmmmmm @n MDD
12/24 x 1/2 1/4 x 1/2 1/4 x 3/4 1/4 x 1 1/4x 1-1/2 1/4 x 2
machine screw machine screw machine screw machine screw machine screw machine screw
1651208 1651408 1651412 1651416 1651424 1651432
10 10 10 10 10 10



Dry Wall Anchors 1930419

Repair & Maintenance Hardware Parts 345 Pleces
15 Wing Drive Cedar Knolls, NJ (973)267-4100 Outside NJ (800) 526-0630
156-A Selig Drive Atlanta, GA (404)696-0800

0400253

b

0400250 0400601 0400298
#6 x 7/8 #8 x 1-1/4 1/4 Light Duty 316 x 7/8
Zinc Zinc Hollow Door Yellow
25 25 25 25
0400254 0400252 0400602
#6 x 7/8 #8 x 1-1/4 1/4 Light Duty 0400300
Nylon Nylon 1/2" Drywall 3/16 x 1- White
25 25 25 25
0400255 0400256 0400604
#6 #8 3/8 Medium Duty 0400301
Light Duty Hook Heavy Duty Hook 1/2"DryWall 1/4 x 1-1/4- Blue
25 10 25 25
0 = @I[t%
0400603
0400251 3/8 Medium Duty 0400299
#8 x 2 Toggler 5/8" Drywall 5/16 x 1-1/2- Green
10 25 25



JIC 37° Plugs & Caps

Repair & Maintenance Hardware Parts
15 Wing Drive Cedar Knolls, NJ (973) 267-4100 Outside NJ :800-526-0630

156-A Selig Drive Atlanta, GA (404) 696-0800

1930420
65 Pieces

SERVICE ® QUALITY = RELIABILITY

( W) ( W) ( W)
1/4 3/8 1/2
cap Cap Cap
0237328 0237330 0237331
10 10 5

( W) ( W)
3/4 1”
Cap Cap
0237333 0237334
3 2
1/4 3/8 1/2
Plug Plug Plug
0237338 0237340 0237341
10 10 5
5/8 3/4 1”
Plug Plug Plug
0237342 0237343 0237344
5 3 2



#6 stud
Ring Tongue
0031078
25

‘=
‘4?::;}\

1/2” stud
Ring Tongue
0031326
25

Male

Male F/I
Quick Disconnect
0032644
25

v

Male
Quick Disconnect
0032640
25

12-10 NMIon Terminals

aintenance Hardware Parts

Repair &

15 Wlng Drive Cedar Knolls, NJ (973) 267-4100 Outside NJ (800) 526-0630

156-A Selig Drive Atlanta, GA (404) 696-0800

(o=

J

#8 stud
Ring Tongue
0031082
25

=

6 stud
Spade Tongue
0031104
25

-
Female

Female F/I
Quick Disconnect
0032643
25

—

Female
Quick Disconnect
0032624
25

&~

#10 stud
Ring Tongue
0031084
25

<
) ,_’!

10 stud
Spade Tongue
0031107
25

Butt Connector
Step Down
0039502
10

@

#10
Hook
0031318
10

O

1/4” stud
Ring Tongue
0031085
25

6 stud
Spade Tongue
0031105
25

Butt
Connector
0031113
25

©

#8
Hook
0031317
10

@~

5/16” stud
Ring Tongue
0031086
25

10 stud
Spade Tongue
0031108
25

=

1930429
440 pieces

=
‘@

3/8” stud
Ring Tongue
0031089
25

4-Way
Connector
0031324
5

3-Way
Connector
0031323
5



Nylon & Rubber Grommets 1930500

Repair & Maintenance Hardware Parts 160 Pieces
15 Wing Drive Cedar Knolls, NJ (973)267-4100 Outside NJ (800) 526-0630

156-A Selig Drive Atlanta, GA (404)696-0800

=t

Hole Dia.: 3/8 Hole Dia.: 1/2 Hole Dia.: 7/8 Hole Dia.: 5/16
Inside Dia: 1/4 Inside Dia: 3/8 Inside Dia: 11/16 Inside Dia: 3/16
0038606 0038608 0038614 0038503
10 10 10 10
ol =t o o
Hole Dia.: 3/8 Hole Dia.: 7/16 Hole Dia.: 9/16 Hole Dia.: 1/2
Inside Dia: 1/4 Inside Dia: 5/16 Inside Dia: 5/16 Inside Dia: 3/8
0038504 0038515 0038505 0038526
10 10 10 10
g‘l ‘."l ‘."l -, '|
Hole Dia.: 5/8 Hole Dia.: 9/16 Hole Dia.: 13/16 Hole Dia.: 13/16
Inside Dia: 3/8 Inside Dia: 7/16 Inside Dia: 1/2 Inside Dia: 9/16
0038506 0038507 0038508 0038509

ot

ot

ot

o

Hole Dia.: 7/8 Hole Dia.: 7/8 Hole Dia.: 1-1/4 Hole Dia.: 1-3/8
Inside Dia: 5/8 Inside Dia: 3/4 Inside Dia: 7/8 Inside Dia: 1
0038510 0038512 0038514 0038516
10 10 10 10



Swm% Coupler Assortment

Repair & Maintenance Hardware Parts
15 Wlng Drive Cedar Knolls, NJ (973) 267-4100 Outside NJ: 800-526-0630

156-A Selig Drive Atlanta, GA (404) 696-0800

oHE

oHE

1/4 Female 3/8 x 3/8 Female
Swing Coupler Swing Coupler
1250311 1250326
2 2

1/4 Male 3/8 x 3/8 Male
Swing Coupler Swing Coupler
1250317 1250327
2 2

s

s

1/4 Female 3/8 Female
Nipple Nipple
1250180 1250181
2 5

WO

BliNG...

1/4 Male 3/8 Male

Nipple Nipple

1250170 1250171
2 3

1930501

32 Pieces

2930501

27 Pieces

(2930501 does not
include male couplers)

oHE

1/2 x 1/12 Female
Swing Coupler
1250688

1/2 x 1/2 Male
Swing Coupler
1250788
1

s

1/2 Female
Nipple
1250182
5

DO

1/2 Male
Nipple
1250172
5



Swm% Coupler Assortment 1930502

Repair & Maintenance Hardware Parts 29 Pieces
15 Wlng Drive Cedar Knolls, NJ (973) 267-4100 Outside NJ: 800-526-0630

156-A Selig Drive Atlanta, GA (404) 696-0800

oHE

1/4 Female
Swing Coupler
1250311
2

W m

1/4 Male
Nipple
1250170
5

ey

Protective Cover
1/4
1250480
2

Protector Caps
1/4

1250385
2

oHE

3/8 x 3/8 Female
Swing Coupler
1250326
2

G

3/8 x 3/8 Male
Nipple
1250171
5

ey

Protective Cover
3/8
1250481
2

N

Protector Caps
3/8
1250340
2

o=

3/18 x 1/4
Swing Coupler
1250292
2

Blime..
3/8 x 1/4 Male
Nipple
1250173
5



ROLOC Surface Conditioning Discs

Repair & Maintenance Hardware Parts
15 Wing Drive Cedar Knolls, NJ (973)267-4100 Outside NJ (800) 526-0630

156-A Selig Drive Atlanta, GA (404)696-0800

3” Roloc 3” Roloc 3” Roloc

Fine Medium Coarse

0840530 0840531 0840532
5 5 5

2” Roloc 2” Roloc 2” Roloc
Fine Medium Coarse
0840523 0840527 0840528

10 10 10

1930503

48 Pieces

2930503

(Without mandrels)

D))

3” Roloc

Mandrel

0840092
1

oD

2” Roloc
Mandrel
0840095

3” Roloc

C.R.U.D.

0840350
1



3” Roloc
36 Grit (Black)
0840631

5

2” Roloc
36 Grit
0840629
10

ROLOC Fiber Grinding Discs

Repair & Maintenance Hardware Parts
15 Wing Drive Cedar Knolls, NJ (973)267-4100 Outside NJ (800) 526-0630
156-A Selig Drive Atlanta, GA (404)696-0800

3” Roloc 3” Roloc
60 Grit (Orange) 80 Grit (Yellow)
0840633 0840634
5 5

2” Roloc 2” Roloc
60 Grit 80 Grit
0840433 0840661
10 10

1930504

63 Pieces

2930504

(Without mandrels)

3” Roloc

Mandrel

0840092
1

2” Roloc

Mandrel

0840095
1



Garden Hose Repair Fittings 1930505
Repair & Maintenance Hardware Parts

15 Wing Drive Cedar Knolls, NJ (973)267-4100 Outside NJ (800) 526-0630 41 PIECES
156-A Selig Drive Atlanta, GA (404)696-0800

Cm

@t

5/8 3/4 5/8 3/4
Female Swivel Female Swivel Male Swivel Male Swivel

W/Barb W/Barb Hose Barb Union Hose Barb Union
0066510 0066512 0066610 0066612

3 3 3 3

5/8 3/4 Female Swivel Garden Hose

Male Garden Hose Male Garden Hose Garden Hose Union Plastic Washer
Brass Barb Brass Barb

0066710 0066712 0066600 0066601

3 3 3 20



SERVIGE s QUALITY & RELIABILITY

Tire Relﬁair Assortment

Repair &

aintenance Hardware Parts

15 Wlng Drive Cedar Knolls, NJ (973)267-4100 Outside NJ (800) 526-0630

156-A Selig Drive Atlanta, GA (404)696-0800

T-handles
Tire Probe
Split-eye
Needle
5170189

1930517

122 Pieces

Plastic Valve
Caps

5170505
50

L=

.206"-36
Valve Cores

517-790

10

==

2-1/4” 1-1/4
, . Radial Patch Tire Valve
) 4” Radial Inserts
Universal Cement 5170184 5170137 5170413
5170086
1 20 30 10




Alloy Socket Set Screws 0930001

Repair & Maintenance Hardware Parts 300 pieces
15 Wing Drive Cedar Knolls, NJ (973) 267-4100 Outside NJ :800-526-0630
156-A Selig Drive Atlanta, GA (404) 696-0800

SERVICE &

10/24 x 1/4 1/4-20 x 5/16 1/4-20 x 3/8
0490033 0490056 0490057
25 25 25

5/16-18 x 5/16
0490065
25

3/8-16 x 1/2

5/16-18 x 3/8
0490066
25

5/16-18 x 1/2
0490068
25

3/8-16 x 5/8 3/8-16 x 3/4
0490077 0490078 0490079
25 25 25

7/16-14 x 1/2
0490086
25

7/16-14 x 3/4
0490088
25

1/2-13 x 1/2
0490093
25



Machine Screw Washers 0930002

Repair & Maintenance Hardware Parts 1600 Pieces
15 Wing Drive Cedar Knolls, NJ (973)267-4100 Outside NJ (800) 526-0630

156-A Selig Drive Atlanta, GA (404)696-0800

SERVICE = QUALITY = RELIABILITY

&

&

&

&

#6 #8 #10 1/4
internal washer internal washer internal washer internal washer
17-01J 17-02 J 17-03 J 17-04 J
G G G G
@) @) @) @)
#6 #8 #10 1/4
external washer external washer external washer external washer
17-106 J 17-20 J 17-30 J 17-40 J
G G G G
#6 #8 #10 1/4
lockwasher lockwasher lockwasher lockwasher
103-01L 103-02 L 103-03 L 103-04 K
G G G G
#6 #8 #10 1/4
flat washer flat washer flat washer flat washer
101-01L 101-02 L 101-03 L 101-04 K
G G G G



Clevis Pins 0930003

Repair & Maintenance Hardware Parts 110 Pieces
15 Wing Drive Cedar Knolls, NJ (973)267-4100 Outside NJ (800) 526-0630
156-A Selig Drive Atlanta, GA (404)696-0800
| B & v Y | SR & o8 i | B SN s
1/4 x 2 5/16 x 2 3/8 x2 7/16 x 2
universal universal universal universal
0750004 0750005 0750006 0750007
5 5 5 5
| Beon & oSN fp——) fp——) fp——)
1/2 x 2 1/4 x 1 1/4 x 1-1/8 5/16 x 1
universal standard standard standard
0750008 0750041 0750042 0750051
5 10 10 10
§ o smn § o smn § o smn { e
5/16 x 1-1/4 5/16 x 1-1/2 5/16 x 1-3/4 3/8 x1
standard standard standard standard
0750053 0750055 0750057 0750061
10 10 10 5
{ oo § oo { oo { orsmmemn
3/8 x1-1/4 3/8 x 1-1/2 7116 x 1-1/4 7116 x 1-1/2
standard standard standard standard
0750063 0750065 0750071 0750072
5 5 5 5



5/8
shallow cup
0520005
25

S I

1-1/16
shallow cup
0520014
10

Kz

1-13/16
shallow cup
0520024
10

1-61/64
standard cup
0520057
5

e

3/4
shallow cup
0520007
25

e =

1-3/8
shallow cup
0520019
10

1-7/32
standard cup
0520046
10

1-61/64
standard cup
0520057
5

Regular & Shallow Cup Expansion Plugs 0930004

Repair & Maintenance Hardware Parts
15 Wing Drive Cedar Knolls, NJ (973) 267-4100 Outside NJ :800-526-0630

156-A Selig Drive Atlanta, GA (404) 696-0800

145 Pieces

R

7/8
shallow cup
0520010
25

R

1-5/8
shallow cup
0520022
10

1-15/16
standard cup
0520056
5

1-31/32
standard cup
0520058
5



5/32 x 3/4
0810007
25

N

316 x 1
0810013
10

N>

5116 x 1-1/4

0810019
5

Woodruff Keys 0930005
Repair & Maintenance Hardware Parts P

15 Wing Drive Cedar Knolls, NJ (973) 267-4100 Outside NJ (800) 526-0630 293-
156-A Selig Drive Atlanta, GA (404) 696-0800 pieces

— N

3132 x 1/2 1/8 x 1/2
0810002 0810003
50 50

N

3/16 x 3/4
0810009
25

N

1/4 x 1
0810015
10

N>

516 x 1-1/2

0810020
A

N

3/32 x 5/8
0810004G
50

N>

5/32 x 7/8
0810010
25

N>

1/8 x 5/8
0810005
50

N>

3/16 x 7/8
0810011
10

N>

5/32 x 5/8

0810006
25

N>

1/4 x 7/8
0810012
10

N

1/4 x 1-1/8
0810018
5



Flat Head Slotted Wood Screws 0930007

i i 800 pi
Repair & Maintenance Hardware Parts pleces
15 Wing Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630

156-A Selig Drive Atlanta, GA (404) 696-0800

e g

e e e

6 x1/2 6 x 3/4 6x1 6 x1-1/2 8 x1/2 8 x 3/4
screw screw screw screw screw screw
0823006 0823008 0823010 0823011 0823014 0823016
8 x1 8x1-1/4 8 x1-1/2 8x2 10 x 3/4 10 x 1
screw screw screw screw screw screw
0823018 0823019 0823020 0823025 0823026 0823028
10 x 1-1/4 10 x 1-1/2 10 x 2 12 x 3/4 12 x 1 12 x1-1/4
screw screw screw screw screw screw
0823029 0823030 0823032 0823034 0823036 0823037

12 x1-1/2 12 x 2 14 x 1 14 x1-1/4 14 x 1-1/2 14 x 2
screw screw screw screw screw screw
0823038 0823063 0823044 0823045 0823046 0823048



Grade 8 USS Flat Washers 0930008

Repair & Maintenance Hardware Parts 430 pieces
15 Wing Drive Cedar Knolls, NJ (973)267-4100 Outside NJ 800-526-0630

156-A Selig Drive Atlanta, GA (404)696-0800

SERVICE ® QUALITY = RELIABILITY

>

=

=

1/4 5/16 3/8
flatwasher flatwasher flatwasher
1110004 1110005 1110006
100 100 100
7/16 1/2 9/16
flatwasher flatwasher flatwasher
1110007 1110008 1110009
50 25 25
5/8 3/4 7/8
flatwasher flatwasher flatwasher
1110010 1110012 1110014
10 10 5
1"
flatwasher
1110016

5



Grade 8 SAE Flat Washers 0930009

. . 440 pieces
Repair & Maintenance Hardware Parts P
15 Wing Drive Cedar Knolls, NJ (973) 267-4100 Outside NJ (800) 526-0630

156-A Selig Drive Atlanta, GA (404) 696-0800

SERVICE ® QUALITY = RELIABILITY

E>

=

=

1/4 5/16 3/8
flat washer flat washer flat washer
1120004 1120005 1120006
100 100 100
7/16 1/2 9/16
flat washer flat washer flat washer
1120007 1120008 1120009
50 25 25
5/8 3/4 7/8
flat washer flat washer flat washer
1120010 1120012 1120014
20 10 5
1"
flat washer
1120016

5



Grade 8 USS Hex Nuts 0930010

. . 455 pieces
Repair & Maintenance Hardware Parts
15 Wing Drive Cedar Knolls, NJ (973) 267-4100 Outside NJ :800-526-0630
156-A Selig Drive Atlanta, GA (404) 696-0800
© © ©
1/4 5/16 3/8
nut nut nut
1040004 1040005 1040006
100 100 100
7/16 1/2 9/16
nut nut nut
1040007 1040008 1040009
50 50 25
© © ©
5/8 3/4 7/8
nut nut nut
1040010 1040012 1040014
10 10 5
1©l
1"
nut
1040016

5



SERVICE

® QUALITY = RELIABILITY

1/4
nut

1050004
100

1©l
7/16
nut

1050007
50

1©l
5/8
nut

1050010
10

1"
nut

1050016
5

Grade 8 SAE Nuts

Repair & Maintenance Hardware Parts
15 Wing Drive Cedar Knolls, NJ (973) 267-4100 Outside NJ 800-526-0630

156-A Selig Drive Atlanta, GA 404-696-0800

‘@‘
P =

5/16
nut
1050005
100

1©l
1/2
nut

1050008
50

1©l
3/4
nut

1050012
10

0930011
455 Pieces

3/8
nut

1050006
100

1©l
9/16
nut

1050009
25

1©l
7/8
nut

1050014
5



Alloy Lock Washers 0930012

. 1000 Pieces
Repair & Maintenance Hardware Parts
15 Wing Drive Cedar Knolls, NJ (973)267-4100 Outside NJ 800-526-0630
156-A Selig Drive Atlanta, GA 404-696-0800

9

S=

S=

1/4 5/16 3/8
lock washer lock washer lock washer
1130004 1130005 1130006
200 200 200
7/16 1/2 9/16
lock washer lock washer lock washer
1130007 1130008 1130009
100 100 50
5/8 3/4 7/8
lock washer lock washer lock washer
1130010 1130012 1130014

25 10

25
1"
lock washer

1130016
10



Inverted Flare Brass Fittings 0930013

Repair & Maintenance Hardware Parts 165 Pieces
15 Wing Drive Cedar Knolls, NJ (973) 267-4100 Outside NJ :800-526-0630
ANSISER DRI 156-A Selig Drive Atlanta, GA (404) 696-0800
3/16 1/4 5/16
union union union
0060485 0060486 0060487
10 10 10
S e o
T T T
3/16 x 1/8 1/4 x 1/8 5/16 x 1/8
male elbow male elbow male elbow
0060502 0060503 0060505
10 10 10
D D D
3/16 x 1/8 1/4 x 1/8 5/16 x 1/8
male connector male connector male connector
0060459 0060460 0060462
10 10 10
3/16 1/4 5/16
inverted nut inverted nut inverted nut
0060449 0060450 0060451
25 25 25



6 x1/2
screw
0823106
50/25

8x1

screw
0823118

50/25

10 x 1-1/4
screw
0823129
25112

12 x 1-1/2
screw
0823138
25112

Flat Head Phillips Wood Screws

Repair & Maintenance Hardware Parts
15 Wing Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630

156-A Selig Drive Atlanta, GA (404) 696-0800

screw

50/25

8 x1-1/4
screw
0823119
25/12

10 x 1-1/2
screw
0823130
25112

12x 2
screw
0823163
25112

6 x1
screw
0823110
50/25

8 x1-1/2
screw
0823120
25/12

10x 2
screw
0823132
25/12

14 x1
screw
0823144
25/12

6 x1-1/2
screw
0823111
25/12

8x2

screw
0823122

25/12

12 x 3/4
screw
0823134
50/25

14 x1-1/4
screw
0823145
25/12

8 x1/2
screw

50/25

10 x 3/4
screw
0823126
50/25

12x1
screw
0823136
50/25

14 x 1-1/2
screw

0823146
25/12

0930014
825 Pieces

2930014
418 Pieces

8 x3/4
screw
0823116
50/25

10 x 1
screw
0823128
50/25

12 x1-1/4
screw
0823137
25112

14 x 2
screw
0823148
25112



Brass Pipe Fittings

Repair & Maintenance Hardware Parts 0930015
15 Wing Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630 92 pieces

156-A Selig Drive Atlanta, GA (404) 696-0800

1/8
hex plug
0060580

5

I

1/4
hex plug
0060581

5

o

3/8
hex plug
0060582

5

{0

1/2
hex plug
0060583

3

Uiy

1/8
close nipple
0060628
5

(@

1/4
close nipple
0060629
5

G

3/8
close nipple
0060630
5

(E

1/2
close nipple
0060631
3

»

@)

@)

.
(Le

1/8
union
0060611
5

.
Lo

1/4
union
0060612
5

D)

.
L8

3/8
union
0060613
5

]

(A
7 7
{8
1/2
union

0060614
2

Ui

1/4 x 1/8

bushing

0060598
5

Ui

3/8 x 1/8

bushing

0060599
5

Ui

3/18 x 1/4

bushing

0060600
5

Ui

12 x1/8

bushing

0060601
3

o

12 x1/4

bushing

0060602
5

o

1/2 x 3/8

bushing

0060603
3

5

1/4
pipe tee
0060668

3

5

3/8
pipe tee
0060669

2

Tl

1/8
street elbow
0060653
2

o

1/4
street elbow
0060654
2

e

3/8
street elbow
0060656
2

b

1/2
street elbow
0060657
2



Grade 5 USS Hex Nuts 0930021

. . 455 pieces
Repair & Maintenance Hardware Parts
15 Wing Drive Cedar Knolls, NJ (973) 267-4100 Outside NJ :800-526-0630
156-A Selig Drive Atlanta, GA (404) 696-0800
© © ©
1/4 5/16 3/8
nut nut nut
1060004 1060005 1060006
100 100 100
7/16 1/2 9/16
nut nut nut
1060007 1060008 1060009
50 50 25
© © ©
5/8 3/4 7/8
nut nut nut
1060010 1060012 1060014
10 10 5
1©l
1"
nut
1060016

5



1/4
nut
1070004
100

7/16
nut

1070007
50

1©l
5/8
nut

1070010
10

1©l
1"
nut

1070016
5

SAE Hex Nuts

Repair & Maintenance Hardware Parts
15 Wing Drive Cedar Knolls, NJ (973) 267-4100 Outside NJ :800-526-0630

156-A Selig Drive Atlanta, GA (404) 696-0800

1©l
5/16
nut

1070005
100

1/2
nut

1070008
50

1©l
3/4
nut

1070012
10

0930022
455 pieces

1©l
3/8
nut

1070006
100

9/16
nut

1070009
25

1©l
7/8
nut

1070014
5



o 0930025
Grease Fittings 102 pieces

Repair & Maintenance Hardware Parts
15 Wing Drive Cedar Knolls, NJ (973) 267-4100 Outside NJ: 800-526-0630

156-A Selig Drive Atlanta, GA (404) 696-0800

o i) e
1/8" pipe 1/8" pipe 1/8" pipe
straight 30° 67°
1360609 1360611 1360612
10 10 10
Wi Ll j0 >
e e
1/8" pipe 1/8" pipe 1/8" pipe
90° long straight 45°
1360613 1360684 1360688
10 2 10
1/4-28 pipe 1/4-28 pipe 1/4-28 pipe
straight 45° 90°
1360641 1360636 1360911
10 10 10
L0 @))DM
1/4-28 pipe 1/4-28 pipe
long straight 45°
1360698 1360637
10 10



A

6 x1/2
screw
0053006
50/25

5 oy

8 x1-1/4
screw
0053019
50/25

A

10 x 1-1/2
screw
0053030
50/25

A

14 x 3/4
screw
0053043
50/25

Flat Head Slotted Sheet Metal Screws

Repair & Maintenance Hardware Parts

15 Wing Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630
156-A Selig Drive Atlanta, GA (404) 696-0800

A

6 x 3/4
screw
0053008
50/25

5 oy

8 x1-1/2
screw
0053020
50/25

A

12 x 3/4
screw
0053034
50/25

A

14 x 1
screw
0053044
50/25

A

6 x1
screw
0053010
50/25

5 oy

10 x 1/2
screw
0053024
50/25

A

12 x1
screw
0053036
50/25

A

14 x1-1/4
screw
0053045
50/25

A

8 x1/2
screw
0053014
50/25

5 oy

10 x 3/4
screw
0053026
50/25

A

12 x1-1/4
screw
0053037
50/25

A

14 x 1-1/2
screw
0053046
50/25

A

8 x3/4
screw
0053016
50/25

5 oy

10x 1
screw
0053028
50/25

A

12 x 1-1/2
screw
0053038
50/25

0930028
800 Pieces

2930028
400 Pieces

A

8x1
screw
0053018
50/25

5 oy

10 x 1-1/4
screw
0053029
50/25



1/4
flatwasher
1020004
100

=

7/16
flatwasher
1020007
50

=

5/8
flatwasher
1020010
10

=

1"
flatwasher
1020016
5

USS Flat Washers

Repair & Maintenance Hardware Parts
15 Wing Drive Cedar Knolls, NJ (973) 267-4100 Outside NJ 800-526-0630

156-A Selig Drive Atlanta, GA (404) 696-0800

=

5/16
flatwasher
1020005
100

=

1/2
flatwasher
1020008
25

=

3/4
flatwasher
1020012
10

0930030
430 Pieces

=

3/8
flatwasher
1020006
100

=

9/16
flatwasher
1020009
25

=

7/8
flatwasher
1020014
5



1/4
flatwasher
1010004
100

=

7/16
flatwasher
1010007
50

=

5/8
flatwasher
1010010
10

=

1"
flatwasher
1010016
5

SAE Flat Washers

Repair & Maintenance Parts
15 Wing Drive Cedar Knolls NJ 973-267-4100

156-A Selig Drive Atlanta GA 404-696-0600 Outside NJ 800-526-0630

=

5/16
flatwasher
1010005
100

=

1/2
flatwasher
1010008
25

=

3/4
flatwasher
1010012
10

0930031
430 Pieces

=

3/8
flatwasher
1010006
100

=

9/16
flatwasher
1010009
25

=

7/8
flatwasher
1010014
5



3/64 x 3/4
pin
0410303
125

C——=x=

3/32 x 1
pin
0410605
125

C——=x=

1/8 x 1
pin
0410805
125

C——=x=

5/32 x 1-1/2
pin
0411007
125

Cotter Pins

Repair & Maintenance Hardware Parts
15 Wing Drive Cedar Knolls, NJ (973)267-4100 Outside NJ (800) 526-0630

156-A Selig Drive Atlanta, GA (404)696-0800

E E
1/16 x 1 1/16 x 1-1/2
pin pin
0410405 0410407
125 125
C——=x= C——=x=
3/32 x 1-1/2 3/32 x 2
pin pin
0410607 0410609
125 125
C——=x= C——=x=
1/8 x 1-1/2 1/8 x 2
pin pin
0410807 0410809
125 125
C——=x= C——=x=
5/32 x 2 3/16 x 2
pin pin
0411009 0411209
125 50

0930032
1425 Pieces



!

1/4
lockwasher
1030004

i

7/16
lockwasher
1030007

!

5/8
lockwasher
1030010

!

1"
lockwasher
1030016

Regular Split Lockwashers

Repair & Maintenance Parts
15 Wing Drive Cedar Knolls, NJ 973-267-4100 Outside NJ 800-526-0630

156-A Selig Drive Atlanta, GA 404-696-0800

S

5/16
lockwasher
1030005

=

1/2
lockwasher
1030008

S

3/4
lockwasher
1030012

0930033
920 Pieces

=

3/8
lockwasher
1030006

i

9/16
lockwasher
1030009

&

718
lockwasher
1030014



Grade 5 Nuts, SAE Flat & Lock Washers

_ \ 0930034
Repair & Maintenance Hardware Parts 1000 pieces
15 Wing Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630 203.
156-A Selig Drive Atlanta, GA (404) 696-0800

1/4-20

5/16-18

3/8-16 7/16-14 1/2-13
uss nut uss nut uss nut uss nut uss nut
1060004 1060005 1060006 1060007 1060008

25 25 25 25 25
1/4 5/16 3/8 7/16 1/2
sae flat washer sae flat washer sae flat washer sae flat washer sae flat washer
1010004 1010005 1010006 1010007 1010008
100 100 100 50 25
1/4 5/16 3/8 7/16 1/2
lock washer lock washer lock washer lock washer lock washer
1030004 1030005 1030006 1030007 1030008
100 100 100 50 25
1") 1") 1") 1") 1")
1/4-28 5/16-24 3/8-24 7/16-20 1/2-20
sae nut sae nut sae nut sae nut sae nut
1070004 1070005 1070006 1070007 1070008
25 25 25 25

25



0930035
825 pieces

Grade 8 Nuts, SAE Flat & Lock Washers

Repair & Maintenance Hardware Parts
15 Wing Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630 293-

156-A Selig Drive Atlanta, GA (404) 696-0800

1/4-20 5/16-18 3/8-16 7/16-14 1/2-13
uss nut uss nut uss nut uss nut uss nut
1040004 1040005 1040006 1040007 1040008

25 25 25 25 25
1/4 5/16 3/8 7/16 1/2
sae flat washer sae flat washer sae flat washer sae flat washer sae flat washer
1150004 1150005 1150006 1150007 1150008
50 50 50 25 25
1/4 5/16 3/8 7/16 1/2
lock washer lock washer lock washer lock washer lock washer
1130004 1130005 1130006 1130007 1130008
100 100 100 50 25

1/4-28 5/16-24 3/8-24 7/16-20 1/2-20
sae nut sae nut sae nut sae nut sae nut
1050004 1050005 1050006 1050007 1050008

25 25 25 25 25



Non Insulated Hi%h Temp Terminals 0930059

Repair & Maintenance Hardware Parts
15 Wing Drive Cedar Knolls, NJ (973)267-4100 Outside NJ (800) 526-0630

156-A Selig Drive Atlanta, GA (404)696-0800

¥

¥

¥

|

# 6 stud #10 stud 1/4 stud 22-18 butt
22-18 ring 22-18 ring 22-18 ring 0030004
0030001 0030002 0030003 50
50 50 50
¥ ¥ ¥ |
# 6 stud #10 stud 1/4 stud 16-14 butt
16-14 ring 16-14 ring 16-14 ring 0030013
0030007 0030008 0030009 50
50 50 50
16-14 male 16-14 female #10 stud #10 stud
quick disconnect quick disconnect 16-14 spade 12-10 spade
0031350 0031351 0030012 0030022
50 50 50 50
¥ ¥ ¥ |
#10 stud 1/4 stud 3/8 stud 12-10 butt
12-10 ring 12-10 ring 12-10 ring 0030023
0030018 0030019 0030020 50
50 50 50



0090001
6/32

0090400
6/32

J [
0630004
4/40

1340011
6/32

Machine Screw Nuts

Repair & Maintenance Hardware Parts

15 Wing Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630
156-A Selig Drive Atlanta, GA (404) 696-0800

0090002
8132

0090401
8/32

g [
0630006
6/32

1340021
8/32

0090003
10/32

0090402
10/24

e
0630008
8/32

1340031
10/32

0090030
10/24

0090403
10/32

e
0630010
10/24

1340041
1/4-20

0090040

1/4-20

0090404
1/4-20

JEE
0630011
10/32

0930062

pieces

293-

JEE
0630014
1/4-20

e
0630012
12/24




Sp rlng Roll Pins 0930074
Repair & Maintenance Hardware Parts
15 Wlng Drive Cedar Knolls, NJ (973)267-4100 Outside NJ (800) 526-0630
F B OS 1EEIR S 156-A Selig Drive Atlanta, GA (404)696-0800
 ——— | |,  ——
1/16 x 1/2 1/16 x 5/8 5/64 x 1/2 5/64 x 5/8
pin pin pin pin
1390401 1390402 1390501 1390502
50 50 50 50
= = | =
3/132 x 1/2 3/32 x 5/8 3/132 x1 1/8 x 1/2
pin pin pin pin
1390601 1390602 1390605 1390801
50 50 50 50
= =  — =
1/8 x 5/8 1/8 x 1 1/8 x 1-1/4 5/32 x 5/8
pin pin pin pin
1390802 1390805 1390806 1391002
50 50 50 50
= = = =
5/32 x 3/4 3/16 x 3/4 3116 x 1-1/4 1/4 x 1-1/4
pin pin pin pin
1391003 1391203 1391206 1391606
50 50 50 25



1/4
nut
1040004
100/25

5/16
nut
1040005
100/25

3/8
nut
104006
100/25

1/2
nut
1040008
25/10

Grade 8 USS Fasteners

Repair & Maintenance Hardware Parts
15 Wing Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630

156-A Selig Drive Atlanta, GA (404) 696-0800

=

1/4
flat washer
1110004
100/25

=

5/16
flat washer
1110005
FE

=

3/8
flat washer
1110006
50/25

=

1/2
flat washer
1110008
25/10

&

1/4
lockwasher
1130004
125/25

&

5/16
lock washer
1130005
125/25

&

3/8
lock washer
1130006
125/25

&

1/2
lock washer
1130008
50/25

1/4 x 3/4
screw

0710403
25/25

5/16 x 3/4
screw

0710503
25/25

3/8 x 1
screw
0710605
25/25

1/2 x1-1/2
screw

0710807
10/5

1/4 x 1
screw
0710405
25/25

5/16 x 1
screw

0710505
25/25

3/8 x 1-1/2
screw

0710607
25/25

1/2 x 2
screw
0710809
10/5

0930076
1230 pieces

2930076

1/4 x 1-1/2
screw

0710407
25/25

5/16 x 1-1/2
screw

0710507
25/25

3/8 x 2
screw
0710609
25/25

1/2 x 2-1/2
screw

0710811
10/5




SERVICE ® QUALITY = RELIABILITY

1/4
nut
1050004
100/25

5/16
nut
1050005
100/25

3/8
nut
1050006
100/25

1/2
nut
1050008
25/10

Grade 8 SAE Fasteners

Repair & Maintenance Hardware Parts
15 Wing Drive Cedar Knolls, NJ (973) 267-4100 Outside NJ (800) 526-0630

156-A Selig Drive Atlanta, GA (404) 696-0800

=

1/4
flat washer
1120004
100/25

=

5/16
flat washer
1120005
50/25

=

3/8
flat washer
1120006
50/25

=

1/2
flat washer
1120008
25/10

&

1/4
lockwasher
1130004
125/25

&

5/16
lock washer
1130005
125/25

&

3/8
lock washer
1130006
125/25

&

1/2
lock washer
1130008
50/25

1/4 x 3/4
screw

0720403
25/25

5/16 x 3/4
screw

0720503
25/25

3/8 x 1
screw
0720605
25/25

1/2 x1-1/2
screw

0720807
10/5

1/4 x 1
screw
0720405
25/25

5/16 x 1
screw

0720505
25/25

3/8 x 1-1/2
screw

0720607
25/25

1/2 x 2
screw
0720809
10/5

0930077
1230 pieces

2930077
510 pieces

1/4 x 1-1/2
screw

0720407
25/25

5/16 x 1-1/2
screw

0720507
25/25

3/8 x 2
screw
0720609
25/25

1/2 x 2-1/2
screw

0720811
10/5




Grade 5 USS Fasteners 0930078
. . pieces
Repair & Maintenance Hardware Parts
15 Wing Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630 2930078
156-A Selig Drive Atlanta, GA (404) 696-0800 510 pieces
1/4 1/4 1/4 1/4 x 3/4 1/4 x 1 1/4 x 1-1/2
nut flat washer lockwasher screw screw screw
1060004 1020004 1030004 0010403 0010405 0010407
25/100 25/100 25/125 25/25 25/25 25/25
5/16 5/16 5/16 5/16 x 3/4 5/16 x 1 5/16 x 1-1/2
nut flat washer lock washer screw screw screw
1060005 1020005 1030005 0010503 001-505 0010507
25/100 25/50 25/125 25/25 25/25 25/25
3/8 3/8 3/8 3/8x1 3/8 x1-1/2 3/8x2
nut flat washer lock washer screw screw screw
1060006 1020006 1030006 0010605 0010607 0010609
25/100 25/50 25/125 25/25 25/25 25/25
1/2 1/2 1/2 1/2 x 1-1/2 12x 2 1/2 x 2-1/2
nut flat washer lock washer screw screw screw
1060008 1020008 1030008 0010807 0010809 0010811
10/25 10/25 25/50 5/10 5/10 5/10



1/4
nut
1070004
100/25

5/16
nut
1070005
100/25

3/8
nut
1070006
100/25

1/2
nut
1070008
25/10

Grade 5 SAE Fasteners

Repair & Maintenance Hardware Parts
15 Wing Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630

156-A Selig Drive Atlanta, GA (404) 696-0800

=

1/4
flat washer
1010004
100/25

=

5/16
flat washer
1010005
50/25

=

3/8
flat washer
1010006
50/25

=

1/2
flat washer
1010008
25/10

=

1/4
lockwasher
1030004
125/25

=

5/16
lock washer
1030005
125/25

&

3/8
lock washer
1030006
125/25

&

1/2
lock washer
1030008
50/25

1/4 x 3/4
screw

0020403
25/25

5/16 x 3/4
screw

0020503
25/25

3/8 x 1
screw
0020605
25/25

1/2 x1-1/2
screw

0020807
10/5

1/4 x 1
screw
0020405
25/25

5/16 x 1
screw

0020505
25/25

3/8 x 1-1/2
screw

0020607
25/25

1/2 x 2
screw
0020809
10/5

0930079
1230 pieces

2930079

510 pieces

1/4 x 1-1/2
screw

0020407
25/25

5/16 x 1-1/2
screw

0020507
25/25

3/8 X 2
screw

0020609
25/25

1/2 x 2-1/2
screw

0020811
10/5




1/8 Dia x 1/8 Grip Range
Aluminum / Steel Rivet

0390303
125

@

3/16 Dia x 1/4 Grip Range
Aluminum / Steel Rivet

0390314
125

Blind Rivets

Repair & Maintenance Hardware Parts
15 Wing Drive Cedar Knolls, NJ (973)267-4100 Outside NJ (800) 526-0630

230 Selig Drive Atlanta, GA (404)696-0800

@

1/8 Dia x 1/4 Grip Range
Aluminum / Steel Rivet

0390305
125

@

3/16 Dia x 3/8 Grip Range
Aluminum / Steel Rivet

0390315
125

@

1/8 Dia x 3/8 Grip Range
Aluminum / Steel Rivet

0390307
125

@

3/16 Dia x 1/2 Grip Range
Aluminum / Steel Rivet

0390316
125

0930081
751 Pieces

Rivet Gun
0390900

[ ]
CHELSEA, MASS

c
o
\%a]
e
\=
E

o |
0.
x |




Air Brake Fittings for Cogper Tubing 0930083

Repair & Maintenance Hardware Parts 119 pieces
15 Wing Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630

156-A Selig Drive Atlanta, GA (404) 696-0800

0 0 0

1/4 3/8 1/2
sleeve sleeve sleeve
0060803 0060801 0060805
20 20 20
1/4 3/8 1/2
nut nut nut
0060802 0060800 0060806
10 10 5
1/4 3/8 1/2
union union union
0060824 0060815 0060844
5 5 3
1/4 x 1/8 1/4 x 1/8 3/8 x1/4 3/8 x1/4 1/2 x 3/8 1/2 x 3/8
connector elbow connector elbow connector elbow
0060814 0060863 0060809 0060810 0060857 0060843

5 5 5 5 3 3



Vinyl Terminal Assortment 0930084

i i 675 Pi
Repair & Maintenance Hardware Parts leces
15 Wing Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630

156-A Selig Drive Atlanta, GA (404) 696-0800

1] ] | ]
22-18 16-14 16-14 16-14 12-10
butt butt ford plug univ plug butt
0030410 0031354 0031610 0031710 0032310
50 25 50 50 50
16-14 16-14
female male
0031352 0031353
50 50
cm om om o O«
22-18 16-14 16-14 16-14 12-10
4 stud 6 stud 10 stud 1/4 stud 8 stud
0030110 0030710 0030810 0030910 0031810
50 50 50 50 50
c O @mn
12-10 12-10
10 stud 3/8 stud
0031910 0032010

50 50




Multi-Grip Rivets 0930086
Repair & Maintenance Hardware Parts

15 Wing Drive Cedar Knolls, NJ (973)267-4100 Outside NJ (800) 526-0630 2930086
156-A Selig Drive Atlanta, GA (404)696-0800 750-No Tool
@ EE: Rivet Gun
0390900

1/8 Dia 1/8 Dia 5/32 Dia
Button head Button head Button head
1/32 to 3/16 Grip Range 3/16 to 3/8 Grip Range 3/64 to 1/4 Grip Range . ,
Aluminum / Steel Rivet Aluminum / Steel Rivet Aluminum / Steel Rivet = I
I
0390205 0390206 0390207 ._ g §
125 125 125 :
o
0.
x 3
3/16 Dia 3/16 Dia 3/16 Dia
Button head Button head Large flange
1/16 to 1/4 Grip Range 1/4 to 1/2 Grip Range 1/2 to 25/32 Grip Range
Aluminum / Steel Rivet Aluminum / Steel Rivet Aluminum / Steel Rivet
0390208 0390209 0390213

125 125 125




Type “ E” Retaining Rings
Repair & Maintenance Hardware Parts 0930087

15 Wing Drive Cedar Knolls, NJ (973) 267-4100 Outside NJ :800-526-0630 600 pieces
156-A Selig Drive Atlanta, GA (404) 696-0800

3/32 shaft dia.
.015 thickness
1220009

50

% :;i/

3/16 shaft dia.
.025 thickness
1220018
50

5/16 shaft dia.
.025 thickness
1220031
50

1/2 shaft dia.
.042 thickness
1220050
50

.015 thickness
1220012
50

% :;i/

7/32 shaft dia.
.025 thickness
1220021
50

% :;i/

3/8 shaft dia.
.035 thickness
1220037
50

5/8 shaft dia.

.042 thickness

1220062
50

5/32 shaft dia.
.025 thickness
1220015
50

1/4 shaft dia.
.025 thickness
1220025
100

7/16 shaft dia.
.035 thickness
1220043
50

3/4 shaft dia.

.050 thickness

1220075
50



1/16 x 1/8 x 1/4
1260001
25/20

@,

1/16 X 3/8 X 1/2
1260007
25/20

@,

3/32 X11/16 X 7/8
1260013
25/20

@,

1/8 X1 X 1-1/4
1260019
25/20

, u
Buna O’Rings
Repair & Maintenance Hardware Parts
15 Wing Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630

156-A Selig Drive Atlanta, GA (404) 696-0800

@,

1/16 X 5/32 X 9/32
1260002
25/20

@,

3/32 X 3/8 X 9/16
1260008
25/20

@,

3/32 X 3/14 X 15/16
1260014
25/20

@,

1/8 X-$11616 X
1260020
25/20

@,

1/16 X 3/16 X 5/16
1260003
25/20

@,

3/32 X 7/16 X 5/8
1260009
25/20

@,

1/8 X 3/4 X 1
1260015
25/20

@,

1/8 X 1-1/8 X 1-3/8
1260021
25/20

@,

116 X 7/32 X 11/32
1260004
25/20

@,

3/132 X 1/2 X11/16
1260010
25/20

@,

1/8 X 13/16 X 1-1/16

1260016
25/20

@,

1/8 X 1-316 X 1-7/16

1260022
25/20

@,

1/16 X 1/4 X 3/8
1260005
25/20

@,

3/32 X 9/16 X 3/4
1260011
25/20

@,

1/8 X 7/18 X 1-1/8
1260017
25/20

@,

1/8 X 1-1/4 X 1-1/2
1260023
25/20

0930094
600 Pieces

2930094
480 Pieces

@,

1/16 X 5/16 X 7/16
1260006
25/20

@,

3/32 X 5/8 X 13-/16
1260012
25/20

@,

1/8 X 15/16 X 1-3/16
1260018
25/20

@,

1/8 X 1-5/16 X 1-9/16

1260024
25/20



0930095

Glass Fuses Automotive 0531009-
Repair & Maintenance Hardware Parts g

15 Wing Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630 2930095
156-A Selig Drive Atlanta, GA (404) 696-0800 210 pieces

e e e— T
SFE 4 SFE 6 SFE 7-1/2 SFE 9 SFE 14 SFE 20
0035001 0035002 0035003 0035004 0035005 0035006
25/10 25/10 25/10 25/10 25/10 25/10
AGA 1 AGA 5 AGC1 AGC2 AGC3 SFE 30
0035007 0035008 0035009 0035010 35011 0035012
25/10 25/10 25/10 25/10 25/10 25/10
AGC 4 AGC 5 AGC 10 AGC 15 AGC20 AGC 25
0035013 0035014 0035015 0035016 0035017 0035018
25/10 25/10 25/10 25/10 25/10 25/10
AGC 30 GBC 8 AGX 20
0035019 0035020 0035021
25/10 25/10 25/10



Thin Sheet Nutserts

Repair & Maintenance Hardware Parts 0930114
15 Wing Drive Cedar Knolls, NJ (973) 267-4100 Outside NJ :800-526-0630 206 Pieces

SERVICE ® QUALITY = RELIABILITY

O

6/32
thin sheet nutsert
1520206
25

0

8/32
thin sheet nutsert
1520208
25

0

10/24
thin sheet nutsert
1520210
25

0

10/32
thin sheet nutsert
1520211
25

156-A Selig Drive Atlanta, GA (404) 696-0800

0

1/4-20
thin sheet nutsert
1520214
25

d

10/24
flat nutsert
1522210
25

i

10/32
flat nutsert
1522211
25

d

1/4-20
flat nutsert
1522214
25

mandrels & nosepieces
6/32 - 1522006 -1/4-20 1522014
8/32 -1522008 -10/32 1522011

1522000



SERVIGE s QUALITY & RELIABILITY

U

6/32

1520206
25

U
10/32

1520211
25

U

3/8-16

1520216
10

Ribbed Thin Sheet Nutserts

Repair & Maintenance Hardware Parts
15 Wing Drive Cedar Knolls, NJ (973)267-4100 Outside NJ (800) 526-0630

156-A Selig Drive Atlanta, GA (404)696-0800

(|

8/32

1520208
25

U

1/4-20

1520214
25

U

10/24

1520210
25

U

5/16-18

1520215
10

1930115
146 pieces

Tool

1522000

1


Administrator
25

Administrator
25

Administrator
25

Administrator
25

Administrator
25

Administrator
25

Administrator
10

Administrator
10

Administrator
1


6mm x 1.0
straight
1360801

10

6mm x 1.0
45°
1360804
10

6mm x 1.0
90°
1360807
10

Grease Fittings

Repair & Maintenance Hardware Parts
15 Wing Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630

156-A Selig Drive Atlanta, GA (404) 696-0800

>

8mm x 1.0
straight
1360802

10

e
8mm x 1.0
45°
1360805
10

8mm x 1.0
90°
1360808
10

0930118

90 pieces

»

10mm x 1.0
straight
1360803

10

10mm x 1.0
45°
1360806
10

10mm x 1.0
90°
1360809
10



ATC Fuses & Accessories 0930119

Repair & Maintenance Hardware Parts
15 Wing Drive Cedar Knolls, NJ (973)267-4100 Outside NJ (800) 526-0630

SERVIGE s QUALITY & RELIABILITY

1
m
| W

156-A Selig Drive Atlanta, GA (404)696-0800

1
m
|

1
m
|

1
m
|

3 4 5 7-1/2
Violet pink tan brown
0035027 0035028 0035029 0035030
10 15 20 25
red Blue yellow clear
0035031 0035032 0035022 0035025
i d 3 i,
30 Inline 4 way
Green Fuse holder Male tab Fuse block
0035026 0035500 0035505 0035506
yellow Black
Fuse holder Fuse holder
005507 0035508



ATC/ATM Flat Fuse Assortment

Repair & Maintenance Hardware Parts 0930120
15 Wing Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630 140 pieces

156-A Selig Drive Atlanta, GA (404) 696-0800

3AMP
violet
0035627

yellow

3AMP
violet
0035027

20 AMP

yellow

0035022
5

4AMP
pink
0035628

clear

4AMP
pink
0035028

25 AMP
clear
0035025
5

5AMP
tan
0035629

green

5AMP
tan
0035029

30 AMP
green
0035026
5

7-1/2 AMP
brown
0035030

5

J.ﬁ

i

1/4" male tab
ATC
0035505
25

7-1/2 AMP
brown
0035030
5

P

t

1/4 male tab
mini
0035509
25

10 AMP
red
0035631
5

10 AMP
red
0035031
5

15 AMP
blue
0035632
5

15 AMP
blue
0035032
5



Nylon Insert Lock Nuts

Repair & Maintenance Hardware Parts

0930122
350 pieces
15 Wing Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630 203.
156-A Selig Drive Atlanta, GA (404) 696-0800
22 22 22 22 22 22
1/4-20 5/16-18 5/16-18 3/8-16 3/8-16 7/16-14
uss nut uss nut uss nut uss nut uss nut uss nut
0090040 0090050 0090050 0090060 0090060 0090070
25 25 25 25
P P P P P P
1/2-13 1/2-13 5/8-11 5/8-11 3/4-10 3/4-10
uss nut uss nut uss nut uss nut uss nut uss nut
0090080 0090080 0090100 0090100 0090120 0090120
25 25 25
e e P P e e
1/4-28 5/16-24 5/16-24 3/8-24 3/8-24 7/16-20
sae nut sae nut sae nut sae nut sae nut sae nut
0090004 0090005 0090005 0090006 0090006 0090007
25 25 25 25
L =50 =50 L= =50 =50
1/2-20 1/2-20 5/8-18 5/8-18 3/4-16 3/4-16
sae nut sae nut sae nut sae nut sae nut sae nut
0090008 0090008 0090010 0090010 0090012 0090012
25 25

25




1 s
h—— 4

8/32
0090002
50

2,

1 s
h—— 4

5/16-18
0090050
50

.K : I)?I/
S

Y2-13
0090080
25

.\ : I)?I/
S

%-10
0090120
10

USS Nylon Lock Nuts

Repair & Maintenance Hardware Parts

15 Wing Drive Cedar Knolls, NJ (973) 267-4100 Outside NJ :800-526-0630
156-A Selig Drive Atlanta, GA (404) 696-0800

1 s
h—— 4

10/24
0090030
50

2,

1 s
h—— 4

3/8-16
0090060
50

.K : I)?I/
S

9/16-12
0090090
10

.\ : I)?I/
S

7/8-9
0090140
5

0930123
340 pcs

>

1 s
h—— 4

Ya-20
0090040
50

2,

1 s
h—— 4

7116-14
0090070
25

.K : I)?I/
S

5/8-11
0090100
10

.\ : I)?I/
S

17-8
0090160
5



1 s
h—— 4

8/32
0090002
50

2,

1 s
h—— 4

5/16-24
0090005
50

.K : I)?I/
S

2-20
0090008
25

.\ : I)?I/
S

%-16
0090012
10

SAE Nylon Lock Nuts

Repair & Maintenance Hardware Parts

15 Wing Drive Cedar Knolls, NJ (973) 267-4100 Outside NJ :800-526-0630
156-A Selig Drive Atlanta, GA (404) 696-0800

1 s
h—— 4

10/32
0090003
50

2,

1 s
h—— 4

3/8-24
0090006
50

.K : I)?I/
S

9/16-18
0090009
10

.\ : I)?I/
S

7/8-14
0090014
5

0930124
340 pcs

>

1 s
h—— 4

Ya-28
0090004
50

2,

1 s
h—— 4

7/16-20
0090007
25

.K : I)?I/
S

5/8-18
0090010
10

.\ : I)?I/
S

1712
0090016
5



8-6-4 Gauge Nylon Terminals 0930150

Repair & Maintenance Hardware Parts 120 Pieces
15 Wing Drive Cedar Knolls, NJ (973)267-4100 Outside NJ (800) 526-0630

156-A Selig Drive Atlanta, GA (404)696-0800

:

On

On

10 Stud 1/4 Stud 5/16 Stud 3/8Stud
8ga Ring 8 gaRing 8 gaRing 8 gaRing
0031175 0031176 0031177 0031178

10 10 10 10

10 Stud 1/4 Stud 5/16 Stud 3/8 Stud
6 gaRing 6 ga Ring 6 gaRing 6 ga Ring
0031179 0031180 0031181 0031182

10 10 10 10

1/4 Stud 5/16 Stud
4ga Ring 4ga Ring
0031183 0031185

5 5
O—] D — [—]
8 6 4

red butt blue butt yellow butt

0031186 0031187 0031188
10 10 10



0930154

Grade 10.9 Metric Cap Screws

. . 500 pieces
Repair & Maintenance Hardware Parts g
15 Wing Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630 293-
156-A Selig Drive Atlanta, GA (404) 696-0800 pieces
- | ©
6M x 12 6M x 16 6M x 20 6M x 25 6M x 30 6M
1.00 pitch 1.00 pitch 1.00 pitch 1.00 pitch 1.00 pitch 1.00 pitch
1680612 1680616 1680620 1680625 1680630 1680061
25 25 25 25 25 50
] ] ] ] . I IIJI ..;|"lII'I.'I'IullIllll'llll'lr'llllllr ‘©)
8M x 20 8M x 25 8M x 30 8M x 35 8M x40 8M
1.25 pitch 1.25 pitch 1.25 pitch 1.25 pitch 1.25 pitch 1.25 pitch
1680820 1680825 1680830 1680835 1680840 1680081
25 25 25 25 25 50
¢ - - - - ‘ -’ \)
10M x 20 10M x 25 10M x 30 10M x 40 10M x 50 10M
1.50 pitch 1.50 pitch 1.50 pitch 1.50 pitch 1.50 pitch 1.50 pitch
1681020 1681025 1681030 1681040 1681050 1680100
10 10 10 10 10 25
\ o [ [ JII'I.JIII|'IIIJIIIJI'I.'..;|'I||"|,II'I|'III|II'Ij!|'Ir'llllllI [ ‘©)
12M x 25 12M x30 12M x 40 12M x 50 12M x 60 12M
1.75 pitch 1.75 pitch 1.75 pitch 1.75 pitch 1.75 pitch 1.75 pitch
1681225 1681230 1681240 1681250 1681260 1680120
10 10 10 10 10 25



6M x 12
1.00 pitch
0680612
25

8M x 20
1.25 pitch

0680820
25

10M x 25
1.50 pitch

0681025
10

12M x 25
1.75 pitch

0681225
10

Gr. 8.8 Metric Ca|c|3I Screws/Washers/Nuts

Repair & Maintenance

ardware Parts

15 Wing Drive Cedar Knolls, NJ (973) 267-4100 Outside NJ (800) 526-0630

156-A Selig Drive Atlanta, GA (404) 696-0800

6M x 20
1.00 pitch

0680620
25

8M x 35
1.25 pitch

0680835
25

10M x 35
1.50 pitch

0681035
10

12M x 40
1.75 pitch

0681240
10

6M x 25
1.00 pitch

0680625
25

8M x 50
1.25 pitch

0680850
10

10M x 45
1.50 pitch

0681045
10

12M x 60
1.75 pitch

0681260
5

6M x 30
1.00 pitch

0680630
25

8M x 60
1.25 pitch

0680860
10

10M x 50
1.50 pitch

0681050
10

12M
1.75 pitch
0680120
10

/=
‘©)

6M
1.0 pitch
0680061

25

©
8M
1.25 pitch

0680081
25

(T
10M x 70
1.50 pitch

65-1070
10

=)

12M
Flat Washer
0680122
10

0930155
415 pieces

293-

pieces

=

6M
Flat Washer
0680062
25

=

8M
Flat Washer
0680082
25

=

10M
Flat Washer
0680102
25

7=
‘©)

10M
1.5 pitch
0680100
25



4M

nut
0680041

50

=

4M
flat washer
0680042
50

=

10M
flat washer
06800102
50

&

™
lock washer
0680007
50

Grade 8.8 Metric Nuts & Washers

Repair & Maintenance Hardware Parts
15 Wing Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630

156-A Selig Drive Atlanta, GA (404) 696-0800

5M

nut
0680051

50

=

5M
flat washer
0680052
50

=

12M
flat washer
06800122
50

&

8M
lock washer
0680008
50

6M

nut
0680061

50

=

6M
flat washer
0680062
50

&

10M
lock washer
0680010
50

™

nut
0680071

25

=

™
flat washer
0680072
25

=

4M
lock washer
0680004
50

=

12M
lock washer
0680012
50

8M
nut
0680081
50

=

8M
flat washer
0680082
50

&

5M
lock washer
0680005
50

0930157
975 Pieces

10M
nut
0680100
50

nut
0680120
50

&

6M
lock washer
0680006
50



Weldlnﬂ & Brazin ng Rods 0930158
Repair & Maintenance Hardware Parts pieces

15 Wlng Drive Cedar Knolls, NJ (973) 267-4100 Outside NJ :800-526-0630
156-A Selig Drive Atlanta, GA (404) 696-0800

6020004

1/8 All Position Mild Steel Electrode-White Tip 70-120AMP

6050004

1/8 High Strength All Steel Electrode-Orange Tip 90-120 AMP

6000004

1/8 Cast Iron Electrode-Brown Tip 80-110AMP

7010003

3/32 High Strength Brazing Alloy- Blue Flux Coating

7020003

3/32 All Purpose Brazing Alloy- Yellow Flux Coating

7000003

3/32 Aluminum Brazing Alloy-Green Tip



Hollow Wall Anchor Kit 0930160
Repair & Maintenance Hardware Parts pieces
15 Wing Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630 293-
156-A Selig Drive Atlanta, GA (404) 696-0800
1/8 short 1/8 short 1/8 long 1/8 long Tool
use 5/16 drill bit use 5/16 drill bit use 5/16 drill bit use 5/16 drill bit 0400619
0400610 0400610 0400611 0400611
HOLLOW WALL ANCHOR SETTER
Install  E
. : : . hollow _ &3
- —— T T - —— wall- Ml Y+ swAESIPIAT
Qﬁs.ﬂ!;a'_ gbﬂ'ﬂ'_ gbﬂ'ﬂ'_ Qﬁs.ﬂ!;a'_ i O
Insaconds.. \\  USENCORNERS
3/16 short 3/16 short 3/16 long 3/16 long Vi ofo.. (7
use 7/16 drill bit use 7/16 drill bit use 7/16 drill bit use 7/16 drill bit OIS
0400613 0400613 0400614 0400614 I,
ALL BRANDS AND SIZES
O = = (——
1/4 short 1/4 short 1/4 long 1/4 long
use 1/2 drill bit use 1/2 drill bit use 1/2 drill bit use 1/2 drill bit
0400616 0400616 0400617 0400617



Sealform Heat Shrink Tubing 0930161
Repair & Maintenance Hardware Parts

15 Wing Drive Cedar Knolls, NJ (973) 267-4100 Outside NJ (800) 526-0630 24 Pieces
ettt 156-A Selig Drive Atlanta, GA (404) 696-0800
2 to 1/0 AWG 8 to 4 AWG 12 to 8 AWG 16 to 10 AWG 20 to 12 AWG Micro Jet
3/4” 1/2” 3/8” 1/4” 3/16” Torch
Yellow Blue Red White Gray 0031904
0031379 0031378 0031377 0031376 0031375 1

3 5 5 5 5

1]




Solder & Torch Assortment 0930163

Repair & Maintenance Hardware Parts 7 Pieces
15 Wing Drive Cedar Knolls, NJ (973) 267-4100 Outside NJ :800-526-0630

156-A Selig Drive Atlanta, GA (404) 696-0800

SERVICE ® QUALITY = RELIABILITY

IGNITION

|
s
| | Eﬁtﬁimc}??s
_ EZ _ EZ _ _ EZ _ Silver Solder Micro-Jet
Silver Bearing Copper Bearing Aluminum Bearing 5140202 Torch
Solder paste Solder paste Solder Paste 1 0031904
5140007 5140014 5140021 1

2 1 2



SERVICE &=

QUALITY =

RELIABILITY

Ll

Oval Sleeve
1/16
0780911
10

L

Oval Sleeve
5/32
0780914
10

@
Wire Rope Clip
1/4

0780004
5

Thimble
1/4

0780040
5

Sleeves & Clamps For Wire Rope

Repair & Maintenance Hardware Parts
15 Wing Drive Cedar Knolls, NJ (973) 267-4100 Outside NJ :800-526-0630
156-A Selig Drive Atlanta, GA (404) 696-0800

Ll

Oval Sleeve
3/32
0780912
10

L

Oval Sleeve
3/16
0780915
10

@
Wire Rope Clip
5/16

0780005
5

Thimble
3/8

0780041
5

0930178

80 Pieces

bl

Oval Sleeve
1/8
0780913

10

@
Wire Rope Clip

1/8

0780002
5

@
Wire Rope Clip
3/8

0780006
5



0930238

72 pieces

Low Pressure Barb Tite Fittings
Maintenance and Repair Parts

0238004 1/4 25’
0238006 3/8 25’

e Jm

15 Wing Drive Cedar Knolls, NJ 07927
156-A Selig Drive Atlanta, GA (404) 696-0800

Tm

I ot

2930238

No Tool/No Hose

1/4x 5/16 1/4x 1/4 1/4x 5/16 3/8 3/8 x 3/8 3/8 x 3/8
sae female inverted female inverted female hose mender male pipe inverted male
swivel rigid rigid swivel
0230827 0230838 0230872 0230867 0230804 0230835

Mo @l g oo U[EED@GE]D A
' , e i}
ﬂ -l O = ﬂ -l
1/4x 1/4 1/4x 5/16 1/4x 1/4 1/4 3/18 x 1/4 3/8x 3/8
male pipe sae male rigid inverted male hose mender male pipe sae female
swivel swivel
0230802 0230815 0230833 0230866 0230803 0230828
2 () ) - 2 =)
H o Hmm  Hmm @ g o
MHoe e oo oo Moo Qoo
1/4x 1/8 1/4x 1/4 1/4x 3/16 1/4x 5/16 3/8 x 1/8 3/8 x 3/8
male pipe sae male rigid inverted male inverted male male pipe sae male rigid
swivel swivel
0230801 0230814 0230832 0230834 0230812 0230816



Malleable Pipe Fittings

Repair & Maintenance Hardware Parts 0930245
15 Wing Drive CedarKnolls, NJ (973) 267-4100 Outside NJ (800) 526-0630 90 pieces

e 156-A Selig Drive Atlanta, GA (404) 696-0800

il - W R o 4
1/8 Yax 1/8 1/8 1/8 1/8 Yax 1/8
Pipe plug Bushing Coupling Close nipple Cap Reducing coupler
1510246 1510313 1510237 1510335 1510295 1510264
5 5 5 5 5 5
1/4 3/8 X Va4 Ya Ya Ya 3/8 X Va4
Pipe plug Bushing Coupling Close nipple Cap Reducing coupler
1510247 1510315 1510238 1510336 1510296 1510266
5 5 5 5 5 5
il - W | o 4
3/8 Yo X Ya 3/8 3/8 3/8 Yo X Ya
Pipe plug Bushing Coupling Close nipple Cap Reducing coupler
1510248 1510317 1510239 1510337 1510297 1510268
3 3 3 3 3 3
il - w D iy 4
1/2 Y x 3/8 Ys Ys Ya Y5 x 3/8
Pipe plug Bushing Coupling Close nipple Cap Reducing coupler
1510249 1510318 1510240 1510338 1510298 1510269
2 2 2 2 2 2



‘@‘
P =

8M
1.00 pitch

2680081
25

-

8M x 20
1.00 pitch
2680820

(T
10M x 20
1.25 pitch

2681020
10

o
12M x 45

1.5 pitch

2681245
10

Gr. 8.8 Fine Cap Screws/Washers/Nuts

Repair & Maintenance Hardware Parts
15 Wing Drive Cedar Knolls, NJ (973) 267-4100 Outside NJ (800) 526-0630

156-A Selig Drive Atlanta, GA (404) 696-0800

‘@‘
P =

10M
1.25 pitch

2680100
2%

-

8M x 25
1.00 pitch
2680825

(T
10M x 25
1.25 pitch

2681025
10

1 g
12M x 50

1.5 pitch

2681250
10

I
‘@"
o =7

12M

1.25 pitch

2680120
10

I T

8M x 30
1.00 pitch
2680830

(T
10M x 35
1.25 pitch

2681035
10

1 g
12M x 60

1.5 pitch

2681260
R

=

8M
Flat Washer
0680082
25

-

8M x 35
1.00 pitch
2680835

(T
10M x 45
1.25 pitch

2681045
10

=

10M
Flat Washer
0680102
25

-

8M x 40
1.00 pitch
2680840

(T
10M x 50
1.25 pitch

2681050
10

0930268

325 pieces

293-

pieces

=

12M
Flat Washer

0680122
10

T

8M x 50
1.00 pitch
2680850

o

10M x 60

1.25 pitch

2681060
10



0930269

Gr. 8.8 Fine Cap Screws & Nuts

. . 260 pieces
Repair & Maintenance Hardware Parts
15 Wing Drive Cedar Knolls, NJ (973) 267-4100 Outside NJ (800) 526-0630 293-
156-A Selig Drive Atlanta, GA (404) 696-0800 pieces
o 1 g 1 g - -
8M x 20 8M x 25 8M x 30 8M x 40 8M x 50 8M
1.00 pitch 1.00 pitch 1.00 pitch 1.00 pitch 1.00 pitch 1.00 pitch
2680820 2680825 2680830 2680840 2680850 2680081
25 25 25 10 10 25
. . . . . @
10M x 25 10M x 35 10M x 45 10M x 50 10M x 60 10M
1.25 pitch 1.25 pitch 1.25 pitch 1.25 pitch 1.25 pitch 1.25 pitch
2681025 2681035 2681045 2681050 2681060 2680100
10 10 10 10 10 25
(T U1 U1
12M x 45 12M x 50 12M x 60 12M
1.5 pitch 1.5 pitch 1.5 pitch 1.5 pitch
2681245 2681250 2681260 2680120
10 10 5 10
14M x 30 14M x 40 14M x 50 14M x 60 14M
1.5 pitch 1.5 pitch 1.5 pitch 1.5 pitch 1.5 pitch
2681430 2681440 2681450 2681460 2680140
5 5 5 5 10



316 Stainless Steel
Cap Screws, Nuts, Washers
1/4, 5/16, 3/8, 1/2

M4 x 172 |[ 174 x 314 1/4 x 1 Max 11714 |[1/4 x 1-1/2 | 1/4 1/4 1/4
screw screw screw screw screw hex nut ock washel]|flat washer
3160401 3160403 3160405 3160406 3160407 3160004 3160204 3160104
25 25 25 25 25 25 25 25
A x2 |[1/dx 2472|516 x 172 || 5/16 x 3/4 || 5/16 x 1 5/16 5/16 5/16
screw screw screw screw screw hex nut ock washell|flat washer
3180409 3160411 3160501 3160503 3160505 3160005 3160205 3160105
25 25 25 25 25 25 25 25
5116 x 1-172|[ 5716 x1-34 |[ 5/16 x 2 |[5/16 x2-172|[ 3/8 x 112 | 3/8 3/8 3/8
screw screw screw screw screw hex nut ock washell|flat washer
3160507 3160508 3160509 3160511 3160601 3160006 3160206 3160106
25 25 25 25 25 25 25 25
3[8x 314 |[ 3/8x1 |[38x1AA|[3l8x 142 |[ 3/8x2 | 172 172 172
screw screw screw screw screw hex nut ock washeli|flat washer
3160603 3160605 3160606 3160607 3160609 3160008 3160208 3160108
25 25 20 20 10 25 25 25
38 x 212 |[ 3/18x3 [ 172x 314 |[ 172x1 |[12x1A2|[ 172x2 |[172x2172|[ 172x3
screw screw screw screw screw screw screw screw
3160611 3160613 3160803 3160805 3160807 3160809 3160811 3160813
10 10 10 10 10 5 5 5
1930315 840 pieces




40 Compartment Bin
Malleable Iron Pipe Fittings

114 X178 |[ 318 X114 |\[ 172 X174 |[ 172 x 3/8 |[ 3/4 x 1/2 | 174 3/8 172
bushing bushing bushing bushing bushing tee tee tee
1510313 1510315 1510317 1510318 1510321 1510278 1510279 1510280

5 5 5 5 5 5 5 5
174 318 172 178 174 3/8 172
90° elbow || 90° elbow || 90° elbow || 90° street || 90° street || 90° street || 90° street
1510202 1510203 1510204 1510228 1510229 1510230 1510231
5 5 5 5 5 5 5
" 1/4Ax 118 |[ 3/8x 114 |[ 12x 114 |[ 172x3/8 |[ 3/4 x 112 | 174 3/8 172
reducer reducer reducer reducer reducer || 45° street || 45° street || 45° street
1510264 1510266 1510268 1510269 1510272 1510211 1510212 1510213
5 5 5 5 5 5 5 5
174 318 172 178 174 318 172 34
coupling coupling coupling plug plug plug plug plug
1510238 1510239 1510240 1510246 1510247 1510248 1510249 1510250
5 5 5 5 5 5 5 5
174 M4 x 1112 | 3/8 38 x 112 |[ 3/86x2 | 172 Mm2x2 |[ 12x3
nipple nipple nipple nipple nipple nipple nipple nipple
1510336 1510354 1510337 1510364 1510365 1510338 1510375 1510377
5 5 5 5 5 5 5 5
0930018 195 pieces




I

40 Compartment Bin
Carriage Bolts - Nuts - Flat Washers

1/4 5/16 3/8 1/2 1/4 5/16 3/8 1/2
nut nut nut nut flat washer||flat washer]||flat washer||flat washer
25 25 25 25 50 50 50 50
1/4 x 1 1/4 x 1-1/2 1/4 x 2 1/4 x 2-1/2 14 x 3 1/4 x 4 14 x5 14 x 6
bolt bolt bolt bolt bolt bolt bolt bolt
25 25 25 25 25 20 20 10
5/16 x 1 5116 x 1-1/2|]] 5/16 x2 ||5/16 x 2-1/2|]] 5/16 x 3 5/16 x 4 5116 x 5 5/16 x 6
bolt bolt bolt bolt bolt bolt bolt bolt
25 25 25 25 25 20 20 10
3/8 x 1 3/8 x 1-1/2 3/8 x 2 3/8 x 2-1/2 3/8x3 3/18 x4 3/8x5 3/8 x 6
bolt bolt bolt bolt bolt bolt bolt bolt
25 25 25 25 25 20 20 10
12 x 1-1/2 1/2 x 2 1/2 x 2-1/2 12x 3 1/2 x 3-1/2 12 x 4 12x5 12x6
bolt bolt bolt bolt bolt bolt bolt bolt
25 25 25 25 25 20 20 10

Grade 2 Carriage Bolts

0930042 900 Pieces




Alloy Socket Head Cap Screws
1/4, 5/16, 3/8, 1/2

(6/32 x 1/4 |[6/32 x 172 |[ 6732 x 374 [ 8732 x 1/4 |\[ 8732 x 172 |\[ 8732 x 3/4 |\[10724 x 172|[ 10724 x 34
Screw Screw Screw Screw Screw Screw Screw Screw
0510028 0510030 0510032 0510035 0510037 0510039 0510045 0510047
50 50 50 50 50 50 50 50
1024 x 1 174 x 12 174 X 314 174 x 1 174 x 1-174 [ 174x 1-172 \[ 5716 x 1/2 |[ 5716 x 3/4
sScrew Screw Screw Screw Screw Screw Screw Screw
0510049 0510055 0510057 0510059 0510060 0510061 0510069 0510071
50 50 50 50 25 25 25 25
— 5/16 x 1 1[5716 x 1-1/4}[5716 x 1-1/2)[ 5716 x 2 |[5716 x 2-1/2)[ 5/16 x 3 38 X 112 3/8 X 314
SCcrew Screw Screw Screw Screw Screw Screw sScrew
0510073 0510074 0510075 0510077 0510079 0510081 0510084 0510086
25 25 25 10 10 10 25 25
38 X 1 38 x 1-1/4|\[3/8 x 1-12 |[ 378 x 1-3/4 38 X 2 38 X 2-1/2 38 X 3 172 x 314
Screw SCrew SCcrew SCcrew Sscrew SCcrew sScrew SCcrew
0510088 0510089 0510090 0510091 0510092 0510094 0510096 0510120
25 25 25 10 10 10 10 25
12 x 1 \[12x 11412 x 11212 x 1-3/4|[ 12x 2 |[12x 2-12|[ 12x 3 |
Screw Screw Screw Screw Screw Screw Screw
0510122 0510123 0510124 0510125 0510126 0510128 0510130
25 25 25 10 10 10 10

0930051 1,060 pieces



40 Compartment Bin
Cap Screws - Nuts - Flat Washers - Lock Washers

1/4 1/4 1/4 1/4 x 1/2 1/4 x 3/4 1/4 x 1 1/4 x 1-1/2 1/4 x 2
hex nut ||flat washer||lockwasher|| cap screw || cap screw || cap screw || cap screw || cap screw
50 50 50 25 25 25 25 25
5/16 5/16 5/16 5/16 x 3/4 516 x1 [|5/16 x1-1/2|]] 5/16 x 2 |[|5/16 x 2-1/2
hex nut ||flat washer||lockwasher]| cap screw || cap screw || cap screw || cap screw || cap screw
50 50 50 25 25 25 25 25
3/8 3/8 3/8 3/8 x 3/4 3/8 x1 3/8 x1-1/2 3/8 x2 3/8 x 2-1/2
hex nut ||flat washer||lockwasher]|| cap screw || cap screw || cap screw || cap screw || cap screw
50 50 50 25 25 25 25 25
1/2 1/2 1/2 1/2 x 1 1/2 x 1-1/2 1/2 x 2 1/2 x 2-1/2 1/2x 3
hex nut ||flat washer||lockwasher|| cap screw || cap screw || cap screw || cap screw || cap screw
25 25 50 10 10 10 5 5
18-8 Stainless Steel 0930067 965 Pieces
316 Stainless Steel 1930315 965 Pieces




Cap Screw - Nuts - Flat Washers - Lockwasher

40 Compartment Bin

M6 x 12mm| M6 x 16mm||M6 x 20mm|| M6 x25mm ||M6 x 30mm 6mm 6mm 6mm
cap screw || cap screw || cap screw || cap screw || cap screw hex nut ||flat washer||lockwasher
50 50 50 50 50 100 100 100

M8 x 16mm||M8 x 20mm||{M8 x 25mm||M8 x 30mm||M8 x 40mm 8mm 8mm 8mm
cap screw || cap screw || cap screw || cap screw || cap screw hex nut ||flat washer||lockwasher
25 25 25 25 25 50 50 50

M10 x 20 M10 x 25 M10 x 30 M10 x 40 M10 x 50 10mm 10mm 10mm
cap screw || cap screw || cap screw || cap screw || cap screw hex nut ||flat washer||lockwasher
25 25 25 25 25 50 50 50
M12 x 25 M12 x 30 M12 x 35 M12 x 40 M12 x 50 12mm 12mm 12mm
cap screw || cap screw || cap screw || cap screw || cap screw hex nut ||flat washer||llockwasher
10 10 10 10 10 25 25 25
M16 x 30 M16 x 40 M16 x 50 M16 x 60 M16 x 70 16mm 16mm 16mm
cap screw || cap screw || cap screw || cap screw || cap screw hex nut || flatwasher |[lockwasher
5 5 5 5 5 10 10 10
Grade 8.8 Metric Strarter 0930069 1345 Pieces
Grade 10.9 Metric Strarter 0930072 1345 Pieces



80 Compartment Bin
Cap Screws - Nuts - Flat Washers - Lock Washers

M6 M8 M10 M12 M16 M20
hex nut hex nut hex nut hex nut hex nut hex nut
100 100 50 50 25 25
M6 M8 M10 M12 M16 M20
flat washerl||flat washer||flat washer||flat washer||flat washer||flat washer
100 100 50 50 25 25
M6 M8 M10 M12 M16 M20
lockwasher]|lockwasher]|lockwasher]|lockwasher]|lockwasher]|lockwasher
100 100 50 50 25 25
M6 x 16 M6 x 20 M6 x 25 M6 x 30 M6 x35 M6 x 40 M6 x 45 M6 x 50
cap screw || cap screw|| cap screw || cap screw || cap screw || cap screw || cap screw || cap screw
25 25 25 25 25 25 25 25
M8 x 16 M8 x 20 M8 x 25 M8 x 30 M8 x35 M8 x 40 M8 x 45 M8 x50
cap screw || cap screw || cap screw || cap screw || cap screw || cap screw || cap screw || cap screw
25 25 25 25 25 25 25 25
M10 x 20 M10 x 25 M10 x 30 M10 x 35 M10 x 40 M10 x 45 M10 x 50 M10 x 60
cap screw || cap screw || cap screw || cap screw || cap screw || cap screw || cap screw || cap screw
25 25 25 25 25 10 10 10
M12 x 20 M12 x 25 M12 x 30 M12 x 35 M12 x 40 M12 x 45 M12 x 50 M12 x 60
cap screw || cap screw || cap screw || cap screw || cap screw || cap screw || cap screw || cap screw
10 10 10 10 10 10 10 10
M16 x 35 M16 x 40 M16 x 45 M16 x 50 M16 x 60 || M16 x 70 M16 x 80
cap screw || cap screw || cap screw || cap screw || cap screw ||cap screw ||cap screw
5 5 5 5 5 5 5
M20 x 40 M20 x 50 M20 x 60 M20 x 70 M20 x 80 M20 x100
cap screw || cap screw ||cap screw ||cap screw ||cap screw ||cap screw
5 5 5 5 5 5
Grade 8.8 Metric 0930070 1750 Pieces
Grade 10.9 Metric 0930071 1750 Pieces



Cap Screw - Nuts - Flat Washers - Lockwasher

40 Compartment Bin

M6 x 12mm| M6 x 16mm||M6 x 20mm|| M6 x25mm ||M6 x 30mm 6mm 6mm 6mm
cap screw || cap screw || cap screw || cap screw || cap screw hex nut ||flat washer||lockwasher
50 50 50 50 50 100 100 100

M8 x 16mm||M8 x 20mm||{M8 x 25mm||M8 x 30mm||M8 x 40mm 8mm 8mm 8mm
cap screw || cap screw || cap screw || cap screw || cap screw hex nut ||flat washer||lockwasher
25 25 25 25 25 50 50 50

M10 x 20 M10 x 25 M10 x 30 M10 x 40 M10 x 50 10mm 10mm 10mm
cap screw || cap screw || cap screw || cap screw || cap screw hex nut ||flat washer||lockwasher
25 25 25 25 25 50 50 50
M12 x 25 M12 x 30 M12 x 35 M12 x 40 M12 x 50 12mm 12mm 12mm
cap screw || cap screw || cap screw || cap screw || cap screw hex nut ||flat washer||llockwasher
10 10 10 10 10 25 25 25
M16 x 30 M16 x 40 M16 x 50 M16 x 60 M16 x 70 16mm 16mm 16mm
cap screw || cap screw || cap screw || cap screw || cap screw hex nut || flatwasher |[lockwasher
5 5 5 5 5 10 10 10
Grade 8.8 Metric Strarter 0930069 1345 Pieces
Grade 10.9 Metric Strarter 930072 1345 Pieces



40 Compartment Bin
Cap Screws - Nuts - Flat Washers - Lock Washers

1/4 1/4 1/4 1/4 x 1/2 1/4 x 3/4 1/4 x 1 1/4 x 1-1/2 1/4 x 2
hex nut ||flat washer||lockwasher|| cap screw || cap screw || cap screw || cap screw || cap screw
100 250 250 50 50 50 50 25
5/16 5/16 5/16 5/16 x 3/4 516 x1 |[|5/16 x 1-1/2|]] 5/16 x 2 ||5/16 x 2-1/2
hex nut ||flat washer||lockwasher]| cap screw || cap screw || cap screw || cap screw || cap screw
100 250 250 50 50 50 25 25
3/8 3/8 3/8 3/8 x 3/4 3/8 x1 3/8 x1-1/2 3/8 x2 3/8 x 2-1/2
hex nut ||flat washer||lockwasher]|| cap screw || cap screw || cap screw || cap screw || cap screw
100 125 125 25 25 25 25 25
7116 7116 7116 7M6x1 ||7/16 x1-1/2]] 716 x2 ||7/16 x 2-1/2]] 7/16 x 3
hex nut ||flat washer||lockwasher|| cap screw || cap screw || cap screw || cap screw || cap screw
25 50 100 25 25 20 20 10
1/2 1/2 1/2 1/2 x 1 1/2 x 1-1/2 1/2 x 2 1/2 x 2-1/2 1/2x 3
hex nut ||flat washer||lockwasher|| cap screw || cap screw || cap screw || cap screw || cap screw
50 50 50 20 20 10 10 5
USS Grade 8 0930101 2,590 Pieces USS Grade 5 0930106 2,590 Pieces
SAE Grade 8 0930102 2,590 Pieces SAE Grade 5 0930107 2,590 Pieces




80 Compartment Bin
Grade 5

USS CapScrews-Nuts-Washers

0930108

1/4 1/4 1/4 5/16 5/16 5/16 3/8 3/8
hex nut ||flat washer||lockwasher]] hex nut ||flat washer||lockwasher]] hex nut ||flat washer
1/4 x 1/2 1/4 x 3/4 1/4 x 1 14 x1-1/4 || 1/4 x 1-1/2 1/4 x 2 1/4 x 2-1/2 3/8
cap screw || cap screw || cap screw || cap screw || cap screw || cap screw || cap screw ||lockwasher
5/16 x 1/2 || 5/16 x 3/4 516 x1 ||5/16 x 1-1/4]|5/16 x 1-1/2]] 5/16 x 2 ||5/16 x 2-1/2 7/16
cap screw || cap screw || cap screw || cap screw || cap screw || cap screw || cap screw || hex nut
3/8 x 3/4 3/8x1 3/18 x1-1/4 || 3/8 x 1-1/2 3/8x2 3/8 x 2-1/2 3/8x3 7116
cap screw || cap screw || cap screw || cap screw || cap screw || cap screw || cap screw ||flat washer
7M6x1 |[|[7/16 x1-1/2]] 7116 x2 ||7/16 x 2-1/2]] 7/16 x3 7116 x 4 7/16
cap screw || cap screw || cap screw || cap screw ||cap screw || cap screw lockwasher
1/2 1/2 1/2 5/8 5/8 5/8 3/4 3/4
hex nut ||flat washer||lockwasher]] hex nut ||flat washer|llockwasher]] hex nut ||flat washer
12 x 1 1/2 x 1-1/2 1/2x 2 1/2 x 2-1/2 1/2x 3 1/2 x 3-1/2 12 x 4 3/4
cap screw || cap screw || cap screw || cap screw || cap screw || cap screw || cap screw ||lockwasher
5/8 x 1-1/2 5/8 x 2 5/8 x 2-1/2 5/8 x 3 5/8 x 3-1/2 5/8 x 4 7/8 7/8
cap screw || cap screw || cap screw || cap screw || cap screw || cap screw hex nut ||lockwasher
3/l4x2 3/4 x 2-1/2 3/4x3 3/4 x 3-1/2 3l4x 4 7/8 1
cap screw || cap screw || cap screw || cap screw || cap screw flat washer||lockwasher
7/18 x 2 7/18x 3 718 x 4 1x2 1x3 1x4 1 1
cap screw || cap screw || cap screw || cap screw || cap screw || cap screw ||flat washer|] hex nut




80 Compartment Bin
Grade 5

SAE CapScrews-Nuts-Washers

0930109

1/4 1/4 1/4 5/16 5/16 5/16 3/8 3/8
hex nut ||flat washer||lockwasher]] hex nut ||flat washer||lockwasher]] hex nut ||flat washer
1/4 x 1/2 1/4 x 3/4 1/4 x 1 14 x1-1/4 || 1/4 x 1-1/2 1/4 x 2 1/4 x 2-1/2 3/8
cap screw || cap screw || cap screw || cap screw || cap screw || cap screw || cap screw ||lockwasher
5/16 x 1/2 || 5/16 x 3/4 516 x1 ||5/16 x 1-1/4]|5/16 x 1-1/2]] 5/16 x 2 ||5/16 x 2-1/2 7/16
cap screw || cap screw || cap screw || cap screw || cap screw || cap screw || cap screw || hex nut
3/8 x 3/4 3/8x1 3/18 x1-1/4 || 3/8 x 1-1/2 3/8x2 3/8 x 2-1/2 3/8x3 7116
cap screw || cap screw || cap screw || cap screw || cap screw || cap screw || cap screw ||flat washer
7M6x1 |[|[7/16 x1-1/2]] 7116 x2 ||7/16 x 2-1/2]] 7/16 x3 7116 x 4 7/16
cap screw || cap screw || cap screw || cap screw ||cap screw || cap screw lockwasher
1/2 1/2 1/2 5/8 5/8 5/8 3/4 3/4
hex nut ||flat washer||lockwasher]] hex nut ||flat washer|llockwasher]] hex nut ||flat washer
12 x 1 1/2 x 1-1/2 1/2x 2 1/2 x 2-1/2 1/2x 3 1/2 x 3-1/2 12 x 4 3/4
cap screw || cap screw || cap screw || cap screw || cap screw || cap screw || cap screw ||lockwasher
5/8 x 1-1/2 5/8 x 2 5/8 x 2-1/2 5/8 x 3 5/8 x 3-1/2 5/8 x 4 7/8 7/8
cap screw || cap screw || cap screw || cap screw || cap screw || cap screw hex nut ||lockwasher
3/l4x2 3/4 x 2-1/2 3/4x3 3/4 x 3-1/2 3l4x 4 7/8 1
cap screw || cap screw || cap screw || cap screw || cap screw flat washer||lockwasher
7/18 x 2 7/18x 3 718 x 4 1x2 1x3 1x4 1 1
cap screw || cap screw || cap screw || cap screw || cap screw || cap screw ||flat washer|] hex nut




80 Compartment Bin
Grade 8

USS CapScrews-Nuts-Washers

0930110

1/4 1/4 1/4 5/16 5/16 5/16 3/8 3/8
hex nut ||flat washer||lockwasher]] hex nut ||flat washer||lockwasher]] hex nut ||flat washer
1/4 x 1/2 1/4 x 3/4 1/4 x 1 14 x1-1/4 || 1/4 x 1-1/2 1/4 x 2 1/4 x 2-1/2 3/8
cap screw || cap screw || cap screw || cap screw || cap screw || cap screw || cap screw ||lockwasher
5/16 x 1/2 || 5/16 x 3/4 516 x1 ||5/16 x 1-1/4]|5/16 x 1-1/2]] 5/16 x 2 ||5/16 x 2-1/2 7/16
cap screw || cap screw || cap screw || cap screw || cap screw || cap screw || cap screw || hex nut
3/8 x 3/4 3/8x1 3/18 x1-1/4 || 3/8 x 1-1/2 3/8x2 3/8 x 2-1/2 3/8x3 7116
cap screw || cap screw || cap screw || cap screw || cap screw || cap screw || cap screw ||flat washer
7M6x1 |[|[7/16 x1-1/2]] 7116 x2 ||7/16 x 2-1/2]] 7/16 x3 7116 x 4 7/16
cap screw || cap screw || cap screw || cap screw ||cap screw || cap screw lockwasher
1/2 1/2 1/2 5/8 5/8 5/8 3/4 3/4
hex nut ||flat washer||lockwasher]] hex nut ||flat washer|llockwasher]] hex nut ||flat washer
12 x 1 1/2 x 1-1/2 1/2x 2 1/2 x 2-1/2 1/2x 3 1/2 x 3-1/2 12 x 4 3/4
cap screw || cap screw || cap screw || cap screw || cap screw || cap screw || cap screw ||lockwasher
5/8 x 1-1/2 5/8 x 2 5/8 x 2-1/2 5/8 x 3 5/8 x 3-1/2 5/8 x 4 7/8 7/8
cap screw || cap screw || cap screw || cap screw || cap screw || cap screw hex nut ||lockwasher
3/l4x2 3/4 x 2-1/2 3/4x3 3/4 x 3-1/2 3l4x 4 7/8 1
cap screw || cap screw || cap screw || cap screw || cap screw flat washer||lockwasher
7/18 x 2 7/18x 3 718 x 4 1x2 1x3 1x4 1 1
cap screw || cap screw || cap screw || cap screw || cap screw || cap screw ||flat washer|] hex nut




80 Compartment Bin
Grade 8

SAE CapScrews-Nuts-Washers

0930111

1/4 1/4 1/4 5/16 5/16 5/16 3/8 3/8
hex nut ||flat washer||lockwasher]] hex nut ||flat washer||lockwasher]] hex nut ||flat washer
1/4 x 1/2 1/4 x 3/4 1/4 x 1 14 x1-1/4 || 1/4 x 1-1/2 1/4 x 2 1/4 x 2-1/2 3/8
cap screw || cap screw || cap screw || cap screw || cap screw || cap screw || cap screw ||lockwasher
5/16 x 1/2 || 5/16 x 3/4 516 x 1 |[|5/16 x 1-1/4]|5/16 x 1-1/2]] 5/16 x 2 ||5/16 x 2-1/2 7/16
cap screw || cap screw || cap screw || cap screw || cap screw || cap screw || cap screw || hex nut
3/8 x 3/4 3/8x1 3/18 x1-1/4 ] 3/8 x 1-1/2 3/8x2 3/8 x 2-1/2 3/8x3 7116
cap screw || cap screw || cap screw || cap screw || cap screw || cap screw || cap screw ||flat washer
7M6x1 |[7/16 x1-1/2}] 7116 x2 |[|7/16 x 2-1/2]] 7/16 x3 7116 x 4 7/16
cap screw || cap screw || cap screw || cap screw ||cap screw || cap screw lockwasher
1/2 1/2 1/2 5/8 5/8 5/8 3/4 3/4
hex nut ||flat washer||lockwasher]] hex nut |[|flat washer|llockwasher]] hex nut ||flat washer
12 x 1 1/2 x 1-1/2 1/2x 2 1/2 x 2-1/2 1/2x 3 1/2 x 3-1/2 12 x 4 3/4
cap screw || cap screw || cap screw || cap screw || cap screw || cap screw || cap screw ||lockwasher
5/8 x 1-1/2 5/8 x 2 5/8 x 2-1/2 5/8 x 3 5/8 x 3-1/2 5/8 x 4 7/8 7/8
cap screw || cap screw || cap screw || cap screw || cap screw || cap screw hex nut ||lockwasher
3/l4x2 3/4 x 2-1/2 3/4x3 3/4 x 3-1/2 3l4x 4 7/8 1
cap screw || cap screw || cap screw || cap screw || cap screw flat washer||lockwasher
7/18 x 2 718 x 3 718 x 4 1x2 1x3 1x4 1 1
cap screw || cap screw || cap screw || cap screw || cap screw || cap screw ||flat washer]] hex nut




80 Compartment Bin
Grade 5

USS CapScrews-Nuts-Washers

0930112

1/4 1/4 1/4 5/16 5/16 5/16 3/8 3/8
hex nut flat washer||lockwasher]] hex nut ||flat washer|llockwasher]] hex nut ||flat washer
1/4 x 1/2 1/4 x 3/4 1/4 x 1 174 x1-1/4 || 1/4 x 1-1/2 1/4 x 2 1/4 x 2-1/2 3/8
cap screw || cap screw || cap screw || cap screw || cap screw || cap screw || cap screw ||lockwasher
5/16 x 1/2 || 5/16 x 3/4 516 x1 ||5/16 x 1-1/4}|5/16 x 1-1/2]] 5/16 x 2 ||5/16 x 2-1/2
cap screw || cap screw || cap screw || cap screw || cap screw || cap screw || cap screw
3/8 x 3/4 3/8 x 1 3/8x1-1/4 || 3/8 x 1-1/2 3/8 x 2 3/8 x 2-1/2 3/8x3
cap screw || cap screw || cap screw || cap screw || cap screw || cap screw || cap screw
1/2 1/2 1/2 5/8 5/8 5/8 3/4 3/4
hex nut ||flat washer]llockwasher]l hex nut |[|flat washer]llockwasher]] hex nut ||flat washer
12 x 1 1/2 x 1-1/2 1/2 x 2 1/2 x 2-1/2 12x 3 1/2 x 3-1/2 12 x 4 3/4
cap screw || cap screw || cap screw || cap screw || cap screw || cap screw || cap screw ||lockwasher
5/18 x 1-1/2 5/18 x 2 5/8 x 2-1/2 5/8 x 3 5/8 x 3-1/2 5/18 x 4
cap screw || cap screw || cap screw || cap screw || cap screw || cap screw
3/4x2 3/4 x2-1/2 3/4x 3 3/4 x 3-1/2 3l4x 4
cap screw || cap screw || cap screw || cap screw || cap screw




40 Compartment Bin 0930239
Fleet Hose and Fitting Assortment
DOT Approved Medium Pressure
for fuel, oil, water, power steering and transmission lines
3[16 x 178 |[ 316 x 174 |[ 316 x 1/4 |[ 3/16 x 1/4 3/8 38 x 174
inv sael jic nut air brake
m pipe m pipe m swivel f swivel m conn
0230100 0230101 023 0230205 0061506 0061264
14 x 1/4 114 x 5116 |[ 174 x 5/16 3/8 38 x 3/8
inv sae / jic sleeve air brake
m pipe m swivel f swivel m conn
0230103 0230206 0230131 0061206 0061266
5/16 x 1/4 |[ 5/16 x 378 |[ 5/16 x 3/8 |[ 5/16 x 3/8 | 3/8 38 x 112 |
inv jic spring air brake
m pipe m pipe m swivel f swivel guard m conn
0230104 0230112 0230208 0230133 0061360 0061268
13132 x 38 |[13132 x 112] (13732 x 112 38
sae / jic mender
m pipe m pipe f swivel union
0230105 0230106 0230134 0061306
M2 x 112 | 112 x 5/8 T2 x 112 |[ 1712 x 5/8
sae / jic air brake air brake
m pipe f swivel conn conn
0230107 0230135 0230202 0230203

0930239 Field Attachable Medium Pressure Hose Ends



40 Compartment Bin 0930241

Fleet Hose and Fitting Assortment
DOT Approved High Pressure

1/4 x 1/8 14 x 1/4 1/4 x 3/8 3/8 x 3/8 3/8 x 1/2 1/2 x 1/2 3/4 x 3/4 1x1
m pipe m pipe m pipe m pipe m pipe m pipe m pipe m pipe
0239001 0239002 0239302 0239004 0239005 0239007 0239008 0239009
14 x 1/4 3/8 x 3/8 1/2 x1/2 1/2 x 5/8 3/4 x 3/4 1x1
SAE 37 JIC SAE 37 JIC SAE 37 JIC SAE 37 JIC SAE 37 JIC SAE 37 JIC
m pipe m pipe m pipe m pipe m pipe m pipe
0239010 0239013 0239015 0239016 0239017 0239018
1/4 x 1/4 1/4 x 5/16 3/8 x 3/8 12 x1/2 1/2 x 5/8 3/4 x 3/4 1x1
SAE 37 JIC SAE 37 JIC SAE 37 JIC SAE 37 JIC SAE 37 JIC SAE 37 JIC SAE 37 JIC
fem swivel fem swivel fem swivel fem swivel fem swivel fem swivel fem swivel
0239020 0239021 0239024 0239028 0239029 0239031 0239034
1/4 x 1/4 1/4 x 1/4 3/8 x 3/8 3/8 x 3/8 3/8 x 3/8 12 x1/2 3/4 x 3/4 3/4 x 3/4
inverted SAE 37 JIC SAE 45 inverted SAE 37 JIC SAE 37 JIC SAE 37 JIC SAE 45
m pipe swivel|lfem swivel 90|] fem swivel ||m pipe swivellfem swivel 90| [fem swivel 90| [fem swivel 90]| fem swivel
0239080 0239040 0239025 0239082 0239043 0239044 0239045 0239032
1/4 x 1/4 3/8 x 3/8 1/2 x 1/2 3/4 x 3/4
Im pipe swivel Im pipe swivel||m pipe swivel Im pipe swivel
0239120 0239121 0239122 0239123

0930241 Crimp High Pressure Hose Ends




40 Compartment Bin 0930243
1/4" to 5/8" For-seal Collo-Crimp Fittings
High Pressure
14 x 1/4 14 x 1/4 1/4 x 3/8 14 x 1/4 1/4 x 3/8 14 x 1/4 1/4 x 3/8
male rigid female female 45° female 45° female 90° female 90° female
swivel swivel swivel swivel swivel swivel
0239404 0239444 0239446 0239744 0239745 0239644 0239646
3/8 x 3/8 3/8 x 3/8 3/8 x 1/2 3/8 x 3/8 3/8 x 1/2 3/8 x 1/4 3/8 x 3/8
male rigid female female 45° female 45° female 90° female 90° female
swivel swivel swivel swivel swivel swivel
0239406 0239466 0239468 0239766 0239768 0239664 0239666
12 x 1/2 12 x 1/2 1/2 x 5/8 12 x 1/2 12 x 1/2
male rigid female female 45° female 90° female
swivel swivel swivel swivel
0239408 0239488 0239480 0239788 0239688
5/8 x 5/8 5/8 x 5/8 5/8 x 5/8
female 45° female 90° female
swivel swivel swivel
0239400 0239700 0239600

0930243 For-seal Crimp High Pressure Hose Ends




40 Compartment Bin 0930244
1/4" to 5/8" For-seal Collo-Crimp Fittings
High Pressure
14 x 1/4 14 x 1/4 1/4 x 3/8 14 x 1/4 1/4 x 3/8 14 x 1/4 1/4 x 3/8
male rigid female female 45° female 45° female 90° female 90° female
swivel swivel swivel swivel swivel swivel
0239404 0239444 0239446 0239744 0239746 0239644 0239646
3/8 x 3/8 3/8 x 3/8 3/8 x 1/2 3/8 x 3/8 3/8 x 1/2 3/8 x 1/4 3/8 x 3/8
male rigid female female 45° female 45° female 90° female 90° female
swivel swivel swivel swivel swivel swivel
0239406 0239466 0239468 0239766 0239768 0239664 0239666
12 x 1/2 12 x 1/2 1/2 x 5/8 12 x 1/2 12 x 1/2
male rigid female female 45° female 90° female
swivel swivel swivel swivel
0239408 0239488 0239480 0239788 0239688
5/8 x 5/8 5/8 x 5/8 5/8 x 5/8
female 45° female 90° female
swivel swivel swivel
0239400 0239700 0239600

0930244 For-seal Crimp High Pressure Hose Ends

"(" —

g, =




40 Compartment Bin

Cap Screw - Nuts - Flat Washers - Lockwasher

M8 x 20 M8 x 30 M8 x 35 M8 x 40 M8 x 50 M8 x 1.00 M8 M8
cap screw || cap screw || cap screw || cap screw || cap screw hex nut ||flat washer||lockwasher
25 25 25 25 25 50 50 50
M10 x 20 M10 x 30 M10 x 35 M10 x 40 M10 x 50 ||M10 x 1.00 10M 10M
cap screw || cap screw || cap screw || cap screw || cap screw hex nut ||flat washer||lockwasher
10 10 10 10 10 10 50 50
M10 x 20 M10 x 30 M10 x 35 M10 x 40 M10 x 50 ||M10 x 1.25 M10 M10
cap screw || cap screw || cap screw || cap screw || cap screw hex nut ||flat washer||lockwasher
25 25 25 25 10 50 50 50
M12 x 20 M12 x 30 M12 x 35 M12 x 40 M12 x 50 ||M12 x 1.25 M12 M12
cap screw || cap screw || cap screw || cap screw || cap screw hex nut ||flat washer||lockwasher
10 5 5 5 5 10 20 20
M12 x 20 M12 x 30 M12 x 35 M12 x 40 M12 x 50 ||M12 x 1.50 M12 M12
cap screw || cap screw || cap screw || cap screw || cap screw nut flatwasher |[lockwasher
10 10 10 10 10 20 20 20

Grade 8.8 Fine Thread Metric Starter

0930270 875 Pieces



	Back To Main Menu
	Anchors
	Bolts
	Brass and Hydr Fittings
	Electrical
	Hose Clamp
	Machine Screws
	Masonite Screws
	Misc
	Misc Fasteners
	Nuts
	Racks & Bins
	Self Drilling Screws
	Set Screws
	Sheet Metal Screws
	Starter
	  Fastener
	  Fittings

	Tamperproof Screws
	Washers
	Welding Rod
	Wire
	Wood Screws



